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Black to move

White is slightly better

Black is slightly better

White is better

Black is better

White has a decisive advantage
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Preface

It was a pleasure to have Artur Yusupov working as my second, both personally and professionally.
It is therefore an honour for me to write the preface to the new manual Build Up Your Chess
with Artur Yusupov.

This new book was created by expanding and improving the original online lessons from the
Chess Tigers University. As an honorary member of the Chess Tigers, it has given me great
pleasure to see this logical follow-up take concrete form and meet the twin challenges of being
both a valuable textbook and a bedside book.

It was in 1994 that I met Artur Yusupov in the semi-finals of the Candidates” cycle in Wijk
aan Zee. | managed to come out ahead by 4.5-2.5, but I recognized that Artur harboured great
potential, both in his chess knowledge and extensive match experience.

Artur’s systematic and professional approach to analysing games was the decisive factor in
having him as my second in the World Championship Finals in New York 1995 and Lausanne
1998. His mastery of the methods of the Russian chess school was very helpful in the preparation
for the matches, as well as during the matches themselves. It was his idea that I should play the
Trompovsky in the last game in Lausanne. I was 3-2 down, but was able to level the match at
3-3 and thus force a play-off.

I am still very grateful for everything that Artur did for me.

Artur’s vast experience as a trainer convinced him that there is a considerable need for better
tuition for amateurs. Matching the level to the needs of the student is perhaps not too difficult,
but the masterstroke is structuring the information in such a way that makes it immediately
useful for amateurs. I am naturally enthusiastic about the rich variety of material in this series,
which can help beginners become top amateurs.

I wish Artur Yusupov all the best with the publication of the first book in the series Build Up
Your Chess with Artur Yusupov. Making this work available in English means that even more
people who are keen to learn can enjoy it to the full.

World Champion, Viswanathan Anand




Introduction

During my many years of work as a chess trainer, I have noticed that there are only a few books
which are really suitable for most amateur players. Some good books treat individual aspects of
the game (middlegame or endgame, tactics or positional play) without paying any real heed to
the reader’s playing level. This brought about the idea of working out a teaching programme
aimed specifically at a certain playing strength. Such teaching programmes, in a brief form
and intended as systematic help for trainers, arc common only in Russia, where they are very
popular. One very well known and much valued example is a publication by Golenischev,
which inspired some aspects of my methodology.

In 2003 I began a 3-year training programme in my chess academy. Three groups were set
up according to playing strength: under Elo 1500, under Elo 1800 and under Elo 2100. Each
annual stage consisted of 24 teaching modules and 24 tests, plus a final test at the end of the
course.

This programme was later taken over, in a different form, by the Chess Tigers University and
is still being used there.

The overwhelmingly positive comments of my students encouraged me to rework this
programme in the form of a series of books. In doing so, I was able to make use of many
evaluations, corrections and suggestions from my students. While I was redrafting, especially
the explanations in the solutions, that feedback from my students was very valuable.

This book is the first volume in a series of manuals designed for players who are building the
foundations of their chess knowledge. The reader will receive the necessary basic knowledge in

six areas of the game — tactics, positional play, strategy, the calculation of variations, the
opening and the endgame.

The reader will benefit from the methodical build-up in this book, even if some of the
material is familiar, as it will close any possible gaps in his chess knowledge and thus construct
solid foundations for future success. To make the book entertaining and varied, I have mixed
up these different areas, but you can always see from the header to which area any particular
chapter belongs.

At this point I must emphasize that just working with this book does not guarantee a rise in
your rating. It simply gives you a solid basis for a leap forward in chess ability. You should also
play in tournaments, analyse your own games, play through well-annotated games of stronger
players and read books on chess (I have included some suggestions at the end of this book).

I have also been concerned with another problem area since I moved to Germany: the role
of trainers in chess education. In Germany there are unfortunately too few qualified trainers.
There is also a widespread opinion that a talented chess player does not need a trainer. I do not
share that opinion. I believe that many talented chess players could develop much further, if
they had support at the correct time and if they had not left gaps in their learning.

Chess is a complicated sport, which has to be studied for many years. It is hard to imagine
any other sport without coaches. (Is there a single athletics club or football club that does not
have a trainer?) This manual is intended for the many club players who unfortunately receive no
support in attempting to master our complicated sport. In this way it is intended as a substitute
for a trainer for those that have none (and a support for trainers), but not an equal replacement
for a trainer.

I further believe that many chess lovers, who show great commitment to working with young
players in chess clubs, will gain with this series of books (as well as with the programme of the



Chess Tigers University) important methodological support and high quality training material
for their chess lessons. The students will certainly profit from the supplementary explanations
given by trainers and from lively discussions about the themes in the books.

How to work with this book

First read through the lessons. You absolutely must play through all the examples and all the
variations on a chessboard.

First think about every diagram position (for at least 5 minutes) and try to find the solutions
on your own. On average, you will need 1 to 2 hours per lesson. However, there is no time
limit; some stcudents may need more time for specific lessons.

It is important to have a good understanding of the subject.

The second part of the lesson is a test with 12 positions. The stars near the number of each
exercise indicate the level of difficulty and, at the same time, the maximum number of points
which you can earn for the correct solution with all necessary variations (% =1 point). Try to
solve the positions without moving the pieces! If you cannot solve the position straight away,
you must try for a second time for approximately 10 minutes. This time you may move the
pieces. You must look for new ideas.

On absolutely no account may you get help from a computer!

Normally you will also need 1 to 2 hours for each test. Try to solve all the exercises. Consider
each position as though it were appearing in one of your own games and look for the best
possible continuation. You do not always have to mate or win quickly. It is sometimes enough
to suggest a good move. Especially in the lessons on the opening, it is more important for you
to reflect on the position, take a decision and then carefully play through the solutions. This will
help you better understand the ideas of the opening. Mistakes are part of the learning process!

It is very important to write down all the necessary variations. If you do this you will be
able to compare your solution with the one given in the book and you can also see how well
you have understood the particular subject. If your score is too low, we recommend that you
work through the chapter again. We also recommend that you play through the solutions,
including all the variations, on a chessboard.

You will find an explanation of the standard chess symbols used in this book on page 4.

At this point I should like to express my gratitude to a large number of people who have
supported my work in various ways. There is firstly my wife Nadja for the design of the German
edition book and her help in working through the solutions, my daughter Katja for many
corrections to my German, my chess trainer Mark Dvoretsky, from whose training methods
I have learned so much, the Chess Tigers and Hans-Walter Schmitt for their constructive and
productive cooperation, Mike Rosa for correcting some mistakes, Reinhold from Schwerin for
his proofreading, and finally to Semen Oxman and Oleg Aizman, who gave valuable advice
concerning the design of the book.

[ would also like to thank Augusto Caruso for his elaboration of Nadja’s design for the English
edition and Ian Adams for translating the book.

GM Artur Yusupov
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The windmill

The windmill is one of the most beautiful
combinations in chess. Kotov provided the definition
of a windmill as ‘a forcing series of attacks with
discovered check.

The following famous game made this type of

combination so well-known.

Diagram 1-1

Moscow 1925

The white bishop is pinned and attacked. However,
White’s surprising reply turns the tables.
1.4f6!!

White sacrifices his strongest piece in order to set
up a windmill.
1..¥xh5 2.Bxg7t

Now the white bishop and rook display unbelievable
coordination.
2...52h8 3.8xf7t

White sets the windmill in motion. The rook first
eliminates almost all of the black pieces on the seventh
rank. The only way for Black to meet the discovered
checks is with king moves.

It would be bad to play 3.Hg5t ®h7 4.Exh5?
(White could still go back with 4.Eg77 and continue
as in the game) 4...80g6 5.8b5 &c6 and Black wins a
piece.
3...50g8 4.8g7+ 8 5.8xb7t

It is important that the white bishop is not under
attack. Otherwise it could not participate in the
windmill without being in danger.
5..%¢8 6.2g7t £h8 7.Bg5+

With another discovered check White wins back
his queen. White could also have first taken the pawn
on a7, but he did not want to unnecessarily open the
a-file for the opposing rook.
7...2h7 8.8xh5 g6

This double attack wins the piece back, but White
will have a good three pawns more!
9.8h3 &xf6 10.2xh6t
1-0



The windmill

The attacking side exploited the power of a rook-
bishop battery. It is very important to learn how to
coordinate these different pieces. They complement
each other very well. We have already seen some
similar examples of this in Chapters 2 and 7 of Build
Up Your Chess 1.

The windmill and other similar attacking set-ups
are very dangerous and often lead not ‘only’ to a gain
of material, but also directly to mate.

Diagram 1-2

Variation from the game

g

Smyslov — M.Euwe
Ziirich Candidates 1953

1.8xe5!
A deflecting sacrifice. Another good move is
1.Wc5+—,
1...Bxe5 2.¥xes5! Wxe5 3.8xc61 b8 4.2b7+ a8
A typical windmill, which even leads to mate in
this case.

5.2b5#

Diagram 1-3

London 1869

Here is another example which confirms how strong
the rook-bishop batrery is.
1...%¥h4!

A spectacular move. The threat is 2..Bxg2t and
then ...¥f27, as well as the simple 2...22xf3.
2.8 xh4 &xe3!

The threat is 3..Efl# White is left with no
satisfactory defence.
3.9g6%

Other moves are no better:

a) 3.h3 Bf1T 4.%h2 &¢1t 5.50h1 Hig3#.

b) 3.g3 He2t 4.%0h1 Exelt 5.kg2 Hglt 6.%h3
YL

¢) 3.013 B2xf3+—+.
3...hxg6 4.g3 He2t 5.2h1 Exelt

Black has a forced mate.
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Tactics 1

6.2g2 Bglt 7.%h3 D2t 8.%h4 Bf4! 9.gxf4
Or 9.%g5 Hgd#.
9..Bgh#

Bad Pistyan 1912

1.8d4!

White begins a forcing actack.
1...2xf3t 2.¥xf3 5 3.h6! We7

If 3..¥c7, then 4. W41+
4.8e2

4.Wxd5! would be simpler: 4...exd4 5.¥xd4t+—.
4...Bxg5 5.8xe5

White sets up his battery. There is a strong
alternative in 5.2xe57! @gB 6.8f4+—.

5..%d6
Diagram 1-5
The only chance. Black pins the white rook.
6.Wg31

White prepares an elegant way to unpin. But not
the immediate 6.2h1?? on account of 6...¥xhGt—+.
6..¥xho6t

6...Hxg3 7. Bxe8#
7.%h3! Wd6 8.2h11+—

Black cannot avoid losing a piece.

In the test which follows, you should try to set up
a windmill! Calculate only the necessary variations.
Always end your variations with an evaluation. It is
important to concentrate on the first few moves and
also to take into account the various possible replies
by your opponent.
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Solutions

Vienna 1951

1.@‘xg5!!+—
(1 point)

1...hxg5

If 1..Wxg27, then 2.Wxg2 &xg2 3.Bxg6T
Dh7 4. Bxg2#.
2.Bxg6t 2h7 3.8Bxe6t $g8 4.Bg6t &h7
5.8xd6t g8 6.8g6t Lh7 7.Bxc6t g8
8.8g6t ©h7 9.8xb6t g8 10.Eg6t ©h7
11.8a6t g8 12.Hxa2
1-0

1.¥xf6 11!
(1 point)
1.£h6! also wins easily.
L...gxf6 2.8h61 g8 3.8g7+ L8 4.8xc7t
he8 5.8g71 b8
Don’t be impatient! The windmill can keep
on working!
6.Bxb7% Q?gS 7.8g7t &f8 8.2xa7t @gs
9.8£711!
(another 1 point)
‘This is the only winning move.
9..¥xf7 10.Exa8F We8 11.Exe8t f7
12.Exh8
1-0

Austria 1969

1.%h3!
{1 point)
After deflecting the black queen, White can
open up the diagonals for both his bishops.
1.Wh5!1+— does this equally well.
On the other hand 1.f4? would be wrong.

13

After a queen sacrifice, you must calculate your
variations very carefully! Black plays 1...¥xf4
2.8xg7T ®h8 3.8xf7+ Qe5 (or even 3. We5)
and wins.

1..%xh3 2.Exg7t ©h8 3.Bxf7t g8
4.Bg7+ bh8 5.8g8#

(another 1 point for this variation)

Dresden 1969

1.Bc7!

(1 point)
1..¥xh5 2.8e7+ f8 3.8xb7+ Re8 4.He7t
&f8 5.8xh7+

But not 5.8xa7+? &e8 6.He7t bf8 7.8xh7+?
because of 7...8xa3—+.
5...%2e8 6.2xh5+—

(another 1 point for the whole variation)

Ex. 1-5

San Rafael 1992

1...Be2!

(1 point)
2.¥xb6 Exg2t 3.%2h1 Exc2t 4.@g1 g2t
5.0h1 Bxb2t 6.82gl Hg2t 7.%h1 Exa2t
8.%g1 axb6
0-1

USSR Ch., Leningrad 1925

1.¥xc74!
(1 point)

1...Bxc7 2.Bxc7t ©b8 3.8c11

There is the equally good 3.8c37+-.
3...80a7

3...2d6 is followed by 4.£xd6t a7 5.8alt
£a6 6.8xa67! b7 (or 6...50xa6 7.82f4t1+-)
7 Bb6t! a7 8.8c5+—.



4.8alt £a6 5.Baxa6t b7 6.Beb6t Dc8
7.8a8t &2d7 8.8xd8+ xd8 9.2d6t
1-0

(another 1 point for this variation)

Ex. 1-7

USSR 1968

L...%xhs!
(1 poinr)
1...25? would be bad: 2.2xf5 Bxf5 3.8xf5
exf5 4.e6T+—
2.8Dxh5 Bxg2t 3.82h1 Egxf2t
Of course not 3...EBgg8t 4.h2 Bxf2+? due
to 5.82xf2 and Black will have to give perpetual
check: 5..Bg2+ 6.%h1 Hg51=
4.®g1 Bg2t 5.5bh1 Bxc2t
(another 1 point)
G.le g2t
There is an even faster win: 6...2g8+! 7.5bf1
821 8.hgl &c61 9.Bf1 &b5T 10.Wc4
&xcdt 11.8d3 &xd3#
7.5bh1 Bxb2t 8.2g1 Bg2t
Here too there is a win after 8...Bg87!.
9.2h1 Bd2t 10.58g1 Bxd1t 11.2h2 Bd2+
12.5g1
12.%g3 is met by 12...Hg2+ 13.0h4 Df5#.
12...Eg2t 13.%2h1 B2t
Or 13..Bf11!.
14.@g1 Bxc7
0-1

Ex. 1-8

Taimanov — N.N
Simultaneous 1964

1.8xg71!
(1 point)

1.&xe5 (1 consolation point) is not so
precise, as after 1...Wxf1+! 2.8bxf1 Bxe5 Black
has a rook, bishop and pawn for the queen
and can still defend his position.
1...%2h8

1...®xg7 2.8xe5t+—

14

Solutions

2.8xe5!
(another 1 point)
2...¥xc2 3.B87!
But not 3.2xg61?? Bxe5—+.
3...Exf8 4.Bxg6*
1-0
(1 point)

Ex. 1-9

Based on the game

East Germany 1967

1.8xf7!
(1 point)
1.&g4 (1 consolation point) is not so strong:
1...2xf31 2.8xf3 g5 3.8xc8 Hxc8+
1...%xe2
1..&xh31 2.gxh3 W6t is followed by
3.Wo4 Wxgdt 4.hxgd Bxf7 5.8xc8+—.

2.2xg7% Bh8 3.HBxe71!
(1 poing)
After 3.Eg87 &%h7 White has to repeat
moves by 4.8g7+ &hs.

3.8xg57?? would be bad, on account of
3. 2f6—+.
3..¥xe5 4.dxe5 B2 5.8b3 Bxf2 6.8cl
Exb2 7.8c6+—

Omsk 1944

l...ﬂngT!
(1 point)
1...%Wxa5?! 2.8xa5 ©d2 would not be so
good, in view of 3.8xgd Dxfl 4.8xeGT fxe6
5.%xf14.
2.@xg2 Hd2! —+
(another 1 point)
Also possible is 2...2c3!12—+; but 2...Bxg21?
3.@xg2 g5t is refuted by 4.£3!+.
3.%ds5
3.8xb6 is met by 3..Bxg2t 4.%h1 Bxh2t
5.kgl Bhi#



~ Solutions

3.f3 also leads to a quick loss: 3..Wxe3t
4.5bh1 Wh6—+
4...8xd5 5.cxd5 ¥xb2—+

Ex. 1-11
nd of

1966

1.8b2!
(1 point)

Preparing the bartery for discovered checks.
1..Bf8

The echo variation is 1..Bh6 2.Hg3t hh7
3.8g7t Hh8 4.Hb1+—.

1..Bf7 runs into 2.Zh3} Sﬁ?gS 3.2h8#;
likewise, 1...Eg6 allows 2.8c87 h7 3.82h8%#.

Maximum number of points is 23

Scori

2.8c71 g8 3.8g7t Rh8 4.a2+—
(1 point)
Black is in zugzwang and loses after any
move he makes.

Ex. 1-12

USSR Ch. semifinal, Alma Ata 1971

Here it is all about achieving equality.
1. 8xf6!

(1 point)
1...¥xh5 2.Exg7+ &h8 3.8£71!

(1 point)
Va1

White delivers perpetual check, naturally

avoiding 3.8Bg51? Bxf6—+.

~ 20 points and above---»Excellent
. 16 points and above-» Good

»Pass mark

12 points

If you scored less than 12 points, we recommend that you read the
chapter again and repeat the exercises which you got wrong.
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Pawn weaknesses

If we advance our pawns and these pawns are able to
offer each other mutual support, then what we have
are strong and mobile pawns. Without the support
of other pawns, a single pawn can become very
weak, since the opponent is in a position to attack
it effectively with his pieces. The superior pawn
structure is an important and long-term strategic
advantage.

There are many situations in which a pawn structure
is to some extent damaged: doubled or backward
pawns, isolated or hanging pawns. Frequently it is
simply impossible to hang on to the ideal compact
structure. The pawn structure of the two sides can be
evaluated rapidly by comparing the number of so-
called pawn islands.

Diagram 2-

_ M.Taimanov
USSR Ch., Moscow 1948

Black has four pawn islands to worry about,
White, on the other hand, only has two. White’s
pawn structure is considerably better. He is able
to attack each of the opposing pawn weaknesses in
turn. This advantage is simplest to exploit in the
endgame, because then the opponent can find even
less counterplay. Averbakh soon obtains a decisive
material advantage.
1.2b3 D8 2.8b5 Ec3

Passive defence would hold out no prospects at
all: 2..8f6 3.80d5 Bd6 4.%¢2 Da7 5.Dc7+! &d8
6.Bxf5+—
3.8e51!

A useful intermediate check, which disrupts his
opponent’s defence.
3..0e6

3..%kd8 is bad, due to 4.9dS with the threat of
Le5T.
4.89xe6 dxe6 5.8xe6t Lf7 6.Eh6

Another point of attack is quickly found.
6...hg8

6..%g7 7.8d4+ Bxh6 8.8xc3 leads to a simple

16



Pawn weaknesses

winning endgame, since the b-pawn is somewhat
weak.
7.8f6 Bxa3 8.2h6+—

The immediate 8.8xf5 is also winning. The
following moves need no further comment
8..2d3t 9.%ke2 Ed8 10.Bxf5 Hd6 11.Bf4 b5
12.h4 Hc4 13.h5 Bb8 14.2d3 Dest 15.0d4 Hd7
16.%2c3 b4t 17.2b2 Eb6 18.Bgst w7 19.Bg7+
De6 20.Exh7 b5 21.8¢7 b3 22.8d4 £d5 23.2¢3
Bb5 24.2d4 Bd5 25.2c3 Bb5 26.Bxd7 $xd7
27.g4 he6 28.h6 Eb7 29.f4 $d5 30.8g7 Bcd
31.h7 Be7 32.h8-¥ Be2t 33.2cl
1-0

Kharkov 1963

White wins back the d4-pawn and is better placed,
since Black has more pawn islands. The d6-pawn is
particularly weak. White has a simple plan: direct his
major pieces against the pawn weakness. But in doing
so he has to be careful not to allow his opponent any
unnecessary counterplay.

1.8xf6 ¥xf6 2.2)xd4

Of course the exchange of queens would be to
White’s advantage. But after 2.¥xd4 the opponent
keeps the queens on the board with 2...25! and
White would have to retreat his knight to a less
attractive position. The exchange on €5 hardly comes
under serious consideration, because after ...dxe5
Black’s only weakness would disappear.
2..5e5

2...80¢5 would be more interesting: 3.b4 (3.¥d2!?
is also possible) 3..20e6 4.5 &f4, but here wo
White is better after 5.¥f3.

If 2..8b7, then 3.9f5 Wxb2 4.5xd6 and the
knight has a splendid post on d6. In this variation
White has exchanged a static advantage (the weak
pawn) for very promising dynamic advantages (active
knight placement, attacking chances).
3.2b3 £d7

The bishop is developed here in order to control
the £5-square.
4.8Bcl

17
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Strategy 1

4.¥d2 would be somewhat more precise.

4...2ac8 5.¥d2
Diagram 2-3
5.6

Black should try to swap off all the rooks, to make
it harder for White to actack the d6-pawn. But White
should keep at least one pair of rooks on the board. If
5..8xcl 6.2xcl Bc8, then 7.8d11? We6 8.We3 Q\c4
9.8xc4 bxcd 10.De2 &c6 11.0¢g3! Be8 12.Wh6 L£xed
13.8xd6+.
6.Bcd1! Des

Nothing is achieved by 6..20f4 on account of
7.8e2x.

7 f4

White must swap off this active knight or drive it
away.

7.8 ¢4 8.8xc4 bxcd

8...8xc4 9.b3 Bc7 10.8f3 Bc6 is followed by 11.e5
and White wins the pawn.
9.8 e2!

A very strong regrouping. White brings his knight
to ¢3, in order to better protect the central e-pawn.
The d-file remains open for the major pieces. In
addition, ©d5 becomes a threar, the b2-pawn is
better protected and the black d6-pawn is definitively
fixed on its spot!
9..8a4

Only a short-term success for Black. After a few
moves the white rook will return to the d-file.
10.2c1 Efd8 11.8c3 £¢6 12.8cd1 h6

12...Eb8!? would, after 13.8¢2!, lead to the same
situation as in the game.
13.¥e3 Eb8 14.2e2 Hbc8

Black can no longer find any active play.
15.8d4 £b7 16.Bed2 We7

Diagram 2-4

Not only is the pawn on d6 weak, the same applies
to its colleague on c4. Spassky finds another way to
regroup in order to take possession of the weak square
on d6.
17.¥g3! bfg 18.f5 He8

18...8¢6 is met by the typical move 19.e5!+—.
19.8xd6 ¥e5

After winning the pawn, White has no major
problems, since the pawn structure of his opponent

18



Pawn weaknesses

is still weak. However, it is worth playing through
the game until the very end, in order to see how this
advantage is converted into the full point.

19...8xe4 20.f6 gxf6 would be followed by 21.8e2
(or 21. W4 &06 22.Wxh6T g8 23.%f4 and White
is clearly better) 21...8cd8 22.Bxd8 Wxd8 23.Hxed
Bxed 24.9xed Wd4t 25.9f2 and White is winning.
20.¥xe5 Hxe5 21.82d4 a5 22.8b6 £a8 23.8a6
he8 24.0f2 &8 25.%0e3 Hec5 26.Hd7 L6
27.8da7 a4 28.2d4 Le8 29.2b6 h5 30.g4 h4
31.Ebb7 B5¢6 32.2d5 Bd8 33.g5 Bcd6 34.Hxcd
Bc6t 35.8d4 Bc2 36.%e5 Hcd 37.g6 f61 38.2Dxf6
gxf6t 39.8xf6 Bc6t 40.2g5
1-0

Diagram 2-5 Diagram 2-5 v

Ta
7. 7
- a4 7%

AL b

,/ ////é/m%/ A

2 %//%‘gé//

oer — M, Taimanov

Luxembourg 1963

1...a4!

This game demonstrates how to obtain a better
pawn structure. White would do better to decline the
pawn sacrifice.
2.bxa4?!

Better is 2.8acl (or 2.2abl) 2..a3 3.2al and
although the far-advanced a3-pawn has disrupted
White’s queenside, it also needs to be defended.

2.9f1 a3 3.8xd8T Wxd8 4.8c1 Wd6 5.8e3 Bd8
(Sokolsky) leads to a better position for Black, who is
in control of the only open file.

—_ N W Rk LN

2..0d7
Black wins back the a4-pawn and obtains the better
pawn structure on the queenside. Diagram 2-6 A
3.2b3 218" 7 = 7 7
3...3b6 is not so good, due to 4.4\c5. ////gég? /////@///

% //7 Y

,,,,, >

¥

However, 3...Exa4! would be even simpler, since
4.9bd4 is met by 4..exdd 5.¥xad dxc3 6.2a3
Wagl—+.
4.a5 Dxa5 5.9xa5 Bxa5 6.c4 Lg7F

Diagram 2-6

It is very interesting to watch how Black exploits
his structural advantage.
7.8f1 a8

First he takes aim at the a2-pawn.

8.8c3 Ha3 9.Wb2 Wa7 10.2d2 Ha8 11.Hel

—_— N W A~ NN
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Diagram 2-7

Strategy 1

Diagram 2-7

White can still hang on to the pawn. Black now
looks to the ending, in which he can attack the
opposing weaknesses more easily.
11...¥b6!

11..0b6 12.8xe5 2xe5 13.Wxe5 Nxc4 fails to
14.8xc4 xc4d 15.2ad1 with the threat of Ed87.
12.¥xb6 Dxb6

Now Black attacks the c4-pawn.
13.¢5! 8xc3

13...21d7 14.£b4 Bxa2 would be simpler.
14.cxb6 cxb6 15.8b2

White is now hoping for counterplay down the
b-file.
15...8ca3

If 15...2f8, then 16.22d3.
16.Bxb6 8xa2 17.8ab1?

The loss of the f-pawn weakens the kingside. The
only chance would be 17.Exa2 Bxa2 18.%g2 Hal
19.8f3 Ba7 (19...8xh37T 20.0xh3 Exf1 21.¢2g2 Bal
22.8xb7 Bad 23.8b8+ &h7 24.8b7) 20.DelF.
17...Bxf21 18.52g1 Bfa2 19.Bxb7 E8a3 20.g4 ££6
21.21b2 Bg3t 22.8g2 Haa3

The dark squares are weak and allow the black
pieces to penetrate decisively.
23.%2h2 £g5 24.9c2 Bac3 25.%g1 &cl
0-1

It has to be understood that, when evaluating a
position, it is not only the pawn structure which is
important, but also other elements of the position
(e.g. piece activity, the presence of an open file or
the open position of the opposing king). Sometimes
these factors can even play a greater part and more
than compensate for a weakened pawn structure!
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Solutions

Margate 1937

White can simply win the b4-pawn. L.&xc5
l.e4! D6 2.¥xb4+ (1 point)
(1 point) 1.b3 would not be so good, because of

‘The game continued: 1...0d4.

2..2d8 3.Bxd8 ¥xd8 4.9c5 ¥Wd6 5.¥c3 1..8xc5 2.8xc5 Dxc5 3.¥xc5 HBxb2
h6 6.20d3 2d7 7.h4 Dg6 8.2h3 Dgf8 9.b4  4.Dxe5!

h5 10.5c5 6 11.¥c4 We7 12.20b3! ¥d6 (another 1 point)
13.9a5 Wd2 14.Dxc6 Welt 15.2f1 Dxed The point of White’s play. After 4.¥xc6?
16.%e2 Wxe2 17.8xe2 g6 18.8xe5 D3 Wxc6 5.8xc6 &b7 6.Ec7 Rd8! 7.8cl Bxa2
19.8d3 g7 20.64 Dd5 21.b5 2f6 22.%f2  Black would already be better.

b6 23.8e3 Dad 24.0d4 De6t 25.80d5 4. We6

D7t 26.80c6 De6 27.b6 Dd8t 28.8d7  4..fxe5? 5. WxeSt—

£e6 29.b7 Dacs5t 30.%0c8 5.¥xc6T Wxc6 6.Dxc6+ £h3 7.£3 0-0 8.522
1-0 2e8 9.0d4 Exa2 10.2al Eb2 11.Exa7+-
Ex. 2-2 Ex. 2-4
USSR Ch., Moscow 1951 London 1922

Here too, White can attack the weak d6-pawn 1...f8!

directly. (2 points)

1.2dc3! The black king first goes to d4, to defend
(1 point)  its own passed pawn. After that the king can

1.2\ f7 2.Bfd1 £e7 3.20b5 Ed8 4.Wd2+ also carry on to c3 and attack the opposing

Black can no longer protect the d6-pawn.  b3-pawn.
In the game, there followed a sacrifice born of Z.QPgZ che7 3.§,g8 Rd6 4.8f7 Rc5 5.8xh5

despair. Dxb3 6.3

4..0\d4 6.g4 is followed by 6..2d2 7.8f7 b3
If 4...26, then 5.9bxd6 Hxd6 6.9)xd6 Bxd6  8.82xb3 Hxb3 9.g5 (9.f3 dd4 10.g5 Ld3

7.Bxd6 £xd6 8.%xd6 Wxd6 9.8xdG+—. 11.gxf6 D5 12.£7 &d7-+) 9..80d4 10.gxf6

5.exd4 exd4 6.2 c7 Des 7.90d5 e 8. Wel  hdG—s.
g5 9.8b3 Dxcs 10.Dxe7t Wxe7 11.0xg5!  6...50d4 7.7 d3!-+ 8.8xb3 £d2 9.8c4
fNe3 b3 10.£xb3 €2

11...Wxg5 12.8xh4+— 0-1
12.8xe3 dxe3 13.9e4 d5 14.Bxe3 dxed
15.8xe4 Exdl 16.¥xdl Ee5 17.Bg4t &h8
18.%d2 Be6 19.¥ 31
1-0

2-5

World Ch{3), Moscow 1951

In the game White played:
1.a4?
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Solutions

And Black was able to hold his position.
1...8d8 2.5f3 £f6 3.0d4 heg7 4.2b5 sofs
5.8\ ¢7 d4 6.c4 Re7 7.0d5 L5 8.50e2 Be8
9.%d3 b6 10.g4 g7 11.Eh1 h4 12.g5 Ee5
13.Bgl &f8 14.£3 g7 15.64 Be8 16.52d2
Be6 17.2el Exel 18.%xel &8 19.50e2
he8 20.0d3 Bd7 21.ked Rd6 22.566
e6
1514

Instead of that, White could have attacked
the d5-pawn at once and won:
1.2e3!

(1 point)
1...d4 2.8)c2 d3 3.2 d4! £xd4 4.Bxd3+

(another 1 point for this variation)

yov — Mankus
Moscow 1977

1.c5!
(1 point)

This weakens the black pawn structure.
1..¥e7 2.cxd6 cxd6 3.¥b6+

Now Black has three pawn islands instead of
two and his pawn on d6 is weak.
3..8e4?

Better is 3...Hed8 4.5d4 Bd7 5.8cl+.
49447 ®g8 5.8xe4 Wxed 6.Wxed Bxed
7.Bxd6+—

Ex. 2-7

Esbjerg 1980

1...ds!
(2 points)

The threat was Hxd3, after which the d6-
pawn would also become weak. For that reason
Black must sacrifice the d6-pawn in order to
support his stronger pawn on d3.

1...f5 (only 1 point) 2.Exd3 fxe4 would not
be so good, on account of 3.82xd6.
2.exd5?!

2.f3 is countered by 2...d4!? 3.8xd3 &f8!F.

24

2.8xd3!? would be
2...dxe4 3.8d6 Ba8F
2...e4F 3.b3?

3.8fel would be
4.8xd3 @xb2¥
3..0-0—+ 4.2 c4 Bcd8 5.d6 &3

Intending ..&b4.
6.a37!

The immediate 6.g3 would be more
stubborn.
6...Bfe8 7.g32! e3! 8.gxf4 €2 9.8Bglt f
0-1

an improvement:

more stubborn: 3...f5

Ex. 2-8

C’an Picafort 1981

1.a5!
(1 point)
A typical idea. White swaps off his
potentially weak pawn and in doing so also
weakens the opposing pawn structure.
1..¥¢7 2.axb6 axb6 3.Raclt
Black is left with a weakness on b6.

USSR Ch., Moscow 1940

1...b5S!
(1 point)

2.We2 We6F

Black prepares b4, after which the a2-pawn
will be left without the support of the knight.
3.8c1

3.d5? would be bad, due to 3...%e5.
3...b4! 4.9 e4

4.Wxe6 Dxel 5.0e4 Le7—+
4...Bxa2 5.8xa2

5.8xd6 ¥xe2—+
5...2xa2 6.%f3 28—+



Solutions

i S s

Moscow 1963

1.2c4!
(1 point)

The ¢5-pawn is weak. The white king must
attack it!
1...2¢7 2.8 a4! £xa5 3.Dxc5

The weak a6-pawn now falls.
3...2b6 4.9Dxa6+— Le3 5.00b4 &cl 6.b3 £f4
7.80c2 8e5 8.00d4 2f6 9.b4 Re7 10.53
26 11.82d3 5 12.b5 £d5 13.c41 De6
14.2e4 £2d6 15.b6 Rc6 16.De5+

Eyeing the weakness on g6.
16...b7

16...8xb6 17.9d71+-
17.9d7 £d4 18.%d5

Finally the weakness on ¢5 is targeted.

Ex. 2-11

Ashkhabad 1961

1.b3!
(1 point)
This prepares £a3 with an attack on the
weakness on c5.

1...8e7 2.8a3 Dd7 3.Bad1! &5
3..0-0 4.d4+
4.Dxc5! Dxc5 5.d4 exd4
5.Wc7 6.8xc5 &xc5 7.dxcS 6 8.f4+—
(Kholmov)
6.8xd4 We6 7.%d2! Wxel t
7.. W5 8.g4+—
8.%xel PNe6 9.We4 Bc8 10.2d6+—

Ex. 2-12

Tunis 1985

1.2d4!
(2 points)

In the endgame it is easier to exploit the
opposing pawn weaknesses.

1.8el (1 point) would be weaker, since the
f2-pawn still needs to be defended.

Nor would 1.2xe4 (also 1 consolation point)
be exact, due to 1...dxe4d 2.9)d4 Wxe2 3.H)xe2
(not 3.8xe2? £a6) 3..8f7 4.5g3 Bd22.
1..¥xe2

1..Wh6 2.f3 €5 3.2+
2.8Bxe2 8f6 3.Efel

Aiming at the weakness on e6.
3...e5 4.59)b3!

4.90¢2? is bad, because of 4...c5.
4...a5 5.3 a4 6.Dc1 Hd6 7.Bxe5+—

Scoring

Maximum number of points is 17

15 pOintS and abOVC)Excellent

»Pass mark

9 points

If you scored less than 9 points, we recommend that you read the
chapter again and repeat the exercises which you got wrong.
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Back rank combinations

In this chapter we shall take a look at another typical
motif in combinations: the weakness of the back
rank.

When files are opened, it is the time for the major
pieces. Then you have to be especially careful and
protect the back rank. A bolt-hole for your king is
often extremely necessary. Back rank combinations
are extremely effective and mainly employ the typical
ideas of deflection and the double attack.

Diagram 3-1

Ashkhabad 1978

1...Bxa2?

Black does not spot the danger. The correct
continuation is 1..Wxc4 2.Hxc4 Bxa2 3.BEbl Has!
and White has only a positional advantage.

Now comes a tactical blow which exploits the
weakness of the back rank.
2.8d5!

Black cannot take the bishop in view of the
weakness of his back rank (2..%xdS 3.%xd5 8xd5
4.8c87%+-), which means that he loses the a2-rook.
1-0

Diagram 3-2

Bucharest 1953

In this position there is firstly a typical combination
involving promotion.
1.¥xc6! bxc6 2.b7 ¥d8 3.b8=¥

Black now counters with a deflection.
3...2d17 4.8xd1 ¥xb8

But here White exploits the weakness of the back
rank again and wins the queen.
5.9b71+-

Black has no defence against Bd8+. After a few

more moves hC I'CSigIlCd.
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Back rank combinations
Diagram 3-3

Diagram 3-3
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Tactics 2

a) 1..Wxa7 2.8xd8++—

b) 1...8xa7 2.Bxd8}+—

o 1...Wc8 2.8xd8T Wxd8 3.Bxd8+ Hxd8 4.g3+—
d) 1...8dc8 2.¥xc7 Hxc7 3.8d87+—

Diagram 3-6 v Diagram 3-6
// y s
E/ /E/@//% . USSR Ch., T ll 1965
/ // / allinn
7 /g / / 7 7 Black’s next move hits White like a bolt from the
7 blue.
1...Bxa3!
White resigned, in view of the following variations:
a) 2.8xa3 Welt—+
b) 2.Wxa3 Welt 3.8xel Exel#
¢) 2.bxa3 Wxalt 3.8b1 BelT 4.8xel ¥xelt—+

—_— N W Rk L N N O©

In the test which follows please try to exploit the
weakness of the back rank just as energetically.
Deflect the opponent’s pieces — the best way being
with the help of a double attack. You absolutely must
have these important combinations in your tactical
arsenal!

abcdefgh
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~Solutions

Budva 1963

1.8xa6!
(1 point)
Double attack and deflection.
1...Hxa6 is met by 2.We8t+—,

1...¥b2!—+
(1 point)

Once more there are two rooks protecting
the back rank, and yet again there is a way to
exploit the lack of a bolt-hole. The threart is
now 2...8xal.

But Black had to avoid 1..Efa8?? which
loses to 2.%xa8+.
2.¥d1

2.8xb2 Bxalt—+
2. ¥xf2t
0-1

1...¥b7!
(1 point)
Double attack and deflection.
White resigned at once. 2.Wel is followed
by 2..Wxed! 3.Wxed Bclt—+.
On the other hand, 1...Hclj? would
have been a mistake, in view of 2.8el ¥b7

3.Wd2+—.

(1 point)

31

Deflection.

But not 1..Wf11? 2.Wg 1l

White resigned, since after 2.¥xcl there
follows 2...Wf1+—+.

Ex. 3-5

" N.N. — K.Richter
1957

1...Bdxe8!
(1 point)
1...¥xelt (1 consolation point) would not
be so strong: 2.¥xel Bfxe87F.
2.¥xe8 h6!
(another 1 point)
The threat is now simply ...Exe8. The queen
has no good retreat, e.g 3.We4 Wflf—+ or
3. We2 Wxe2 4.Hxe2 Bf1#.
0-1

1.Ef7
(1 point)

1.¥xc6 would not be so good, due to
1...¥xe7+; nor 1.Wd8?! in view of 1...Hc8.

Black resigned. He either loses a whole rook
or is mated.

1..8xf7 is met by 2.Wd8t+— if 1..Efc8,
then 2.Ef8t+— and 1..%xe3t loses after
2.$2h1 Bg8 3.Wxc6+—.

Ex. 3-7

" PKeres — PTroege
Hamburg 1960

1.8xd8+!
(1 point)
1.W£721 (1 consolation point) would not be
so strong: 1..8c8 2.Wxc7 Hxc7 3.2d81 Ec8
4.Hxc8t Hxc8 5.8d7+— offers White ‘only’ a
winning endgame.

1.8d7? is answered by 1...¥b6!z.



Solutions

1...Bxd8 2.%£7!
(another 1 point)
Black resigned, since after 2..¥c8 3.8xd8
Wxd8 4.W¥xc4 he loses his knight.

Ex. 3-8
" Streck — Barash
1912
1.2h6!
(1 point)
1...%¥xh62

1..%o8 would be more stubborn: 2.2f8%
Wxf8 3.8xf8 Ncl 4.h3 b6 5.2h6+
2.Wh4!
(another 1 point)
2.Wg5! would be just as good, but not
2.Wh3?? ¥xh3 3.8f81 because of 3...¥c8—+.
1-0

Amsterdam 1971

1.¥b2!
(1 point)
Double attack and deflection.
After 2.8xf71? doxf7 3.8d71 f8 4.8xb7 c5
White is worse.
1..%e7
1.. Wxb2 2.8xe8#
2.¥xb7!

(another 1 point)

2. Bxe81? Wxe8 3.Wxb7=
2...¥xds

2. Wxb7 3.Hxe8#
3.Wxf7+
1-0

(1 point)

32

There is the equally good 1.Wcl! a6
2.8c6l4+~ (2 points for this variation).
1...Bd8
1..H2xb4 2.8c8%+—; 1...2b3 2.¥Wxb3+—
2.H2cd5!
(another 1 point)
Black resigned, in view of 2..2xd5

3. Wb8t+—.

Ex. 3-11

Munich Olympiad 1958

1.¥d2!
(1 point)
Deflection.
After 1.%d3 Black can reply 1...Wa8, as in
the game.
1...%a8
Other moves also lose:
a) 1.. W8 2 We34+— and then He8.
b) 1...%b8 2.£d7+— and Ee81.
2.Was!
(1 point)
Another good move is 2.Well+— (also 1
point).
2..¥bs
Or 2.f6 3.Wxa8t £xa8 4.He8t &f7
5.8xa8+—.
3.Wxc7!
1-0

Ex. 3-12

Based on the game

USSR Ch., Leningrad 1947

1.2.6!
(2 points)
1.8xf7? would be bad: 1..Wxf7 2.8xd7
Wxd7 3. %281 Wd8—+.
Nothing is achieved by 1.Wc8t?! £d8!, nor
by 1.8xf6?! Wxf6 2. WxfG gxf6-=.
1...h6

Other moves are no better:



Solutions

a) 1...8xd3 2.We8#

b) 1..8xe6 2.Wc8t Hd8 3.Wxd8t £xd8
4.Bxd8#

c) 1...fxe6 2. Wc8++—
2.8xd7+—

- 17 points and above---»Excellent
14 points and above» GOOd
10 points » Pass mark

If you scored less than 10 points, we recommend that you read the
chapter again and repeat the exercises which you got wrong.
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Exploiting weaknesses

This chapter continues and amplifies what was
described on the subject of “Weak points’ (Build Up
Your Chess 1, Chapter 20).

s
dvantages of a direct attack
_ on the weaknesses

By a weakness (or a weak point) we mean a square, or a
pawn, which is not protected by a pawn.

Such weaknesses often arise when a pawn is moved
forward. However, they are only relevant if you (or
your opponent) can exploit them.

Weak squares constitute ideal positions for pieces.
You should attempt to occupy such squares with
your pieces. They are especially suitable for knights.
But other pieces can also make successful use of
these squares. You can attack other points in your
opponent’s position from these outposts.

Basic rules

1) Provoke weak squares and try to occupy them
with your own pieces!

2) Exploit any weaknesses in the castled position
for an attack on the king!

3) As well as the king or unprotected pieces, pawns
can also be objects to be attacked. Look for a weak
point (weak pawn) in your opponent’s position and
attack ir.

Attacking weaknesses

Even though a direct attack does not always mean the
gain of a pawn, an attack does however present you
with certain advantages.

1) Your opponent has to defend and is often
forced to put his pieces in passive positions. Then
you may employ other resources in order to crank up
the pressure on the weakness. You will often find that
manoeuvring (alternating attacks on the weakness or
attacking from different sides or with different pieces)
brings about the desired success.

2) We enjoy greater freedom and we can also seek
out other objects to attack. If we manage to provoke
a second weakness and then alternate attacks on
these weaknesses, then the defender is often stretched
to breaking point.
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Exploiting weaknesses

The following five examples from master praxis will
illustrate these ideas.

Dlagram 4-1

" M.Euwe — S.Flohr
Amsterdam 1939

White exploits the weakness of the dark squares.
1.Bc5!

A surprising regrouping. The white rook arrives via
the fifth rank to join the attack.

White’s position is so good that even quieter play
would have been just as strong, e.g. 1.a3, intending
Bc3, Wf4 and Bh3.
1...¥xa2

If 1..8xc5? then 2.dxc5 Wc7 3.We3 followed by
Wh6 and White wins easily, since Black has no pieces
which can protect the dark squares.
2.8h5! e5

Other moves are no better:

a) 2...gxh5? loses to 3.Wg37.

b) 2..2g7 is followed by 3.2xg7 ®xg7 4.8xh77!
choxh7 5.Wxf7+ Hh8 6.8d3+—.

o) If 2..9xb2, then 3.2f1 W2 (3..Wb4 4. Wh3+-)
4.8e5% 5 (4..8g7 5.8xh7! hxh7 6.Wxf7 Hg8
7.8d3+-) 5.Bxh7! dxh7 6.Wh3t &h6 7.8f4 and
White wins.
3.dxe5 L6 4.Wf4

White is preparing an attack on the h7-pawn.
Black is powerless. What is remarkable is the position
of the bishop on {6, which is restricting the opposing
counterplay and also playing a decisive part in the
atcack.
4...Wixb2 5.8f1 8e7

Black will be unable to take on {6, since then the
black squares would be even weaker. But even after
the logical 5...a5 Black could not parry the white
attack: 6.8d3! leads to a quick finish.
6.%h42!

Here to0, 6.2d3!+— would have been very strong.
6...&c5! 7.8h6

The idea of the defence is clear: 7.8xh7?? is refuted
by 7..Wixf2+ 8. Wxf2 £xf2t 9.&xf2 hxh7—+.
7...a5 8.8d3!

Now White brings his reserves into the game. 'The
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Positional play 1

threat is 8f3 and with the f2-pawn protected, Exh7
would again be an option.
8...8xf2+

The best try.
9.¥xf2 Wxf21 10.0xf2 a4

Diagram 4-2

Black is hoping that his passed pawn on the
queenside will give him some counterplay. But even
without queens, White can attack the weakened
castled position.
11.8e2!

The threat is 12.g4 and then Edh3 or Exh7 with
mate to follow.
11...8a5

11...a3 12.g4 a2 13.Bxh7!+-
12.g4 Exe5 13.8xe5 £c4 14.2dh3 £xe2 15.8266+—
Be6 16.e5 Bxg4 17.8xh7 Bxf6t

17...8xh3 18.2h8#
18.exf6

Here the rook will not find it difficult to deal with
the black pawns.
1-0

Diagram 4-3

Bugojno 1986

White already has a wonderful square for his knight
on c4. With his next move he creates a new outpost
on b6. Later White will open the b-file (after ¢2-c3)
and occupy the b6-square with his rook.
La5!+ £h6 2.8c4 0-0 3.c3 bxc3

After 3..£517 4.cxb4 cxbd 5.8b6!+ the b4-pawn
becomes weak.
4.bxc3 5 5.2b1 fxe4 6.8xe4 Ef4 7.We2 18

In the variation 7...Bxe4 8.Wxe4 £f5 9.We2 &xbl
10.Bxb1+ you can clearly see the difference berween a
good knight and a bad bishop.
8.2b6 Ba7

Diagram 4-4

9. xc8!

The knight was good, but it blocked the b-file. After
the exchange White will be better placed to attack the
weakness — the aG-pawn.

9...%xc8 10.8b6
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Exploiting weaknesses

10.g312
10...8¢7 11.g3 Ef8 12.52g2

It would be better to play the prophylactic move
12.Zal! first, and only then ©g2 and then h4+—.
12..%d7! 13.8al!

13.Bxa6 is not clear, because of 13...Hxa6 14.¥xa6
Wad2.
13...8fa8

Diagram 4-5
14.h4!

The attack on the a6-pawn ties up the black pieces
on the queenside. White now wants to create a second
weakness on the kingside. The threat is h5.
14...2d8 15.8bb12!

15.8c6 would be stronger, so as not to release the
pressure on the aG-pawn.
15...8Bb7?

Black should try to do something against the threat
of h5. 15..¥f7! would be better, intending 16.h5
gxh5 17.8h1 h4z.
16.8xb7 ¥xb7

Diagram 4-6
17.h5!

After this move a second weakness appears in the
black camp. Now the defence becomes twice as hard.
In the middlegame the presence of opposite-coloured
bishops can be very effective for the atracking side,
since the opponent has nothing which he can set
against the attacking bishop.
17...g5 18.¥g4

The white squares on the kingside are now
hopelessly weak.
18...%e7 19.h6!+—

An important move, since the pawn on h6 is very
active and dangerous for the opponent.

19.8b1 £xa5 20.We6t would not be so clear after
20...cbf8.
19...Eb8 20.£d3!

A little reminder that the pawn on a6 is also still
weak.
20...¥£7 21.8xa6 Wxd5t 22.8hgl

The exchange of pawns is not an equal one. White
gets a strong passed pawn.
22...¢4 23.8.c8! WeS 24.We6

After White has obtained a passed pawn, he has

z/
//%

" 2 VS T - N U, B ) SN B ]
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Positional play 1

nothing against a transition to the endgame.
24...5bf8

Or 24..¥xe6 25.8xe6T 8 26.2d5+—.
25.Wxe5 dxe5 26.2f5 Bb7 27.26 Ea7 28.8xe4 g4
29.8b71+~

This move ends the struggle to all intents and
purposes, since Black will essentially be playing
without his rook on a7.
29...8g5 30.Ea5 fe7 31.8a4 Bf7 32.Exgs £f8
33.2g2 8xh6 34.8f3 £f8 35.8Eh4 h6 36.ed
De6 37.c4

The threat is Eg4-g6 etc.
1-0

Diagram 4-7

~ M.Botvinnik — V.Chekhover
Leningrad 1938

Although it is White who has the doubled pawns
here, he is better placed, because he is controlling the
important central square d5. Also his bishop will be
more active than the knight.
1.2d5 b6

Nor do other moves bring any relief:

a) 1..Bxd5 2.cxd5 De7 (2..90d8 3.Wad+) 3.d6
Wxd6 4.Wxb7+

b) 1..We7 2.8fd1 g6 3.4
2.8fd1 Da5

Normally the knight is not so badly placed here,
but it gets no more support and so remains offside.
3.h3 Exd5 4.8xd5

4.cxd5 is not good, on account of 4..¥d6= (but
not 4..0b7? 5.Wa4!) and the passed pawn is safely
blockaded.
4..We7

4..Bd8? 5.8xe5 @xcd? would be bad, in view of
6.2e87 Bxe8 7.Wxe8t h7 8. Wedt+—.
5.8g4

Threatening Bd7.
5..%b7

Diagram 4-8

6.2f5!+

White has a large positional advantage. He once
more threatens 2d7, as well as Wxe5!.

6..%b8
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Exploiting weaknesses

6..g6 is met by 7.8xg6 fxg6 8.Wxg6t &f8
9.Bd6+—
7.82d7 Bd8 8.Wxe5! Dxcd

8. Wxe5? 9 Hxd8t+—
9.%xb8 Exb8

Diagram 4-9

10.8.e4!

White coordinates his pieces and prepares to attack
the {7-pawn.

10.2xa7?! would not be so good: 10...d6 11.£d3
c4 12.8d7 (12.8f1 &b5 13.Ha6 Hc82) 12...cxd3
13.8xd6 Ha8 14.Hxd3 Hxa2t
10..0a3 11.2d5

If 11.8xa7? then 11...83b5 gives Black counterplay.
11...28

A pleasant result for White. The black rook and
king must stand by passively and defend the weak
point on {7.
12.e4 a5

Or 12..c4 13.8xa7 ©b5 14.Bb7 Dxc3 15.8xc4
Dxed 16.8xb6+—.
13.c4 b5 14.cxb5 Hxb5

Only this knight is active, but what can it achieve
alone against the whole white army?
15.€5 a4 16.f4 Dd4 17.52£2 g5 18.g3 gxfs 19.gxf4
De6

19...%g7 is met by 20.¢6+—.
20.ke3

After White has consolidated his position, he will
once more set his pawns in motion in order to create
a passed pawn.
21...c4 2265 5 23.8c7 Dd3 24.¢6 fxe6 25.fxe6
Be8 26.¢7t g7 27.8c6

A model game by the great Botvinnik!
1-0

Diagram 4-10

“M.Feigin — S.Flohr
Kemeri 1937

The compact white pawns on the kingside are broken
up by an exchange
1...8¢7!
1...Bg8! would also be strong.
2.2d2 8xh4 3.gxh4 ¥f5 4.8b3 Bg8 5.Wh2
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Positional play 1

The white castled position has been weakened, his
pieces are badly coordinated. The game will last only
two more moves!
5...8e6

Threatening Beg6.
6.2f1 D21

With a forced mate: 7.Wxf2 (7.8xf2 ¥Wblt—+)
7..%h3+ 8. Wh2 Wxf1+—+
0-1

But sometimes the weak points can be satisfactorily

defended.

Diagram 4-11

O.Renet
Dubai Olympiad 1986

White has an apparently dangerous outpost on d6.
But he can only occupy it with his major pieces. Black
repositions his knight and protects the d6-square.
L..2h8!

Intending ...\f7.
2.50f1 97 3.8xd8t Exd8 4.2xd8+ Wxds

And Black is better because both white bishops are
Very passive.

In the test which follows, try to find the weak points
in the opposing position and then to exploit them.
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Solutions

Leningrad 1948

1.¥f3
(1 point)
Threatening Wf6.
1...82b6 2.b312
Not 2.¥f6? on account of 2..Hxb2t!
3.bxb2 W4+ with perpetual check.
However, 2.c5! would also have been
strong.
2.. %23 3.82d3 ¥Wb4 4.Ecl e4 5.f6!
A decisive combination. 5.Wxe4 is not so
strong, due to 5...20g5.
5...Ebxe6 6.dxe6 exd3 7.2f1!
1-0

Prague 1928

‘The white pieces are not well posted. Black
exploits the opportunity for a rapid attack via
the dark squares.
1..8b4!
(1 point)

2.8c4

2.8c2 loses to 2...8e1T—+; while 2.Ec1 loses
to 2..Hxf4 3.5xf4 &d2t.

Finally, 2.Be3 is followed by 2..Exf4!
3.0xf4 £d6t—+.

{another 1 point for this variation)
2..8e1% 3.®g2 Bxc4d 4.bxcdt Dxcd 5.82b8
&xh4?

Black should have preferred 5...a6 6.f4 &d5
7.5 gxf5 8.86 He6—+.
6.f4 26 7.8e52

Better is 7.%h3! &2 8.f5 gxf5 (8..%d5
9.fxgb62) 9.g6 £d4 10.$0h4 with counterplay.
7...2d5-+ 8.5 Bxe5
0-1
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Ex. 4-3

S.Flohr — Sultan Khan
Hastings 1932/3

1.2f6!+
(1 point)

1.d5 would not be so good, as after 1...2e5
the pawn on c4 is hanging.
1...g5 2.Ehel

Intending d5 followed by Ee7.
2...d6

2...8h6 3.9 g4+
3.h3 Bdf8

Better is 3...Eh6 4.8g4 Eg6 5.d5 Qa5+,
4.£4! gxf4 5.8f1 Eh6 6.Exf4 Bg6 7.8d2+

Ex. 4-4
Rubinstein — A.Selezniev
1.8h6!
(1 point)
Targeting the weakness on h7; the threat
is 6.

1..b4 2.cxb4 xb4 3.axbd Ha8 4.Bxh7+
&b6 5.8f7 a3 6.8f1 a2 7.Kal &b5 8.g6
¢bxb4 9.h5

1-0

Ex. 4-5

Berlin 1928

1. f4!
(1 point)
Black wants to attack the c3-pawn and
brings his knight to €2.

2.90c2 De2 3.2b1 fcd—+ 4.@g2 243
5.0ca3 Df4t 6.8£22 Dd5 7.58g3 €3 8.3
®e5 9.c4 bxcd 10.b5 2d6 11.b6 Fc6
12.b7 &xb7 13.0b5 £xbl 14.9d6t D7
15.9xc4 215

0-1



Solutions

Ex. 4-6

Hanover 1926

1...Eh6! 2.h3 Eg6
(3 points for this strong manoeuvre)

Black provokes another weakness on the
kingside. The immediate 1...a0!? (preparing
...b5) would be just as good. For the moves
1...b5 and 1...h5 you get 1 consolation point.
3.8e2 a6! 4.8f4 b5+ 5.b3 Bg5 6.g4

Now h3 is a weakness.
6...Bge5 7.82¢3 a5 8.8ef2 a4 9.bxad bxcd!
10.Ef8 8567 11.2xe8 Bxe8 12.Dxc4 Hxch
13.xc4 Ha8 14.2f7 EBxadt 15.8b3 Bb4t
16.2c3 8b7! 17.Ef5 Ha7 18.%c4 Hadt
19.8b3 2d4 20.2e5 ©d6 21.2e8 Rd3t
22.2c4 Exh3—+

White’s
weaknesses.
23.Bxe4 Ha3 24.Ee2 Eadt 25.8b5 Bxgé
26.a4 Bb4t 27.%a5 h5 28.2h2 Pc6 29.8e2

29.8xh5 Eb8—+
29...Bg4 30.Be6t 2d5 31.8e8 h4 32.8d8+
@4 33.82b6 h3 34.2d1 b4 35.8blt
thxad 36.%xc5 g5 37.8h1 Bg3 38.%2d4 g4
39.%e4 Bg2 40.50f4 h2
0-1

remaining pawns are both

Tunis 1979

Impatient moves do not advance the cause and
simply reduce our advantage:

a) 1.AAd6?! &1xd6 2.exd6 Dd5

b) 1.2eg5?! hxg5 2.8xg5 g6

For either of these you only get 1 consolation
point.

It is necessary to strengthen the position
quietly and to exploit the weak c6-square.
LDd4!+

(2 points)

Intending @c6.

1...2d5 2.g3 g62
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This weakens the f6-square. 2..a6 was
better.
3.Ee2 Dg7 4.20d6 We7 5.20¢6 Wg5 6.2d1
Of5 7.De4l+— Wgs 8.8xd5! ¥ixe2 9.Wxe2
exd5 10.2f61 g7 11.2xd5

1-0
Ex. 4-8
G.Vallifuoco
Tunis 1979

White can win the h7-pawn after bringing his
knight to f6.
1.@g4

(1 point)
1.7 2.0f6
1-0

Gelsenkirchen simultaneous 1999

1.d5!
(1 point)
White wins a pawn almost by force.
1...cxd5 2.9xd5 Excl 3.2xcl ©2h8
3..Be8 4.Wf4 Qe5 5.0xb6 Dxf3t 6.Wxf3
Wxb6 7.Wxf5+
4.59)xb6 Dxb6 5.8xb7+

1...¥b4!
(2 points)

This is the way to activate the queen and
attack the h4-pawn.

Of course, 1...f6? 2.exf6 gxf6 would be very
bad after 3.2d4.
2.d4

Now the c4-square is weak.
2..2b6\F

Intending ...&\c4.
3.a5 D4 4.8g3 Bg6



Solutions

4..0\b21 5. Wel Wxelt 6.8xel Hd3—+
5.8 4 Hb2!

The d4-pawn falls.
6.We1 Wxd4 7.@xg6 fxg6 8.2h3 H8c6
9.%e3 Wxe3 10.Exe3 d4—+ 11.Bb3 d3
12.2aa3 d2 13.Bb81 &h7
0-1

Moscow 1980

1.d6!
(1 point)
Threatening Wxg6+.
1.%xe5 is not so good, due to 1...gxh32.
While after 1.hxg4? 2xgd4 White loses the
exchange.
1..2g5 2.Wxf711 Wxf7 3.8xf71 Lxf7 4.d7
8xd7 5.8xd71 e6 6.8a7+
(another 1 point for this variation)
6...gxh3 7.3 c4 8.2h2 &5 9.82xh3 Ebg8?
Better is 9...Ef8 10.%g2 a5 11.9d5+.
10.Exa6 h5 11.2dd5 h4 12.%xh4 H5g7
13.%h3+— Eh8t 14.%2g2 Hgh7 15.Dxb6
Bh2t 16.2f3 Bf8t 17.%0e2 Sxf2 18.2d51
&d7 19.0f6+ Exf6 20.Bxf6 Lxg3t 21.%3

Ex. 4-12

.Capablanca
Nottingham 1936

Black has an isolated pawn on d5 and his king
position is slightly weakened. The move in the
game brings White a clear advantage.
LA5!
(2 points)
After 1.b4 axb3 2.8xb3 Black simply plays
2...8c4 and White has achieved nothing.
Only 1 consolation point for 1.&f5, since
Black does not have to take and replies

1..%b7.
1..Eg6

1..Bxf5 is followed by 2.2xf5 Wxfs
3. Wxc7 +—.

If 1...g6, then 2.9xh6t &h7 3.8Dgh+—.
2.5\d6!

2. Wes5024
2...ﬂxg3 3.0xc8 ﬂngT 4.®xg2 Hxc8 5.8a2!
26 6.8xd5+— Bg6t 7.52h1 Dd3 8.8c2 Bd6
9.2f3 Bf6 10.82e4 Bd6 11.8xd3 £xd3 12.£3
8xc2 13.8xd6 b5 14.8g2 £b3 15.Eb6
B4 16.0g3 D18 17.8064 he7 18.8e5 Le2
19.£4 fc4 20.8b71 2f8 21.65 61 22.f4
h5 23.e4 fe2 24.e5 fxe5t 25.%0xe5 Lc4

84 22.Eb6 26.8f4 h4 27.5g5
1-0 1-0
Scoring

Maximum number of points is 19

.16 points and above---»Excellent
- 13 points and above-n Good
9 points »Pass mark

If you scored less than 9 points, we recommend that you read the
chapter again and repeat the exercises which you got wrong.
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The 7th rank

In Build Up Your Chess 1, Chapter 14 (‘Open files’)
we already learned just how important the 7th (or
2nd) rank is.

From the second example in that chapter (the
game Nimzowitsch — Capablanca) we gained a lot of

important ideas about how to exploit the invasion of
the 2nd rank.

Nimzowitsch himself, in his book My System, gave a
wonderful description of the subject of the 7th rank’
and especially the situation when one side controls
the 7th rank with two rooks. Here we shall look at
another two examples from praxis, which demonstrate
the advantages of doubling rooks and some typical
procedures linked to play on the 7th rank.

Diagram 5-1

1.2cl!

White is threatening a two rook mate. Black cannot
prevent him from doubling rooks on the 7th rank.
1...8Bde5

1...Hc5 is answered by 2.Bd1!.
2.Bcc7

‘This is better than first playing 2.Ec8% followed by
2...8e8 3.8cc7+, because Black can then defend his
pawns with 3...g5.

2...85

It is interesting to see how great the advantage
of doubling rooks on the 7th rank is. Black cannot
defend his pawns satisfactorily because White
combines attacking them from behind with threats of
mate.

Nothing is achieved by 2...f8 (intending ...Ee7)
on account of 3.Bf7T ®e8 4.8xf6 He6 5.8f7 and
Black can no longer exchange the rooks by 5...8e7,
since it is clear that the pawn ending would be lost.
3.8g71 &f8

3...%2h8 4.8gf7+~ is a typical twofold threat: mate

and an attack on the {6-pawn.
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The 7th rank

4.2af7t

The typical move 4.Bgb7 is not so clear after
4..8Be7.
4...0e8 5.8xf6+—

White has netted a pawn and remains on the
attack.
5...2elt 6.%2h2 b5 7.8b6

Threatening Eb8#.
7...2f8 8.8gb7 g4

8...2b1 is met by 9.a4+—.
9.8f61!

A typical intermediate check, which worsens the
position of the black king. After 9...%e8 10.8g6! the
g-pawn is also lost.

1-0

Diagram 5-2 Diagram 5-2 A

Linares 1993

White finds a way to simplify the position.
1.8Bd4!

Intending Exb4.
1...Ee2

Nor does 1...a4 2.8xb4 a3t 3.8xa3 D11 4.8xd1=
promise Black any advantage.
2.8xb4 Hc6! 3.Bxa5! Ddlf 4.Bcl Boxc2t
5.¢xd1=

A typical situation. Black can give perpetual check
or win a pawn. But that is not enough to win the
game, since White has a big enough cushion here
with his two extra pawns.

Diagram 5-3

5...8ed2t 6.%el Exh2

A typical gain of tempo and material, threatening
mate on hl and cl. The only way to save the game
is for the king to re-establish contact with one of the
rooks in a single move.
7.sbd1 Bcg2

Mate is threatened again.
8.Be4

Now 8...8xg3 is met by 9.8e2=. Black can still try
8..2b2, bur after 9.%cl= he cannot achieve more
than a draw.
-V
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Diagram 5-4 A

3| 77 % R

7 //// % >

6 0

5 ,,,,,,

4 Sy 2 il

3

2 I o e
a b c d e f g h
Diagram 5-5 A

Tactics 3

The position of a major piece on the 7th rank
brings a large number of tactical advantages.
You just have to be able to exploit them! It is very
important — according to the Nimzowitsch system —
to concentrate on one object of attack. Try to support
such attacks with all your available forces.

Diagram 5-4

M.Botvinnik — M.Euwe
World Ch., Moscow 1948

1.Wg3!

White brings his major pieces onto the 7th rank.
1...fxe5 2.Wg7 Bf8 3.8Bc7 Wxc7

Black can only fight off the concentrated attack by
sacrificing material.

3..%d6 is followed by 4.Bxb7 d3 5.Ea7 (AHa87)
5..%d8 6.Wxh7+—.
4.¥xc7 &d5 5.¥xe5 d3 6.W¥e3 Lc4 7.b3

White’s advantage in material decides the game.
7...8f7 8.3 Ed7 9.¥d2 e5 10.bxc4 bxcd 11.8£2+—
coey

Or 11...c3 12.Wxc3 d2 13.Wc8t e 14.Wxd7+
thxd7 15.8e2+—.
12.%0e3 Re6 13.¥b4 Bc7 14.0d2 Bc6 15.a4
1-0

Diagram 5-5

.Nimzowitsch — A.Duhm
Hanover 1926

1.2d7

Sounding the attack.
1...2b8 2.Ehd1 g8 3.8¢7!

White wants to play ©g5 without blocking the way
for his bishop.
3..85 4.8¢g5

The knight supports the attack on f7.
4...2e8 5.2f6 Lxf6 6.exf6 a5 7.2d8

White can choose between several ways to win the
game. He plays for mate. Of course 7.90xf7+— would
also be possible.
7.8 8.81d7 Dh6 9.Dced!

White brings his reserves into play.

9..8c6
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The 7th rank
Diagra_m 5-6

Diagram 5-6
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Solutions

Ex. 5-1

Ex. 5-4
"V.Korchnoi — V.Chekhover

W.Steinitz — N.N.

1.Md5+1
(1 point)
1...%h8
1..Exd5 is met by 2.Bxg7t bhhg 3.Bxh7+
he8 4.8dg7#.
2.8d81!

(another 1 point)
White could still throw away victory by
2.¥xe5? Mol 3.0g3 W2+ 4.0h2= (4.82g42?
even loses the game to 4...Wxg27 5.¢f5 B8+
6.Bf7 Bxf71 7 Bxf7 Wd5t 8.@?g4 Wxf7).
2..Bxd8 3.Wxd8t £xd8 4.He8t WfB
5.2xf8#

E.Mnatsakanian
USSR 1959

1.8d7!
(1 point)
1.8h6? Bxh6 2.Wf8122 would be wrong,
because of 2..2g8, but with 2.2d7!:+ you
could always earn 1 consolation point.
After 1.82e5 (also 1 point) 1...¥xe8 2.8xf6
Wxe7 3.8xe7 White just’ gets a winning
ending. But the move in the game is clearly

StI'OIlgCI'.
1...8xd7 2.2h6!
(another 1 point)
2...gxh6 3.Wxfot g8 4.%f7+
Or 4.8f71 &8 5.2d5%.
4...50h8 5.8

Ex. 5-3

—A.Yusupov — L.Spassov
European Team Ch., Skara 1980

1.Bxg71!
{1 point)
But not 1.Wxa4? ¥d6!=.
1...¥xg7 2.¥xb81t+
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Leningrad 1951

1.8d8+!
(1 point)
1.8xb2? would be bad: 1..Eg2t! 2.Wc2
(2.%b3> Wbst 3.0a3 Wast 4.5b3 Wxadt
5.0b4 Bb2#) 2...8xc2t 3.%0xc2 WadtF
There is only equality after 1.Bxc71 Wxc7
2.W¥xc7t dxc7 3.%xb2 Hg2t 4.%b3 Exh2
5.8d6=.
1..&b7
1...5bxd8 2.8f8F+—
2.Bxc71!
(another 1 point)
2...¥ixc7 3.8d7
1-0

Ex. 5-5

— M.Boskovic_

Belgrade 1966

White can deliver mate in five moves.
L.Ef7+ g8 2.9)e71 &h8 3.88+

(1 poinr)
3...%kg7 4.Eg81! 6 5.20d5#

(another 1 point)

Ex. 5-6

" D.Bronstein — S.Glig
Moscow 1967

Here too, White has a forced mate.
1.8xg7 11+~
(1 point)
1..&xg7 2.Bc81 f7 3.Wh5t De7 4.West
$d6 5.8c6t
1 bonus point for 5.¥d8#.
5..8d5 6.%d7+
1-0



Solutions

Ex. 5-7

" Fliiss — A.Nimzowitsch

Correspondence game 1913

1...Bb7!
(2 points)

It is important to bring the final reserves
into the atrack. The rook comes onto the 2nd
rank with decisive effect.

1... e4?! would be bad, because of 2.8c1+.

If 1..f4 (1 consolation point), then once
again 2.8cl1=.
2.8cl

Other moves also lose:

a) 2.82h2 Bb271 3.0gl Bxg3i! 4.9xg3 We3t
5.%h1 &xf37—+

b) 2.8b1 Bxb1 3.Wxb1 ¥xf31 4.%g1 Exg3t
5.0xg3 Wxe3t 6.1 W3+ 7.§i~?g1 We3t
8.d2g2 2f31—+
2..Bb2+ 3.d2g1 Bxg3 1!

White resigned, in view of 4.9xg3 We3t
5.1 ¥Ry,

Linares 1991

1..Bxf2!
(1 point)
A typical idea.
2.Bxa2 Exa2 3.Bxf7t g8 4.8d7
4.8f6 d3 5.2d6 d2 6.%fl Exa6 7.Exd2
bf7=
4...Bxa6 5.Bxd4 2f7 6.h4
114

o s

“M.Fuwe — A.Speijer
Amsterdam 1924

1.Ecc7!
(2 points)
1.%x£3?! would be worse: 1..Wxa3 2 Hcc7

(1 consolation point for the better 2.Hec7+)
2. Wixe7=
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Also inferior is 1.Bxa77?! (1 consolation
point), because of 1..%xa3 2.8xa3 £xdl
3.8xd1 gbos.

1.Bd77 (1 point) also wins, but in a much
more complicated way: 1..%xa3 2.8xd8t
he7 3.Wc2! Hxd8 4.Wc7t Hd7 5.Wes5t shds
6.¥1b8+ &e7 7.Helt+— (1 bonus point for this
variation).

Doubling the rooks on the 7th rank is the
key to success.
1...%xa3

1...8xd1 loses on the spot to 2.8xf7+ hg8
3.Bxg7#.

1...s2g8 is simply met by 2.8xf7+—.
2.Bxf71 De8

If 2.%g8, then 3.Bxg7t &f§ 4.Hcf7t
he8 5.Welt Ned 6.8)xe4 Bdl 7.50d6T Hd8
8.8d7#.
3.%We1t

Black resigned, on account of 3..Ded
4.8xed (4.9)xf3+— is also good) 4..Edl
5.d6+ ©d8 6.8cd7#.

(1 bonus point for this variation)

Ex. 5-10

Wageningen 1957

1.Bh7#!
(1 point)
1...@g8 2.Bcg7t &f8 3.Bxa7
(another 1 point)
3...52g8 4.Bhg7t h8
After 4..2f8 White wins with 5.8gt7+!
(or 5.2gb7+-) 5...Bxf7 6.Wh8#.

5.8gf7
1-0

Ex. 5-11

" PMorphy — C.Maurian
New Orleans 1866

1.518!
(1 point)
Threatening @gG#.



Solutions

1...Bxf8
Or 1..Belt 2.6 He2t 3.0f3+—
2.8h71 g8 3.Bcg7#

Ex. 5-12

England 1974

I.WgST!
(1 point)
1.Hexe7t does not win, on account of
1. ¥xe7.
1..2f8 2.¥o61!
(another 1 point)
The key move!
2...¥xg6 3.Hexe7+

Mate follows.

Scorin

Maximum number of points is 22

+ 19 points and above----»Excellent
. 15 points and above--m Good
11 points »Pass mark

If you scored less than 11 points, we recommend that you read the
chapter again and repeat the exercises which you got wrong.
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Fortresses

In Build Up Your Chess 1, Chapter 22 (“The wrong
bishop’) we learned about two important elementary
fortresses. In this chapter we shall extend our
knowledge and consider other situations in which
the weaker side can put up a successful defence by
constructing an impregnable fortress.

Two knights

Two knights cannot win against a lone king. The
defence is very simple. The only time danger threatens
is in a corner, but even if the opponent forces you
into one, he will always be short of one tempo.

1.2c31 thal 2.5\b4 stalemate

If the defender still has a pawn, there is the danger
that the idea of a stalemate will no longer work.

Diagram 6-2
1.9hf4 h3 2.5e2 h2 3.3+ al 4.Hb4 h1-¥
5.0 c2#

For that reason, in the ending of two knights against
king and pawn you have to try to get rid of the pawn.
The stronger side, on the other hand, should be
aiming to blockade the said pawn as soon as possible.
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Fortresses

Other basic fortresses

Diagram 6—3

/%7/
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E
E
2
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Diagram 6-3

You have to commit these basic fortresses to

memory.
The pawn is too far advanced. But if the white king

defends it, Black will be stalemated.

1.%b6 stalemate

abcde

Fortress 11

/////

//
/ N //,/
//g/// .

Diagram 6-4
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" Fortress 111

o~ O VN <t NN

1.58c6 e8! 2.2151 b8 3.2d7 a8 4.2e4T b8

with additional pairs of pawns on b5/b6, c4/c5 etc.!
5.2d8 stalemate

The side with the bishop cannot avoid a draw, even

abcde

Fortress 111

Diagram 6—5

e /////
o
// /// e

//%7//
//%/
///////

L /@7 \
/M&// //

Diagram 6-5

0 I~ O n T n N

The black king simply has to remain in the corner.

2.8 ¢71 b8 3.2d6 28 4.0b5 Hbs

1.%2c6 a8

Fortress IV
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Diagram 6-6 AN

% // % % / //
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Fortress VII =

Endgame 1

Dlagram 6-6

Fortress V_- —

Here too, additional pairs of pawns on a5/a6 or ¢5/c6
have no influence on the result.

1.%e6 od8 2.8c71 8=

Even with an additional pair of pawns on a5/a6 the
position is still drawn!
1.s2d7
1.8c5 c8 2.8xb7+ Bxb7=
1...%a8 2.82¢7 stalemate
Or 2.8¢6 &b8!=.

Diagram 6-8

VI T

The rook goes back and forward between €6 and h6;
the king is best placed on g7 and it does not move
to h7 untdil the white queen gives check on the long
diagonal. To hold the draw, all you have to do is
prevent the move h5-h6.

1.9f4 Bh6 2.Wd4+ h7 3.Wd7 Rg7 4.We7 He6-

58



Fortresses

The white king has to block in the opposing king. It
must go to a square of the same colour as the black
knight.
1.2

1L.bf122 b5 2.0f2 \c3 3.0f1 Hed—+ and White
is in zugzwang.
1%%6 2.2f1 De5 3.82 Dgit 4.2f1 Hedt
5.212=

Here it is Black who is in zugzwang.

These elementary fortresses must be learned by heart
and thoroughly understood! If you do that, you can
save some games or avoid losing points unnecessarily
in the endgame.

In the exercises which follow, please try to reach one
of the fortresses which have been presented, or else
try to disrupt the opponent’s attempts to construct a
fortress!
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Solutions

Ex. 6-1
The end of a study by

1.&h2!
(1 point)
1.¢he2? Nxglt 2.2 would be wrong,
because of 2...0e2—+.
1...2xh2 2.%e2!

Of course not 2.el? P4 3.0f1 et
4.cbo1 Bf5 5.0f1 Bf4 6.Rgl the3! 7.8h1
Df21 8.8gl h2t 9.0f1 h1=¥i—s.
2...@g4

Or 2...%he6 3.2 Dgat 4.%g3 h2 5.8g2=.
3.5063! ke 4.%2g3 h2 5.80g2-

Fortress I1.

(another 1 point for this variation)

Fx. 6-2
The end of a study b

1993

1.c71
(1 point)
The black king is decoyed to the c7-square
in order to obstruct his knight.
The immediate 1.b3? loses after 1...a3 2.b4
Ac7! 3. kb3 Dbs.
1...%8xc7
1...xc7 2.8bb4=
2.b3! a3 3.b4 a2
Or 3...5)xb4 4.0b3 a2 5.%b2-=.
4.0b2=
Fortress II.
(another 1 point for this variation)

Ex. 6-3

1.7t
1...0xg5? loses after 2.bG.
2.¢c6 Dxb5 3.¢2xb5 @gS:
Fortress II1.
(1 point)
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.Dlatn
Yerevan Olympiad 1996

L...8xb6!=
(2 points)

The simplest solution. White sets up Fort-
ress IV.

1...%2¢6 (1 point) would not be so precise,
although Black can still draw after 2.b7 2g3.

On the other hand, 1...axb6?? loses to
2.8b5! (but not 2.a72? b3+!=).
2.8xb6 Bc7 3.Dd51 ©b8 4.9b5 La8
5.80¢6 Bb8 6.2b6 axb6 7.5bxb6 La8 8.a7
-V

Ex. 6-5

1978

1.%excl!
(1 point)
1.86xd1? would be wrong: 1..&f4 2.%e2
Bxh2 3.3 Bf5—+
1..2e3
1...f2 is followed by 2.50d2 f5 3.52e2
QNed 4.50f1 Df4 5.@g1: Fortress IV.
(1 point for this variation)
2.0d2 D1t 3.0l Hxh2 4.202 Dbt
Or 4..5f3 5.%xf3= (but of course not
5.82g3? Dg5—+).
5.%¢3 h2 6.¢2g2-=
Fortress I1.
(another 1 point for this variation)

Ex. 6-6
The end of a study by

1934

1.EBb4!
(1 point)
But not 1.shg2? Ef4 2.2h3 Dc2 3.8h5 De3
4.8xh4 because of 4...Bf3#.

(1 bonus point for this variation)



Solutions

2..h3
Or 2..2¢2 3.Bxh4 %e3 4.h3=.
3.8b1 D2 4.8b3t de2 5.Exf3 &xf3
6.$2h1=
Fortress IV.
(another 1 point)

" L.Polugaevs .
USSR Ch., Leningrad 1963

1...8xb2?
The correct move would have been
1..8a7!—+.

(1 point)

Black absolutely must hang on to the rook.
Now White can reach Fortress V.
2.5xc7 bf7 3.82d6 26 4.82d5 g5 5.4
-1
White continues with ®d3-e2-f1.
(another 1 point for this variation)

Ex. 6-8
The end of a

study by

1990

1.52f3!
(1 point)
But not 1.%f1? &ixgl 2.2 ®Rh2—+.
1...@xg11'
l...@xgl 2.®g4=
2.@g4 h3
2..9f3 3.hxf3 h2 4.2
3.5bg3 h2 4.2 D3 5.%f1=
Fortress VIII.
(another 1 point)

Ex. 6-9
The end of a study by

1982

Three knights normally win against one. For
that reason, White must try to exchange a pair

63

of knights and head towards Fortress L.
1.2f6!
(2 points)
L..Deg7
Or 1...De(h)xf6 stalemate.
2.Dxh5 Dxh5=

USSR Ch., Moscow 1948

1.Eh3!=

(1 point)

Fortress VII.

1..We4t 2.0h2 &6 3.2e3 Wd5 4.8g3 h5
5.8e3 g5 6.Eg3t f4 7.Ee3 h4 8.Eh3
Wb7 9.8e3 g4 10.2h3 Wb1 11.c2g2! Why
12.2h2! W7+ 13.50g2 Wc2 14.Ee3
1Y)

Ex. 6-11

Wijk aan Zee 1982

1...a3!
(2 points)
The white king is wrongly placed on a2 — it
should be on b2! For that reason, the fortress
does not work here.
White resigned, on account of the following

variations:
a) 2.bb1 Welt 3.%a2 Wel 4.8b3t ad—+
b) 2.Bb3t hcd 3.80b1 (3.%bxa3 Wxc2—+)
3. Welt 4.2 Wd1—+

Ex. 6-12

Variation from a study by

— O.Kaila

1978

Black can win here too.
1...%c4!
(1 point)
But not 1..$2d4? 2.%d2 and Black is in

zugzwang.



Solutions

2.80d2 d4 3.0l De3 4.50f1 He2!

Otherwise the white king gets into the
corner and White constructs Fortress IV.
5.5kel @g3!—+

(another 1 point for this variation)

W:Scorlng

Maxxmum number of points is 24

20 points and above-------»Excellent
,,,,,, . 16 points and above--m Good
. 12 points »Pass mark

If you scored less than 12 points, we recommend that you read the
chapter again and repeat the exercises which you got wrong.
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'The pawn wedge

A pawn wedge is the name we give to a pawn which has
advanced as far as the 6th rank.

We are particularly interested in achieving a pawn
wedge in the neighbourhood of the opposing king,
generally on 6, g6 or h6 (or, as Black, on 13, g3 or
h3). Such a pawn restricts the mobility of the king,
disrupts the defence and ‘constitutes a favourable
motif for mating attacks’ (Kotov). It is often said that,
when you are actacking, a pawn wedge is as strong
as a minor piece, sometimes even stronger. We have
already looked at some set-ups with a pawn wedge.
We know important examples such as Damiano’s and
Lolli’s mates from Build Up Your Chess 1, Chapter
2. In this lesson we shall revise the basic ideas and
become familiar with new motifs.

Pawn wedge on f6
White is attacking the g7-square. The g- and h-files
are especially valuable, as is the back rank.

Diagram 7-1

USSR Ch. Ist League, Ashkhabad 1978

White sacrifices the e-pawn, because in return he will
obtain a pawn wedge.
1.8g5 Dxe4 2.Dxe4 Lxes 3.f6 2d8 4.8d3!

White wants to swap off the light-squared bishops,
which would make it easicr for him to bring his rook
into the attack.
4...2c6 5.%h4

Black has avoided the exchange, but his problems
have not become any less.
5..¥d7 6.Hael!

Diagram 7-2

The threat is Be3-h3.
6...8b6 7.8e4

Intending Whe followed by Ef3.
7...h52

Black wanted to prepare ...Wg4, but this just further
weakens the castled position. The only chance would
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The pawn wedge

have been the queen sacrifice after 7..d5 8.%h6
(If 8.8f5?, then 8..gxf5 9.5f3 4! 10.Eh3 Wf51F)
8...2g8 9.8f3 dxed 10.2h3 ¥xh3! 11.Wxh3+.
8.8151+— Wdg 9.8d2

With the threat of ¥g5.
9...He8

9...Eg8 is met by 10.2g4!+—.
10.¥g5 &e8 11.8xg6!
1-0

Diagram 7-3 A

Folkestone Olympiad 1933

1.&f6!
A typical sacrifice which decides the game.
1...gxf6
1...8g8 would be no better, on account of 2.¥xg71!
Hxg7 3.2d871 Exd8 4.Bxd8#.
2.exf6 Bg8 3.2d8!
The decisive deflection.

3...Hcxd8 4.8xd8 Bxd8 5.Wg7#

~ N W A NN

7»¢
a b ¢ d e f g

Diagram 7-4

Garcia Padron

A.Martin ¢ .
Montilla 1977

We have already seen the idea of the sacrifice on h5 in
the notes to the first example.
1.8xh5! gxh5 2. 93!

In order to put the queen in front of the rook.

On the other hand, 2.8xh5 would not be so good,
due to 2...8xedt 3.@?g1 .ig7! 4.fxg7 f_f?xg7=.
2..Wd7

After 2..8¢7 there follows 3.Wxh5 &xf6 4.gxf6
Wxf6 5.Hglt Bf8 6.2h6T e7 7.8g5+—.
3.Wxh5 Lxe4t 4.52g1 Lg7 5.6xg7 £5

5...%xg7 is met by 6.Wh6T followed by mate.
6.¥h7t
1-0

" 2L VS TR - SR B o ) BN B ]

Pawn wedge on g6
White is attacking the squares f7 and h7. The h-file

and the back rank are imporrant.
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Tactics 4

A.Alekhine — Hulscher

Amsterdam simultaneous 1933

White makes use of the open h-file. The g-pawn plays
an important part in this.
1.5e5!

If 1.g6? is played immediately, then 1..Wxg6
2.Wc4t d5 is good for Black, as 3.Bh87?! Df7 4.0e5t
is met by 4...%f6 5.9xg6 Exh8! 6.Wd4t Bxg6—+.
1...dxe5

1..Wxe5 2.Wxe5 dxe5 3.g6+— is a thematic
variation, which illustrates the strength of the pawn
wedge on g6.
2.g6!

Threatening mate.

2..¥xg6 3.Wc4t Bf7 4.Bh8#

Diagram 7-6

.Blackburne — S.Lipschuetz
New York 1889

This is a good demonstration of how to create a pawn
wedge.
1.g6! h6

1...hxg6 fails to 2.Bxg7t+-. White now finds an
elegant finish.
2.Bxg71!! xg7 3.0h51! Exh5

3... %8 4.Wc7+— changes nothing.
497t Bf6

4...5bg8 5. Wh7#
5.%d6t

Black resigned, in view ofS...@g7 (5...5f5 6.We5#)
6.We7t g8 7. Wh74,

Diagram 7-7
V.Muratov
USSR Team Ch., Moscow 1967
1.2g61! hxg6?

Black absolutely had to decline the sacrifice with
1...@?g8, although White then obtains an excellent
position after 2.9)f4. (On the other hand, 2.2h67?
gxh6 3.82xh6 hxg6 4.Wxg6T &h8 5.%e3 would not
be good, due to 5...%h7—+.)
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The pawn wedge

2.fxg6 2g8 3.Wh4

Black hoped to be able to defend this position, but
White’s attack is too strong.
3..%e6 4.Wh7t

White could also play 4.Dxf61! £xf6 5.$g5!+— and
his threats will soon prove decisive.
4...f8 5.2 h6!

Threatening ¥h8+. Also very strong is 5.8g5! with
the intention of sacrificing on f6: 5...%xg4 6.Wh8+t
he7 7.Wxg7t Re6 8.W7T He5 9.8xf61 Lxf6
10.Wxfo#
5..8¢7

Preparing an escape route for the king via d8. Of
course, 5...gxh6? allows 6.&xhG#.
6.8g5!

6.8xf61! Wxf6 7.0f5! (threatening Wh8#) would
also be good: 7...Wxf5 8. Wh8+t He7 9.exf5t+—
6...d5

Or 6...2e7 7.Bxf6!+—.
7.8xf6 gxf6 8.g71 ke7 9.g8-W1t &d6

9..8d8 10.0f71 &8 11.exd5 Wxel 12.Hxel is
also hopeless.
10.¥g3+

And mate in two moves.

1-0

Pawn wedge on h6

White is attacking the g7-square. Of course, it is
particularly useful to have open g- and f-files, and the
al-h8 diagonal is also important.

Diagram 7-8 A

Sarajevo 1969

In the game, White did not find the typical way to
win. By playing 1.%e6?! here, he threw overboard the
major part of his advantage and the game eventually
ended in a draw.

‘The correct move is:
1.¥g311 &h8 2.We5t B8 3.Wg5+ ©h8 4.Exf7
Wxf7 5.9d8+ Wgs 6. W6t

And mate follows.

" B VS T ~ N U B o NN B ]
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//g,/
X

defgh

Tactics 4

London 1985

1.8e51
An elegant combination.
1...Bxf2
If 1...8xe5, then 2.Hg8! Wxg8 3. Wixe5t+—.
1...¥xe5 allows 2.Bg8#.
2.8Be4
Preparing a pretty finish. 2.82xf61 would also
be good: 2..Hxf6 3.He4! (or 3.Wc3+-) 3..Wf8
4 He8l+—
2...8xe5 3.Wg711!
1-0

Diagram 7-10

"~ V.Zilberstein — O.
Grozny 1968

1.¥f6!

White does not stop to recapture the bishop on
g2, but goes straight for the kill. However, he must
resist being tempted by 1.2f61 bh8 2.9d7?, which
enables Black to defend after 2...f6!.
1...2e8 2.Me7!

The threat is now 2f61.

2.7

Or 2...15 3.{6F Bxf6 4.exfG+—.

3.061 2h8 4.9 e8!
1-0

Aesthetically exceptionally pleasing.

Once again, the tempting 4.91d7? would fail to
finish Black off, this time because of 4...2)d5!.

The pawn wedge is a powerful weapon. In your own
games, try to strengthen an attack with the h- or f-
pawn. In some circumstances you can also advance
the g-pawn. But this operation is more dangerous if
you have castled short, because it weakens your own
king position.

In the exercises, please look for active moves (for

your opponent too!) and for forcing lines. Exploit
the strength of the pawn wedge!
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Solutions

Ex. 7-1

" L.Schmid — E.Bhend
Venice 1953

1...8xg3!
(1 poiny)
Nothing is achieved by 1..¥h3? due to
2911 +—.
2.hxg3
2.fxg3 27—+
2..2h3!
Intending £¢2 and Wh1#. Again 2..Wh3?
would be met by 3.¥f1+-.
3.8g5 £g2! 4.2h4 Wg4
Threatening ¥h3.
(another 1 point for this variation)
5.2e5 Wh3
0-1

Ex.7-2

ZSturua ] VKOZIOV N
Cheliabinsk 1975

1.2g8%!
(1 point)
Black resigned, in view of 1...@?xg8
(1..Exg8 2.Wxcl+—) 2.Mg3t &f8 3.Wg7t
Hes 4. Wogi.

D T ————— —

“E.Vladimirov — A.Kharitonov
Alma-Ata 1977

1.%¥f61!
(1 point)
1.&c5%! (also 1 point) wins too after 1...82d8
2.Wxf7+—, but the move in the game is slighcly
more accurate.
1...xf6 2.8.c51!
(another 1 point)
Black resigned, on account of 2...8xc5

3.gxf6T (or 3.ext6t) 3...5f8 4.8h8#.
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Ex. 7-4

" A.Shvedchikov — Y.Estrin
USSR 1977

In the game White created a pawn wedge and
appeared to be on the road to victory. But
appearances were deceptive!
12612 exf6 2.gxf6
There now came the unexpected:
2. ¥ixf211
White resigned, because of 3.¢xf2 Ngdt.
(2 points for spotting this trap!)
Another 1 point is awarded for the modest
move 1.9c7. After 1..We2 2.9xe8 Exe§ the

position remains balanced.

USSR 1952

1.Bxh61!
(1 point)
1...8xh6 2.g71! xg7
2..8xg7 3. Wh4t+—
3.%g6+ Rh8 4.Wxh6#

(another 1 point)

1

1..8Bf21—+
(1 point)
2.%h1
If 2.W¥xg3, then 2..Bxfl17 3.%h2 2hlt
4.5bg2 Bglt—+.
2.9x£2 gxf21 3.8xf2 W57 4.l Was is
also hopeless for White.
2. Bxfl{!
(another 1 point)
Black gives his opponent no time for a
counterattack. On the other hand, 2...g2??
would even lose to 3.Bb77.
3.Sxf1 Wd1+



White resigned, in view of 4.®g2 W3t
5.0h3 (or 5.%gl ¥2#) S..g21 6.5bh2
gxh1=W#,

1.Eb8!
(1 point)
Black resigned, as 1..Wxb8 is met by
2.¥xh4 with a rapid mate.

Ex.7-8

Based on the game

1.8c8!
(1 point)
But not 1.8a81? &xa8 2.£c8, on account of
2..Wh1t 3.50h2 Wxb6—+.
1...Bxc8
1..¥Wb1t 2.%2h2 ¥xb6 is followed by
3.2xb7 Wxb7 4. ¥d6T Wc7 5.8a8 !+~
(1 bonus point for this variation)
2.Ha81! ®xa8 3.Wxc8t BbS 4.Wc6t Bb7
5.%a41!
5.We81 is not so good: 5...8b8 6.Wadt b7
7.Wa7t be6 8.Wc7t &b5 9. WxeSt+
5...88b8 6. We8++—

(another 1 point for this variation)

Ex. 7-9

H.Heemsoth — Heisenbutter
West Germany 1958

1.BcS!
(1 point)
Black resigned, faced with the prospect of
1..%xc5 2.Bxh7+! Hixh7 3.@g7#.
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~ Solutions

Paris 1925

1...He8!
(1 point)
White resigned, in view of 2.¥d1 ¥xf3f
3.Wxf3 Hxel# or 2.%xe8 Wxf37 3.@g1
@’gZ#.

7-11

" M.Basman — A.Balshan
Ramat Hasharon 1980

1.2g61!
(1 point)
1.dxe4? W4 t=
1...fxg6 2.¥h8+!
2.8xf8%? would be bad: 2..%xf8 3.Wh8+
hf7 4.Wxh7t e6 5.¥xe6t hd5—+
2...bxh8 3.Bxf8#

(another 1 point)

Ex.7-12

" Zhuravlev — Kapanidze
1977

1...8f5!
{1 poiny)
The threat is now ...¥f37. White resigned,
as 2.8f1 is followed by 2..We2 with a quick
mate.
(another 1 point)



Scoring

Maximum number of points 1s 22
- 19 points and above---»Excellent
11 points »Pass mark

If you scored less than 11 points, we recommend that you read the
chapter again and repeat the exercises which you got wrong.
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Opening traps

A trap is the provocation of a mistake. A trap always
involves a tempting or obvious reply by the opponent.
He is more or less invited to make an apparently good
move, but one which is rapidly and surprisingly refuted.’
— Neistadt

There are players who try to tempt their opponents
into a trap right in the opening, hoping to win the
game without any real effort. They simply learn
specific variations and do not bother with the main
systems.

Benign traps

If a trap is simply a by-product of natural development
and in no way hinders future logical development,
then we can call it a benign wrap. Here are two
examples of benign traps.

C57
L.e4 5 2.3 D6 3.8c4 D6 4.Dg5 d5 5.exd5
Diagram 8-1
5...0xd5?

This natural move is a well-known mistake. Despite
that, many players do not know their theory well
enough to avoid it!

5...8d4 would be better, as would 5...8a5.
6.d4!

Another dangerous move is 6.9)xf7!? dxf7 7. 93+
the6 8.8\ c3, but Black can still defend with 8...&cb4!
9. We4 c6 10.23 9ab.
6...exd4

The alternatives are:

a) 6...5xd4 7.c3!

b) 6..8¢7 7.5xf7 Dxf7 8.WFT &e6 9.6)c3
Acb4 10.We4 o6 11.a3 Da6 12.WxeST (12.82f4! is
even better) 12...%f7 13.5xd5 cxd5 14.8xd5t &f8
15.0-0+ (Leonhardt)

) 6..8b4t 7.c3 8e7 8.Dxf7 bxf7 9.Wf3t de6
10.¥e4 with a promising attack.

7.0-0
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Opening traps

White obrtains a strong attack.
7...8e6

7...8¢7 is answered by 8.Dxf7! bxf7 9. Wh5t+,
8.Hel ¥d7

Diagram 8-2

9.9xf7! sxf7

9..Wxf7 10.8xd5+—
10.¥f3+ hg8 11.Bxe6! Bd8 12.8g5

There is also the simpler, but equally strong 12.He4
hG (12...8a5 13.He8!+-) 13.20d2+.
12..Wxe6 13.8xd8 Welt 14.2f1 We6 15.8h4+
(Euwe)

L.e4 d6 2.d4 96 3.3 g6 4.3 £g7 5.h3

White wants to prevent the move ...&g4, but he
loses time. The immediate 5.2¢2 is a more popular
choice.
5...0-0 6.8e22!

6.8e31?
6...c5!

Diagram 8-3

7.d52!

‘This logical move is refuted in a thematic way.
7...b5!

Threatening ...b4.
8.8xb5

8.2xb5 HxedT
8..Dxed! 9.9xe4 Wa5t 10.2c3 fxc3t 11.bxc3
Wxbs5

Black is better.

There is nothing wrong with opening traps. They too
extend our knowledge of theory and form part of the
whole concept of development.

Bad traps

But sometimes players try to set opening traps which
are dependent on one single reply by their opponent.
If the opponent spots the trap and plays something
different, then the consequences are disadvantageous
for the ‘poacher’. We shall call opening traps like that
bad traps.
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Opening 1

C65

1.e4 €5 2.3 Dc6 3.8b5 DF6 4.d3 De72!
Diagram 8-4

Why can’t the pawn on e5 be taken? Can you see
the trap?
5.8 xe5?

5.89)c3 or 5.0-0 or 5.d4 are good replies. Black has
lost time by moving for a second time a piece that
was already developed.
5...c6!

A retreat by the bishop will be followed by the fork
6...¥a57.
6.8 c4 d6!

But not 6...cxb5?2? 7.2d6#.
7.8a4 b5F

And Black wins a piece.

C50

l.e4 €5 2.3 N6 3.8c4 Dd4?!
A typical trap. Black surrenders the pawn. Why?
Diagram 8-5
4.9 xe5?!

4.9xd4 exd4 5.0-0 leads to a better position for
White.

4.. g5 5.00xf7?

White is too greedy. 5.2xf7+ he7 6.0-0 Wxe5
7.8xg8 Exg8 8.c3» (followed by d4) is a better
continuation.
5...%xg2 6.5f1

After 6.9xh8 ¥Wxh1t 7.2f1 ¥xed4t Black is also
winning, since the knight on h8 is lost.
6..¥xedt 7.8e2?

7.We2 cannot save the game either.

7.Df3#

B17

1.e4 6 2.d4 d5 3.Dc3 dxe4 4.Dxed Dd7
Black wants to play 5...2gf6 and recapture with
the knight after 6.2xf6.
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Opening traps

5.We2
This move only hinders his own development and
shuts in the bishop on f1. Do you know this trap?

Diagram 8-6
5...Dgf622
Better is 5...e6 or 5...df6.
6.2d6#

It is not worth playing for such traps, since there is a
great danger that your opponent will either spot them
or know them. In any case, an opening repertoire
for the long term should be constructed on solid
foundations and not on a reliance on bad traps.

How do you spot a trap?
In general, you have to react very cautiously whenever
your opponent suddenly offers material in the
opening. Calmly check through all your opponent’s
active moves. By doing so you will probably soon
discover the trap — if there actually is one.

You should be on your guard particularly when
playing gambits, since they contain a lot of traps and
ways to go wrong.

Miinchenstein/ Basle 1959

1.d4 d5 2.c4 €5 3.dxe5 d4 4.e3?
Diagram 8-7

4.9)f3 is the correct move.
4..8b4t1 5.8d2 dxe3!

White should have seen this on move 4.
6.8xb4?

6.fxe3 is perhaps not very attractive positionally
(White has doubled and weak e-pawns), but it would
still be the better solution.

6.%a47t is met by 6..0c6 7.8xbd exfP2t 8.%0xf2
Wh4t 9.%e2 Wxcdt7.
6...exf2 7.Re2 fxgl =D 1!

The only way to victory for Black is this
underpromotion.
8.%el

8.8xgl =%g4'}'—+
8..Wh4t 9.2d2 £c6 10.82c3 Lg4
0-1
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Solutions

Vienna 1914

led €5 2.3 Q6 3.Hc3 25! 4.Dxed!
Nxed 5.d4 fxd4 6.Wxd4 WfG?
Diagram Ex. 8-1

By threatening ...2\f31 Black sets a primi-
tive trap. But here the hunter becomes the
hunted!
7.2b5!

(2 points)

7.8€3 (only 1 point) is not so aggressive. Of
course 7.2)d5?? would lose to 7...2f37.
7...50d8?

7...c6 would be an improvement:

a) If 8.Hc71! $d8 9.8xa8? (better is
9.2g5 Wxg5 10.9xa8+-), then 9.. 31—+

b) 8.0d67! Be7 9.9 51+~
8.%cs!

White threatens both ¥{8# and Wxc71.

QOdessa simultaneous 1918

1.d4 d5 2.83 ¢5 3.8f4 cxd4 4.2xb8 Bxb8
(better is 4...Wa51) 5.Wxd4 b6? (Black should
prefer 5...e6 6.Wxa7 £d7%) 6.e4! dxe4
Diagram Ex. 8-2
7.¥xd8t! xd8 8.8)e5
(1 point)

The threats are &xf7t and &c6t, and
8...50e8 is met by 9.8b5F+—,
1-0

Estonian Ch., Tallinn 1933

l.ed 5 2.4 d5 3.exd5 e4 4.d3 Wxd5 5.6d2
exd3 6.82xd3

Diagram Ex. 8-3
6...@’xg2??
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Black does not see the trap! Better was
6...016.
7.8e4! We4 8.Wixgd Qxgd 9.8xb7
1-0
(1 point for finding this refutation)

Ex. 8-4

D35

1.d4 d5 2.c4 e6 3.9c3 D6 4.8¢5 Dbd7
5.cxd5 exd5
Diagram Ex. 8-4
The d5-pawn cannot be taken.
6.0xd52?
Better is either 6.f3 or 6.¢3.
6...Dxd5! 7.£xd8 £b4t 8.Wd2 Bxd8—+

(1 point for this variation)

San Sebastian simultaneous 1944

l.ed eS 2.3 &c5 3.8c4 De7 (better is 3...d6)
4.d3 Dbc6 5.%Wh5 0-0 6.2g5 We8 7.3
Dg6?? (7...d6) 8.80d5 £b6
Diagram Ex. 8-5
9.9f61! gxf6 10.8xf6
(1 point)
White plays ®h6 or &g5 nexc.
1-0

Ex. 8-6

A.Tolush — L.Aronson
USSR Ch., Moscow 1957

1.d4 d5 2.c4 Dc6 3.cxd5 WxdS 4.063 Led?
(better is 4..e5!) 5.90c3 Wa5 6.d5 0-0-0
7.2d2! &xf3 8.exf3 Db4?
Diagram Ex. 8-6
9.a3!
(1 point)

9.2.c4 Wc5 would not be so clear; nor would
9.¥b3 e6 — 1 consolation point for cither of
these suggestions.



Solutions

9...0xd5 10.Da4!
1-0
(another 1 point)

Ex. 8-7

Wijk aan Zee 1971

l.cd €5 2.80c3 Q6 3.9f3 &6 4.g3 £b4
5.0d5 9xd5S 6.cxd5 e4??
Diagram Ex. 8-7
7.dxc6
(1 point)
7...exf3 8.%b3!
(2 points)

But not 8.cxd7t? £xd7 9.exf3 (or 9.¥b3
8c6! 10.Wxb4 fxe2—+) 9...0-0 10.2e2 £h3!
with an attack for Black.

Black now resigned. Because of the
possibility of cxb7, Black cannot save his
bishop on b4:

a) 8..fxe2 9.8xe2 (or 9.8g2+-) 9..a5
10.a3+—

b) 8..We7 9.a3 fxe2 10.&xe2+—

8.8xf6! £xf6 9.2d5+—
(1 poing)
9...226 10.£xa8 d5 11.c4 dxc4 12.0-0 cxd4
13.exd4 £xd4 14.%xc4
1-0
Ex. 8-10

S S S

U.Andersson — D.Velimiro
Bar 1997

l.e4 €6 2.d4 d5 3.8)c3 b4 4.8 ge2 dxed 5.a3
£e7 6.Dxed D6 7.g3 D6 8.2g2 €5 9.9xf6F
£xf6 10.d5 De7 11.8)c3 &f52
Diagram Ex. 8-10

Nothing is achieved by12.d62! in view of
12...¥xd6. A positional move such as 12.9)e4
(1 consolation point) only gives White a slight
advantage. The move in the game wins one of
the two bishops.
12.g4!

ic

(2 points)

Black resigned immediately, as after

12...82¢6 White wins the bishop on f6 with
13.g5.

Chartres 1990

l.e4 €5 2.3 Dc6 3.8c4 D42 4.0xd4 exd4
5.0-0 £c522

Diagram Ex. 8-8
6.8xf71!

Another good option is 6.Wh5 We7
7.8xf71! Hf8 8.8xg8+ (also 1 point).
6...2xf7 7.8h51 g6 8.¥xc5+—

(1 point)

Antwerp 199

1.d4 &6 2.9f3 g6 3.2g5 £g7 4.83bd2 0-0
5.3 d6 6.8c4 ¢5 7.c3 b6?2?
Diagram Ex. 8-9

83

Yangon 1999

l.ed g6 2.d4 g7 3.3 d6 4.Df3 Dd7 5.8c4
c5%
Diagram Ex. 8-11
This was very careless play and now Black
is presented with the bill. In the opening you
should never let your attention stray from the
£7-square.
6.@g5!
(1 point)
This is even stronger than 6.2xf7+ (1 con-
solation point) 6..Rxf7 7.80g51 $e8 8.9e6
(8.¥f32 df6!) 8...Wa5 9.8)xg7 T f7.
6...2h6
After 6...e6 comes 7.8xeG! fxe6 8.9)xe6
(another 1 point for this variation)

8..We7 9.5Yd5! Wxe6 10.6)c7T &f7 11.8)x%e6



Solutions

xe6 12.dxc5 dxes 13.Wd5F+—.
7.8xf7+!

(another 1 point)
7.0xf7 8.De6+— Wb6 9.Dxg7t A8
10.2e6t
1-0

Russian Team Ch., Tomsk 2001

Led c5 2.3 Dc6 3.8b5 €6 4.0-0 Dge7
5.8el a6 6.8xc6 Dxc6 7.d4 cxd4 8.Dxd4
Wc7 9.8xc6 bxe6 10.e5 £b7 11.d2 52!

Scoring

Maximum number of points is 20

12.9c4 &d5:?
Diagram Ex. 8-12
13.2d61!
(1 point)
The move order cannot be reversed: if
13.%xd5? exd5 14.9)d6t, then 14...5ke7
15.8¢51 $e6 16.f4 £xd6—+.
13...8xd6
Or 13...80e7 14.%h5+—.
14.%xds!
(another 1 point)
14.exd6 would not be so strong, due to
14..%b7.
Now 14...exd5 is followed by 15.exd6¥.
1-0

17 pOil’ltS and abovem~-~~-~~~~-~---~~~>Excellent

»Pass mark

10 points

If you scored less than 10 points, we recommend that you read the
chapter again and repear the exercises which you got wrong.
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The use of traps

In Chapter 8 we looked into various opening traps,
but it is not only in the opening that traps are
dangerous. You can also tempt your opponent into a
trap in the middlegame or endgame.

The trap is also an important weapon in defence.
Many players often make mistakes just before the
end of the game, because their concentration flags
and they do not take into account possible moves for
their opponent. It is often worth fighting on in an
apparently hopeless position. In any case, you should
at that point try to set a trap for your opponent. (You
can also find some examples of this in Build Up Your
Chess 1, Chapter 17 — ‘Stalemate motifs’.)

World Ch(7), Paris 1909

Black resigned here. Although the position is of course
objectively lost, his decision can still be criticized.
After all, Black could still set a hidden trap for his
opponent. He should have tried:

1...c5!

Hoping that his opponent would not spot the
cunning trap in time. 2.2d5? is met by a drawing
combination: 2..Exf31!! 3.9xf3 &xedt 4.%xed and
stalemate!

On the other hand, there is the very strong
counter:

2.8b7!+-

Linares 1990

White’s position looks hopeless. He is even going
to lose the e4-pawn. Despite that, White fights
on and sets two traps for his mighty opponent.
Unfortunately such a strategy has hardly any real
chance of succeeding against World Champion
Kasparov.
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The use of traps

16512 gxfs!

But not 1..Bxe4? because of 2.f61 ©h6 3.Exed
f8xed 4.e6 £d5 5.e7 £c6 6.h4 g5 7.h5=.
2.exf5 Bxe5—+ 3.BEd2 Ra4 4.®g3 He3t 5.%0h4
£bs5

Diagram 9-3
6.Bd5!

The second trap. What has White prepared against
6.2
6..2d3!

If 6..8f12, then 7.f61 &f8 (7..2g6 8.8Bg5t=)
8.8d8+1 Ee8 9.Bd1F with some practical chances for
White, since the black king is not too well placed on
the 8th rank.
7.8c5 h6 8.82c3 Bf3 9.8b3 Re2 10.Eb2

10.8xf3 &xf3 11.dbg3 &d1 12.%f4 £6 13.h4 hS
14.g5 &c2—+
10...8f1 11.8h2

From here on there is no more doubt that Black
will win the game.

11..266 12.2h1 ®e5 13.2h2 6 14.Bh1 Red
15.8h2 sbf4

White is in zugzwang.
16.2h1 £g2 17.8h2 Eg3
0-1

Diagram 9-4

Rostov-on-Don 1937

Here too, it looks as though White has no chance.
But he still comes up with an idea.
1.Wag1? Bxg3?

Black does not spot the trap.
2.Bxg3 Wxg3?

2. Bxf1t 3.50h2 82+ would have been enough for
a win.
3.Ma1 il

White saves the game, because after 3...Exal there
is 4.h61! with an unavoidable stalemate.
1h-15

Of course you can also set traps in better or level

- . . < . 3
positions. But the best option is to employ ‘benign
traps, so as not to weaken your own position. In that
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Calculating variations 1

way you do not take any unnecessary risks if your
opponent discovers the trap in time and chooses
a different route. Moreover such benign traps are
harder to spot than a ‘bad’ trap, which often involves
an unnatural-looking move, which therefore stands
out. An experienced opponent will then quickly
become suspicious!

Diagram 9-5 Diagram 9-5

’//’//
///

Pilskalniete — Berzinsh
Riga 1962

Black can achieve no more by normal means, since
the white rook is very active. So he sets a trap.
L..£4112 2. e

2.%e2= was required.
2..82d6! 3.8xa7t

Or 3.8xd6 ©xd6 4.a6 Re6 5.82d3 &d5 6.8e2
(6.59¢3 ed—+) 6...50ch—+.
3...2¢6

And White cannot ward off the threat of ... Ed4#.
0-1

e DNW A N N 00

Diagram 9-6

% / 7/ :/ T ———
& % "y O Vienna 1898
. //% 4
% White sets a subtle trap.
1.sbh2!
This move is also objectively very strong. The threat
is now Exf4.

The immediate 1.Bxf4? would be bad, due to
1..8xclt 2.0h2 ¥d1—+.
1...Bxcl

The alternatives 1..¥d4 2.2e3+— and 1..&8e2
2.8£8% ¢hh7 3.¥d3%+— are no good.
2.8xcl He2

Better is 2..%d4 3.9e8+ (but not 3.8xc6?! &e2
4.We1 West 5.g3 Wh522).
3.We5 Dxcl

Now 3...¥d4 leads to a lost endgame.
4.5 e8!

Black had not reckoned on this move. He has no
sensible defence against ¥xg7#.
1-0
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The use of traps

Diagram 9-7

Russian Ch., Vilnius 1912

1.0-0-0!

This natural move is linked to a trap. In the game
Black saw the trap and played:
1..8d6x

White wins very prettily after 1..cxd4? 2.exd4
Hxd4? with 3.8xd4! ¥Wxd4 4. Wxe6t Hd7 5.Wc6H!
bxc6 6.2a6#.

Find the trap!
In the examples which follow, the first thing you
should do is to try to discover the trap for yourself.

S S e e e S e s s B s

USSR Ch., Moscow 1955

White wants to play for a win and falls right inco the
trap!
1.Seg42?

If 1.2h4, then 1..We2. The only way for White to
play on is with 1.82h2 We2t 2.dbg1+,
16511+

After this move, White is mated: 2.gxf6 (or 2.%h4
Whi#) 2.. W51 3.%2h4 Wh5#

White had only considered 1...%f51? 2.¢bh4 ¥f3,
which is followed by 3.%d8t ®g7 4. Y9061 Wxf6
5.gx{6 Dxf6 6.¢6 He6 7.@?g5 and White wins.

Diagram 9-9

Dresden Olympiad 2008

Can Black exploit the pin on the €3-pawn?

The correct answet is no, and he even has to play
very carefully. After, for example, 1...¥e6 2.Beel the
position would have remained level. But in the game
what happened was the over-optimistic:
1...f422 2.¥o6t!

Or 2.8xf4 gxf4 3.¥g61+-,

2...518 3.8h7

Threatening Wg7#.
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Calculating variations 1

3..fxg31 4.0f1 Be6 5.¥g71
Black is now facing mate in two moves.
1-0

In the exercises which follow, you should be trying
cither to set a trap, or to spot one and draw its teeth!
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Solutions

Thessaloniki Olymplad 1984
1...%2c6

(1 point)
1..%c5 is just as good. But not 1..g3?2?
2.Bxg3 Bxg3 stalemate.
0-1

Brmsh Ch., Torquay 2002

‘The correct move is 1...c5F.
(1 point)
However, the f2-pawn is poisoned:
1.Bxf222 2.8xd5 exd5 3.Ded!!
4.Dxf61! gxf6 5.Hxc2+—

White has obtained a material advantage.

Bxc2

(another 1 point for this variation)

Belgrade 1961

1.Be5%22
A check is not always a good thing! The
correct move was 1.2a4!.
(1 point)
White can then meet 1...80f2 with 2.Bf4t+—.
(Similarly 1.Ba6, 1.Ba7 and 1.Ha8 also win.)
1...2R2
White cannot now ward off the threat of
2..Bh1t 3.8xh1 & fl#.
0-1
(1 bonus point for this variation)

Ex. 9-4

onner — E.Spaniaard
Holland 1961

1.8ha72?
Black does not see his opponent’s idea. It is
astonishingly easy to lose a won game if you
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don’t pay attention to what your opponent is
doing!

The correct continuation would be, for

example, 1.Bf7+ ®e3 2.h6+—.
(1 point)

But you also get 1 point if you saw the
following variation and dealt with the threat
in a different way.
1..2Bh11! 2.8xh1 g3

Black threatens Bel#.
0-1

Ex. 9

-5

Novosibirsk 1976

1...e3!
(1 point)

A final trap.
2.Bxb4?

The last move before the time control! The
simple 2.fxe3+— would have been correct.
2...e2

And Black constructs a fortress: 3.8ed £xf5
4.gxf5 hd!=
-1/

(another 1 point for this variation)

Krasnojarsk 1980

There is a simple win by 1...82c3—+.
(1 point)
But what happened in the game was:
1...8e32
Whereupon  White actually  resigned,
instead of forcing the draw with 2.2h77! &3
(2..8xf4 3.8g8t=) 3.8c4tl=.

(1 bonus point for this variation)



Solutions

1.Be2!
(1 point)
1.a6 $xf3—+ would be hopeless.
1...Bxa5?

Black could still win the game with 1...Ha4!?
2.8¢2 (or 2.2f2 g3—+) 2...Hal and White is
in zugzwang.

(1 bonus point)
2.Ba2!
(another 1 point)
2...8xa2 stalemate

Ex. 9-8

" A.Vyzmanavin — K.Lerner
USSR Ch., Lvov 1984

1...Ba312
(1 point)
A final trap, which surprisingly led to
success. If 1...86d5, then 2.¢2d2=.
2.5hd222
2.86b2!= would be the correct move.
2..h2! 3.5ke2
3.8xh?2 loses to 3...Ba27.
3...Hal!
0-1

Ex. 9-9

" M.Ruderfer — M.Dvoret
Odessa 1972

1.e7 £d7 2.8d8+— would be correct.
(1 point)
White did not spot the trap and played:
1.Bxc822
There followed:
1..Bg2t!= 2.¢hd1
The bishop cannot be taken until the white
king goes to the e-file: 2.%e3 Hxgb= and 3.¢7
is met by 3...BeGt.
(1 point if you saw the trap!)
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2..8glt 3.2 Bg2t 4.82c3 Bg3t 5.%b2
Bg2t 6.%a3 Bg3t 7.%a2 Bg2+ 8.%al Hglt
9.5bb2 Bg2t 10.%b1 Bglt 11.8c2 Bg2t
12.82c1 Bglt 13.82d2

-1

L.8xc72

1.82e3 Ded 2.g4= would be better.

(1 point)

You also get 1 point if you saw the following
trap and suggested a move other than
1.8xc7?2.
1...@g41‘!

White resigned, faced with 2.hxg4 Eho6t
3.cg1 Bd1#.

(another 1 point)

Kiev 1979

The following variations show that it is not
easy to defend the black position:
a) 1..8xb5 2.8xbS Wa5 3.Hec3? Hxa2
4.5)\xd6+
b) 1...a6 2.2xd7 ¥xd7 3.a3+
o) 1..Bc8 2.8xd7 Wxd7 3.&xa7+ (3.232
a6 4.8xa7 b52)
d) 1...f6 2.a3 Da6t
(2 points for any of these moves)
In any case, your move is better than the
combination played in the game!
L...2xa2?
(1 consolation point)
2.%xa2 a5+ 3.92b3! £xb5 4.5al
1-0
(1 point if you found this idea!)



Solutions

Ex. 9-12

S

~List— Heiman
England 1951

1...e22
1...2b4! 2.8e8= was necessary.
(1 point)
2.Bb3!
Now Black is mated after 2...c1=¥ 3.Ea3t
£xa3 4.b3#.
(another 1 point for this variation)
1-0

Scoring

Maximum number of points is 23

- 20 points and above---»Excellent
16 points and above-m Good
12 points »Pass mark

If you scored less than 12 points, we recommend that you read the
chapter again and repeat the exercises which you got wrong.
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Stalemate combinations

We have already seen a lot of stalemate combinations
in Build Up Your Chess 1, Chapter 17 and in
Chapter 9 above. But in praxis these stalemate ideas
are frequently overlooked. Sometimes a stalemate
combination can help you save a position which is
almost lost.

Diagram 10-1

" PKeres — R.Kholmov
USSR Ch., Moscow 1948

1.¥e7+ h6! 2.Wxf6 Wh3

White did not spot the danger of stalemate and
played:
3.%g1?

3.%9e2 would have been correct. There now came
the surprising;
3...@g41‘!!=

White must ecither take on g4 and stalemate his
opponent, or give up the a4-pawn. There is no way
to avoid the draw.

If there are only a few pieces left on the board and
if the king and pawns are unable to move, then
you must pay particular attention to stalemate
combinations.

Diagram 10-2

" Sadarov — Kudriashoy
Alma-Ata 1958

White was not paying sufficient attention here and
carclessly deprived the black king of all its available
squares.
1.Ded?

1.83d3 1+~ would have been the correct move.
1...Bxc4!!

This leads immediately to a draw, because the white
bishop has no good retreat square. And if it takes the
black rook, then Black is stalemated.

YoV
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Stalemate combinations

It is often necessary to decoy the opposing pieces
onto specific squares, in order to engineer a
stalemate.

Diagram 10-3

St Petersburg 1896

White’s last move was Bd1 and Black did not see the
trap and played ..2d7-h3. On the kingside, only
the bishop on el can move. This ‘problem’ is soon
disposed of.

1.8xd8t xd8 2.Wd 111!

The black queen is lured to d1, from where it pins
the bishop on el, resulting in a spectacular stalemate.
2...¥xd1 stalemate
Ya—Va

One special case of stalemate combination is the so-
called ‘desperado’ rook.

Moscow 1950

1.Bd4!+— would be correct here, intending £h4. But
White played:
1.8d3?
Black now demonstrated a typical defence, based
on stalemate.
1...2b8! 2.%xc2 h2! 3.8h3 h1-¥ 4.8Bxh1 Bb21!=
This activates the desperado rook. White cannot
take the rook on account of the stalemate and so it
follows the king all over the board, endlessly offering
itself up as a sacrifice.

Some stalemating constructions are set up in a very
clever way. In the following position from a blitz
game, even World Champion Michael Tal overlooked

the stalemate defence.

Diagram 10-5

97

—_ N W R N N X

S I - N, B = S e o)

Diagram 10- 3




Diagram 10- 5 V

/

%
abcdefgh

— N W A th O

<

Diagram 10-6

T T T
% B %/aé
// // _

(SN \® B VL B Y - s e )
<

Tactics 5

SR ‘Hv"‘zﬂq;ei‘;«l\)?*‘_“ ﬁ:x:?’z;x:?{#&:_%&ﬁ“w. S
Leipzig (blitz) 1960

1...8xe4!
White now took the bishop.
2.8xe42?
The simplest way to win was 2.8a7! 8xd5 3.Exh7+
o8 4.8ag7T Lf8 5.2h8T.
But next came the unexpected:
2...Wxb21! 3.%xb2 a3t
And then stalemate.
1h-15

Stalemate defences are frequently found in queen
endings.

Di

B ‘I‘Hausner D. Doncev1c
Prague 1985

A typical stalemate set-up.
1.. W21 2.Wxc2
Ya—1fs

Here are some other examples to illustrate the various
stalemate mortifs.

Diagram 10-7

Barmen 1905

1...Eb8! 2.8xb8
15-1)

Diagram 10-8
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Stalemate combinations

Moscow 1946

Black is able to survive against the far-advanced
connected passed pawns.
1..Bd7! 2.8d5

2.cxd7 is immediately stalemarte.
2...8b7!
-1

Once again capturing the rook delivers stalemate,
and otherwise Black will play 3...Exb6 with a simple
draw.

Diagram 10-9

N "a:ii% R
New York 1923

Marshall finds a fantastic combination.
1.Eh6! Bxh6 2.h8=¥1! Bxh8 3.b5!!=

Although it is Black’s move, he cannot prevent
the stalemate. 3..Bd7 4.cxd7 does not change the
situation, as the threat is then d8=¥ followed by
stalemate. Black cannot continue 4...c5?? because of
5.bxc6, when White would win.
)

Diagram 10-10

oltau — R.Simon

Berlin 1987

1..%b71!

But not 1..Whit? 2.4 Wh2t (here 2..2f5% is
met by 3.%xf5! and White wins) 3.Wg3+—.
2.6

Or 2.@g3 g5t 3.0h4 (however, certainly not
3.h22 Wo2#) 3. .BhST 4.50g3 HgST 5.0f4 BfST
transposing to the game continuation.
2...Bf511 3.Wxf5

3.¢hxf5? is bad, in view of 3...Wh7+ 4.¢he6 Wxd3.
3.. 9131 4.50e5 Wd5+
r-1hp

Diagram 10-11
99
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Tactics 5

Lukanin — Schmuljan
Taganrog 1938

1...c4!! 2.dxc4 c5!
A rare idea in a practical game. Black wants to wall
in his own king!
3.cbg4 7!
The king is aiming for a4.
4.0f5 b6 5.8xe5 Ra5 6.82d5 a4 7.8xc5 a5
And then stalemate.
-1
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Solutions

Bratislava 1956

1...8c61!
Decoying.
2.¥xc6 Bgl+! 3.%xgl stalemate
(1 point)

Ex. 10-2

1922

1.Be81! £xe8 2.00e7T 2B

Or 2...52h8 3.9)g61!=.
3.Dg61!

(1 point)

If Black takes the knight, White is
stalemated. If not, White keeps on giving
check.
3...hxg6 stalemate

New York 1963

1.¥g81!
(1 point)
1. Wh8tl= is equally good. However,
1.8xg71? would be bad, due to 1..Wxg7
2.¥o8+ hG and Black is winning, e.g.
3.We6T Dxe6 4.64 W24,
1...@xg8
But not 1...2h6?? 2.Wh8T the6 3. Wxg7#.
2.Bxg7 1=
(1 point)
Another route to the draw is 2.2f81! &h7
3.8h81 g6 4.8h6+ Rf7 5.8f6T e7 6.871=
(also 1 poinu).
2.8
2..Wxg7 is stalemate; 2...$bh8 is followed
by 3.Bh77=.
3.8f7+

The desperado rook will continue pursue

the black king.
11l

Groningen 1946

1.Bxb2! Bh2t
Or 1...5hg4 2.%f1=.
2.5bF3 Bxb2 stalemate
(1 point)
We saw the same idea in Ex. 9-1.

1.2e3!
(1 point)
But not 1.axb5? axb5 2.8£e3 Wxe3 3.Wf2,
on account of 3..Wc5!—+.
1..%xe3 2.¥12! Wixf2
Now 2...%¢5?2? would lose to 3.a51!.
3.a5%!
And then stalemate.
(another 1 point)

Budapest 1951

1..Eb1t 2.2h2 Bh11! 3.¢bxh1 Hg31!
(1 point)
4.fxg3
Of course not 4.59h22? Hxf5—+.
4...@’xg21'!
(another 1 point)
4. Wc11?? loses to 5.2d1! since the black
g-pawn can now move, meaning there will no
longer be a stalemate.

5.§§?ng stalemate
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Solutions

Ex. 10-7
The end of a study by

F.Lazard O RN AT RN

1916

1.c3!!
(1 point)
But not l.c4? &d8 2.c5 the8 3.¢c7 de7
4.%0b7 d6—+.
1..2d8 2.c4 Pe8 3.c5 ©d8 4.f6! gxf6
stalemate
(another 1 point)

Ex. 10-8

G.Kluger — B.Sandor
Hungarian Ch., Budapest 1954

1...seg3!
(1 point)
Threatening Bal#.
2.8g8+ bh3 3.d2g1
3.a8=W is followed by 3..Ealt 4.Wxal
stalemate.
(another 1 point for this variation)
3...Hg21!
An elegant finish, but the prosaic 3...Exa7
would also be enough for a draw.
-1

Ex. 10-9

Novosibirsk 1972

1.Ad6H!

(1 point)
But not 1.8¢c5%? because of 1..2b8!
2. Wixf4t a8 3.Wxh2 bxcS5—+.

1...%¥xd6
1...80a72? even loses after 2.Wf7+.
2.8Be71!
(another 1 point)
2..¥xe7

2..58b8?22 3. W84 -

3.8 7+

Activating the desperado queen. The
alternatives  3.Wc6t!, 3.Wc8T! or 3.WaGt!
would be just as good.

-V,

1.8e41! Wxed 2.Wg71!
(1 point)
Or, for example, 2.¥h71!=.
La-1)

1.Bh71 g3 2.He7!=
(1 point)
But not 2.8h3%?? xh3—+.
2...8xe7 stalemate
Or 2...Ea8 3.Ha7!= with a desperado rook.

Ex. 10-12
The end of a study b

2000

1.g3!
(1 point)
Otherwise the rook ending would be lost:
1.Re2? thxb6 2.82d3 dcs5 3.80c3 Rd5 4.50b2
hed 5.Hel T D4+
1...82xb6 2.52g2 b5 3.82h3!
(1 point)
3...5b4 4.Exa2!
(another 1 point)
4...Bxa2 stalemate
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Scoring

Maximum number of points is 20

- 18 points and above--»Excellent
. 15 points and above-m Good
11 points » Pass mark

If you scored less than 11 points, we recommend that you read the
chapter again and repeat the exercises which you got wrong.
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The semi-open file

In this chapter we shall discuss a strategic theme that
is logically linked to the theme of the ‘open file’. We
already know what an important role an open file can
play in a game.

Often, occupying a semi-open file promises even
more advantages than was the case with an open
file. Unlike in the case of an open file, an opposing
pawn is present on a semi-open file. This pawn is
then frequently reduced to being an object of attack
for our major pieces. The pressure exerted against a
backward pawn can either lead to the win of the
pawn or it can force your opponent into passive
defence. Then you can look for other objects to
attack in order to overload your opponent’s defensive
resources.

L YUSUPOVv — f\.
Horgen 1994

1.d4 d5 2.c4 dxc4 3.e3 5 4.8xc4 oxd4 5.exd4 ¥c7
6.2b3

6.£e2 is much more passive.
6..8g4

This tactical trick forces White to weaken his
kingside. But in return he obtains a slight lead in
development
7.03 £d7 8.2e2 Df6

8...e6, intending £d6, would be safer.
9.20bc3 g6

Here t00, 9...e6 10.£f4 £d6 would be better. But
Miles preferred to fianchetto his bishop.
10.8g5 8g7 11.8c1 ¥d8 12.0-0 0-0

Better is 12...0c6!2.

Diagram 11-1

13.d5!%

This move fixes the pawn on e7. White gets a good
object of attack on the semi-open e-file.
13...0a6 14.%2h1 D7k

Or 14..8¢5 15.&c24.
15.2el Qb5?

It would be better for Black to bring this knight
to d6: 15...8ce8 16.9g3 Nd6 17.8c21? Bc8 18.8ce2
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The semi-open file

He8 and White has only a minimal advantage. He is
exerting pressure on the e7-pawn, but Black has no
other weaknesses.
16.2xb5 &xb5 17.9c3 La6

Diagram 11-2
18.Wd2+

The black bishop is not well placed on a6. It may
control the e2-square, but that is not enough to
prevent the doubling of the rooks.
18..¥d7 19.De4! Dxe4 20.Bxed Bfe8 21.Bcel

After the exchange of knights the black position
looks even more endangered: the pawn on €7 is under
massive attack.

21..88

21...2f6 does not solve the problems. White plays
22.8x16 exf6 23.d6 Bxed 24.Hxed BdS 25.h3!+— with
the threat of Ee7.

Diagram 11-3
22.2h6!

This is even better than 22.%We3 Hac8. After the
exchange of the dark-squared bishops, the black
castled position will also be weakened.
22..Md6

Black gives up the e7-pawn.

22..8d3 23.Wxd3 £xh6 would lose to 24.2a4.
While afrer 22...2xh6 23.¥xhG WS there follows
24.8h4 g5 25.8g4+—.
23.8xf8 Exf8

23...0xf8 24 MhGT+—
24.8xe7 Hac8 25. %W d4+—

The pawn on a7 is also under attack. White is
winning.
25...Bfd8

25.. Wxe7?? 26.8xe7 Belt 27.2d1+—
26.h3

In an open position, an escape square for the king
can be very important.
26...8c1 27.8xcl ¥xe7 28.Wxa7 Wes

Or 28..Wo5 29 Hel Wd2 30.We3 Wxb2 31.We7
818 32.d6+—.
29.%b6 Bd6 30. %2

With two extra pawns, the game is an easy win.
30...2b5 31.2el W6 32.Wg3

Intending We5.
32...2d8 33.Wc7 £d7 34.d6 Wh4
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Diagram 11-4

It

h
Diagram 11-5 A

Strategy 2

34...8xh3 is followed by 35.8xf7t bh8 (35...2f8
36.We7+; 35...0g7 36.8e67) 36.Wxd8t+—.
35.8e4 Wg5 36.8xf71!

In time trouble White avoids the complicated
variation after 36.He7 Hc8.
36...f8

If 36...80xf7, then 37.He7t b6 38.Wc3++—.

After 36...80g7 there follows 37.£e6+—.
37.8¢6
1-0

Tel Aviv Olympiad 1964

White controls the centre. He now offers an exchange
of bishops in order to weaken Black’s king position.
1.2d4 d6 2.20d5

A good place for the knight. If Black later plays e6,
he will weaken the d6-pawn.
2..¥d8 3.8xg7 Sxg7 4.f4

White prepares an attack on the kingside.
4..8¢6 5.f5 8xd5

Diagram 11-5

How should White capture on d5?
6.exd5!

White obtains a semi-open e-file and can attack the
¢7-pawn. Since Black must look out for his king, he,
for his part, has very little time to aim for genuine
counterplay down the semi-open c-file.

6.cxd5?! Wb6t 7.8f2 Hac8 would have allowed
Black counterplay on the c-file.
6..¥b6t 7.8f2 £6 8.Ec3!2

White brings the rook into the attack via the third
rank. The simple move 8.Bel also looks very good.
8...2ac8 9.We4 Ec7 10.¥g4 WcS 11.b3

Diagram 11-6

White wants to play &g3 in order to provoke the
move ...g5.
11...g52

11...b5! was necessary. After 12.8g3 (12.fxg6! hxg6
13.8g3 g5 14.Wf5 with the threat of Exg5T is better)
12...bxc4 13.fxg6 Black can reply 13...h6L
12.h4
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The semi-open file

Black can no longer defend his kingside.
12...h6 13.¥h5 Eh8 14.2h3

The threat is hxg5 followed by ¥g6t.
14...Eg8 15.Wg6t &f8 16.¥xh6t f7 17.8g3 g4
18.%h5+ f8 19.8xgd+— Bxgs 20.¥xg4 b5 21.h5
We3 22.Wf4

Two pawns up, White has nothing against an
ending.
22..%d3 23.83 Wd1+ 24.2h2 bxc4 25.h6

This pawn decides the game at once.
25...8c8 26.h7 &f7 27.%h6 Bh8
1-0

The second advantage of the semi-open file is that
your opponent cannot organize his rooks in order
to initiate an exchange of rooks. We do not open
this file until the moment comes when it is to
our advantage; for example, when we have already
doubled our major pieces on the semi-open file. One
of the typical plans is to advance our pawns in order
to force the exchange of the pawn which is under
attack, thereby opening the file.

Diagram 11-7 Diagram 11-7 AN

%/g@@@ 3

USSR Ch., Leningrad 1947

At first glance White cannot exploit the semi-open
c-file. But Keres finds an inventive plan to support
the cl-rook.

1.2h4!

White opens the long diagonal for his bishop. It
will be a powerful aid to the rook.
1...8d7

1...2b7 is met by 2.b4! (or first 2.25).
2.e3!

White prepares a breakthrough in the centre. There
is also the threat of Wh5+.

If 2.b4?!, instead, then Black gets sufficient
compensation for the exchange after 2..2xb4
3.82xa8 Wxa8.

2...0-0 3.d4+ exd4 4.exd4 Ec8

— N W A L N
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Strategy 2

Diagram 11-8
5.dxc5!

White opens the game even more.

After 5.d5 Keres saw that Black could play 5...2\d4
6.8xd4 cxd4 7.¥xd4 b5 followed by ...20d6 with
some defensive chances. (Even better is to first play
7...£a3 and only after 8.8cd1 to then play 8...23b5.)
5..b5 6.8c3 f5

6...8xc5 is bad, due to 7.8)xb5.
7.8c2!

This is even stronger than 7.9f3 &f6.
7...8xh4 8.8d2 Bf7

8...b8 runs into 9.c6+-.

And if 8...8e5, then 9.gxh4+—.
9.gxh4!

The simplest solution. The threat is now 2xc6.

9.8xc6 2xc6 10.Hxd8+ Exd8 would still leave
Black with some practical chances.
9..0e6 10.8xb5 Dxc5 11.2d6+— He7 12.8xc8
Wxc8 13.8a3 Ded 14.8xed fxed 15.8xe7 Dxe7
16.8xd7
1-0

In the exercises you should try to exploit a semi-
open file. If you are not sure that you have found a
real solution to the problem, then just indicate what
you believe to be the best move. Making a decision
is important! Then you can compare your variations
with the solution in the book. Practice makes perfect!
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Solutions

Ex. 11-1

s s

Smyslov — L.Shamkovich
USSR Ch., Baku 1961

1.e5!
(1 point)

You also get 1 point for 1.f5! intending to
meet 1..We5?! with 2.0f4 gxf5 3.8d5 b2
4.82 Wal 5.0e6+—.

Neither 1.8d2 &d4£ nor
1...23d4x would be so strong.
1...%h8

1...fxe5 is followed by 2.8)c7 ¥c8 3.2d51
Hh8 4.9e6+.

(another 1 point for this variation)

If 1...dxeS, then 2. Wxc5+.
2.0c7 ¥d7 3.exd6 exd6 4.2b5+

White increases the
backward d6-pawn.
4..Bfe8 5. W2 Hd42!

5..He6 is answered by 6.f5 gxf5 7.¥xf5+
and Black would then have another weakness
on 6.
6.Dxd4+— 8xg2 7.Wxg2 xd4 8.Bxd4 He3
9.2fd1 We6 10.21d2 h5 11.c5 d5 12.b4
a6 13.a4 Bg7 14.84d3 h4 15.gxh4 Eh8
16.8xe3 ¥xe3 17.¥f2 Wb3 18.c6 Hc8
19.¥¢5 Wixad 20.We7t £h6 21.8g2
1-0

l.a3 (Ab4)

pressure on the

Ex. 11-2

V.Smyslov — E.Cornelis
Skopje Olympiad 1972

l.exd5
(1 point)
This move is stronger than l.cxd5 aSZ.
White now obtains an object of attack on the
semi-open e-file — the e7-pawn.
l..a5 2.8c2! Bc7 3.0a3 W82 4.2b5
Bb7 5.9xd6! exd6 6.¥xf6+— Wd8 7.¥xd8
Hxd8 8.2f1 He7 9.Hel Hde8 10.Exe7
Bxe7 11.£3 g7 12.22 &6 13.8b1 Ea7
14.%e3 g5 15.%d4 h5 16.Eel Ee7 17.8xe7
bxe7 18.h4 gxh4 19.gxh4 Dd7 20.f4 £5

21.8e2 N6 22.8d3
1-0

Ex. 11-3

A.Yusupov — 1.Stohl
Bundesliga 1995

1.8fel!
(1 poing)

White takes control of the e5-square. 1.Efd1
is answered by 1...¥e5=.

But 1.Zcel!? (also 1 point) e6 2.8Bed ¥bo
3.2g4 would also be good for White.
1...%de6?2!

1...¢6!? would be better, although White has
compensation after 2.8cd1 ¥b6 3.Wg4 hs.
2.9d5 ¥g6 3.%f3

Black has weaknesses on €7 and c4.
3...5bh8?

3...¢6 would be correct: 4.6+ Lh8 5.8xc4
Had8 and if 6.2g4, then 6..¥d3 and Black
can hold the position.
4.9\xe7 Dxe7 5.82xe7 Efc8 6.8ed

Better is 6.¥xb7 Zab8 7.Wd5 Hxb2
8. 8xc4.
6...b5

6...2xb2 can be met by either 7.8cxcdt or
the more ambitious 7.Ecel 2.

Black ought to seek counterplay with 6...£5,
e.g. 7.Bexcd (7.Be2Z is safer) 7...Hxc4d 8.8xc4
We6 9.8c7 Welt 10.2h2 feST 11.g3 &xc7
1286},
7.8cel Ee8

7..8xb2? 8. Bgds—
8.Ele2!+

White plans 9.2g4 Wh5 10.8f6. But the
immediate 8.Hg4 would be even stronger:

8..Wh5 9.Ee3 £5 10.¥d5!+—

Cienfuegos 1979

1.e5!
(2 points)

113



Solutions

1.Wxd62! &)c5 2.5 Wxd6 3.exd6 would not
be so good, in view of 3...2fd8 (intending ...a5
followed by ...2c6=) 4.8g2 &xg2 5.8xg2 a5!
6.8¢c2 Bcb=.

If 1.2e3 (1 consolation point) 1..4c5
2.8g2, then 2.Wc7t and here 3.Wxd6??
would lose to 3...Bfd8.
1...a5!

1...22c5 2.exd6 Wd7 is followed by 3.2d5!?
(or 3.20d31 Wc6 4.5bh2+) 3...8xd5 4.cxd5 e5!
5.8xd7 exd4 6.8xc8 dxc3 7.d7 Bd8 8.Ecl+.
2.5c2d5

2..0c5? is met by 3.exd6 Wd7 4.8a3=
(AQb5).
3.cxd5

3.4e3! is more precise: 3..Wc7 4.8c2! WS
5.¥xc5 Bxc5 6.8Bcd2+—.
3...Bxc3?!

3...£xd5! would be more stubborn: 4.9e3
&f3! 5.8xc8 Wxc8 6.Wxd7 &xdl 7.Wxd1 BdS
8.Welx
4.¥xc3 8xd5 5.De3 2f3 6.82d6 Lb7
7.%d314+— £c8 8.8xe6! fxe6 9.¥xg6t Dh8
10.¥xh5t g8

10...52g7 11.HxeG+—
11.¥g6+ ©h8 12.Wh6t g8 13.Bxe6
1-0

Ex. 11-5

Leningrad 1932

1...exd4!
(1 point)
As in Ex. 11-2! Black wants to attack the
e2-pawn.

2.%d2 818 3.8el He8F 4.h4 £h3 5.213 Be7
6.2h2 Bce8 7.%2h1 2e6 8.b3 Db4 9.8¢2
£d5 10.9f3 Bf7 11.2h2 £d6 12.£h3 ¥ds
13.Babl Bfe7 14.9g1 &7 15.Ha3 &b7
16.2g2 8xg2 17.%xg2 Dd5 18.0c2 Md6
19.0a3—+

See Ex. 11-6.

Ex. 11-6

G.Lisitsin — M.Botvinnik
Leningrad 1932

Everything is in place for an attack on the
white king.
1..2e31!
(2 points)

This is much stronger than 1...8c3 (1 con-
solation point).
2.%h1

The knight is taboo: 2.fxe3 Wxg3t 3.%bf1
dxe3—+
2...%g4

2..¥d5% is also good: 3.3 WIf5! 4.fxe3
Wh3+t 5.®g1 Wxg3t 6.%0h1 Be4! 7.dxed Bxed
8.8g1 Exh4t 9.9 xh4 Who#
3.Wf4

If 3.¢bg2, then 3..2xf2 4.&xf2 Wxe3t
5.0f1 Be5 6.4\ c4 BfST 7.0 Wh3t 8.cbgl
£h2t 9.9xh2 Wg31 10.%h1 E2—+.
3..Wixf4 4.gxf4 Dxf21 5.%0g2 Hxd3
0-1

Ex. 11-7

IIMG.Goldber — M.Botvinnik
USSR Ch., Moscow 1945

1...e4!
(2 points)

The simplest and at the same time the most
thematic solution. Only 1 consolation point
for more abstract moves such as 1...a5 or 1...
4 (why should Black weaken the e4-square?).
2.e3

2.dxe4? loses the queen after 2...0f37.
2..063% 3.8xF3 exf3 4.Wel Bc8Y2 5.d4 cxd4
6.exd4 Rg5-+ 7.d5 £f7 8.a3 Hfe8 9.Wf1
fxcl 10.8xcl Hxd5 11.8d3 Hxc3 12.8xc3
£xb3 13.064 Lc4
0-1
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Solutions

Ex. 11-8

P.Keres — V.Korchnoi
USSR Ch., Moscow 1952

1.c5!
(1 point)
A typical attack down a semi-open file.
1..8d7 2.¥a3! Qes?!

2...dxc5 is followed by 3.9e5! Dc6 4. b3 7
®h8 5.0xd7 Hxd7 6.¥xb7+—.

There would be more chances for a defence
after 2..Wc7 3.cxd6 exd6 4.¥xd6 Wxd6
5.8xd6 2c6+.
3.8g51+ 862!

Better is 3... c6+.
4.cxd6 Dxd6 5.2xd6! ¥xd6 6.Mxa5+—
b6 7.%a4 £d7 8.Wh4 2xc3 9.8xe7 We6
10.bxc3 Efe8 11.50d4
1-0

German Cup 1992

1...b3!
(2 points)

In this way Black gets a strong initiative on
the queenside.

Perhaps it would be slightly more accurate
to first play 1..&xg5! (1 point) 2.hxg5 and
only now 2..b3! (another 1 point) 3.axb3
(3.cxb3 axb3 4.Wxd4 Wxg5F) 3...axb3 4.cxb3
&\ c5F. Black was afraid of a sacrifice on f6, but
it does not work: 5.2\Mf6t? gxf6 6.gxf6 &h8
7. Wxd4 Hixb3 8. Wa4d £xd3 9. Wxc6 fxe2—+
2.cxb3

If 2.¥xd4, then 2..bxc2 3.Bcl (3.Wxad
8xd3 4.8xe7 Wxe7 5.Wxc6 £xe2—+) 3...8xg5
4.hxg5 WxgS 5.Bcxc2 £xd3! 6.Wxd3 Exc2
7.8xc2 Wixg4 8.f4 g5+F.

However, better is 2.82xe7 Wxe7 3.cxb3
2xd3 (3...axb3 4.Wxd4) 4.8d2F.
2...axb3 3.axb3 h5?2!

Stronger is 3..8xg5? 4.hxg5 Q5T

transposing to the line given in the first note.

4.9h2
4.8xe71? Wxe7 5.80h2 D5 6.Wxd4d Hxb3
7. Wa4 2xd3 8.Wxc6 &xeF
4...8xg5 5.hxg5 Nc5
5..8xd3 6.8d2 8g6 7 Bxd4=
6.Mxd42!
No better is 6.¥h4 &xd3 7.8eel Hxb37.
But White can limit Black’s advantage with
6.013 Dxb3 7.8d1 Wh6T.
6..0xb3 7. ¥ a4 £xd3 8.%xc6
8.8cel? Wbhe (8..5xal 9.Wxe6 Hc2
10.8d1F) 9.Ba3 Hc2 10.Be3 (10.Bxb3??
Wxf21 11.50h1 Wxg2#) 10..Eclt 11.8f1
&xf1 12.8xf1 Hd2—+
8..2d4 9.¥c5 Dxe21F

Ex.11-10

—

Petrosian

Vrbas 1980

1.e5!

(2 points)
The dme has come to open the semi-open
f-file and to bring the doubled white rooks
into the game with greart effect.

Other moves are less dangerous for Black:

a) 1.82e6!? (1 poinr) 1...c6%

b) 1.&f5 (1 consolation point) 1...8xf5
2.Wxf5 6%

o lgd? g5! (not 1..8xed?? 2.Hel+-)
2.Bx{6 Bxf6 3.Bxf6 Wxf6 4.Wxe8T Q?g7:
1...dxe5?

1...fxe5? is also bad: 2.Bf7 g6 3.Exe7 gxh5
4.dxe5! Bxf1 5.exd6T+~

1...f5 would an improvement: 2.e6+ (2.8xf5
Bxf5! 3.8xf5 g6 4.Wxh6 gxf5 5.8xf5 Wg7-)
2.dxe5 fxe5 3.8£72

White does not exploit his opportunity
and spoils his chance of taking down such an
illustrious opponent. 3.Bx{81! was correct:
3. .Bxf8 4.Wxe5 £c5 5.Wxe7 fxe7 6.8xf8%
&xf8 7.8xa5+— (Petrosian)
3...Bxf7 4.Bxf7 W5t

And Black obtains counterplay. The game

later ended in a draw.
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Solutions

German Cup 1993

1..2Dxg3!
(1 point)

2.fxg3 Bxe3 3.2e6 ¥f6

3..%b8 would also be good, as would
3. We7.
4.¥xc7 Hxg3 5.¥xb7 He8 6.Wd7 He7
7.%xd6 Wh4

And White resigned, in view of 8.%f1 §e3+
9.¢hel Hxg2t—+.

10 points

Moscow Olympiad 1956

1.cxd5!
(2 points)

In chess there are no absolute rules. You
must always think along concrete lines. In
this case it is clearly better to capture with the
c-pawn, since the black knight has strayed
into trouble.

l.exd5 ©f5t only gets you 1 consolation
point.
1..2b5

1...e5 2.dxe6 Dxe6 3.8xg7 Dxg7 4.WxdG+—
is also hopeless.
2.8xg7 sxg7 3.Ecl

Black resigned, since after 3...¥d7 4.a4 &c7
5.%c31t he loses the knight.

(another 1 point for this variation)

»Pass mark

If you scorved less than 10 points, we recommend that you read the
chapter again and repeat the exercises which you got wrong.
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12

Mate with bishop
and knight

Delivering mate with bishop and knight is the
hardest task when playing against a lone king. Even
some grandmasters have failed, when short of time,
to deliver mate within 50 moves. In a practical game
35-40 should suffice, but that leaves only a small
cushion for possible errors.

There is a second reason why you should study this
ending in depth. By doing so, you learn to coordinate
the efforts of different pieces. This coordination of
pieces is also very important in other phases of the
game.

The correct corner and the wrong corner

Normally we can only deliver mate with bishop
and knight when the opposing king is in the correct
corner. 1If we have a light-squared bishop, then the
corner squares a8 and h1 are the correct ones. We call
the other corners, al and h8, the wrong corners. The
strategic goal is to drive the opposing king into the
correct corner.

The five phases of this endgame

1) The coordination and centralization of your
pieces.

2) Forcing the king into the corner or to the edge
of the board.

3) The ‘W-manoeuvre' by the knight — driving the
king out of the wrong corner.

4) Constructing a prison for the king and making
it smaller and smaller. (The king is confined in the
correct corner.)

5) Delivering mate.

The following example shows us the various phases of
this endgame.
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Mate with bishop and knight

Diagram 12-1

Based on

" G.Levenfish

Phase 1 — The coordination and centralization of your
pieces.

We must first coordinate our pieces and, if
necessary, also centralize them.
1.2f7

There are of course other ways to reach the same
goal, e.g. 1.8d1 cd 2.0b3 &3 3.8b5 &d3 4.8c5
B3 5.0d4 ©d3 6.8c21 B3 7.&f5 even leads to
mate one move quicker, according to the computer.
1...52c6 2.83b3 2d6 3.8.c4

The knight and bishop are now well coordinated.
The knight is taking the dark squares away from the
opposing king, and the bishop, of course, the light
ones. To fulfil this task, the knight has to be on a
light square.
3...8c6 4.2b4 £d6 5.0c5 e5

Or 5...8¢6 6.8e4 and the black king now has to
head towards the wrong corner: 6...82d7 7.82c5 &e7
8.%9d5 and White has finished the first phase.
6.0c3 hfs 7.0d4 Bf5 8.Ded

The first goal has been achieved. Our pieces are in
the centre and well coordinated.

8...82g6
Diagram 12-2
Phase 2 — Forcing the king into the corner or to the
edge of the board.

We shall now drive the opposing king into the
corner. It is best to get it directly into the correct
corner, but often we cannot stop the king going into
the wrong corner.

By 8...%2g6 the black king heads into the wrong
corner and we can't prevent it.

8...82f4?! would make our task easier, because we
could drive the king directly into the correct corner.
We would then be able to skip part of Phase 3 —
driving the king out of the wrong corner: 9.8e6 &f3
10.85 f4 11.8¢6 &3 12.8c5.

Phase 4 — Constructing a prison for the king and
making it smaller and smaller.

White sets up a bartier against the black king, so
that it cannot head into the wrong corner: 12...¢2g4

119

— N W B N N oo

—_ N Wk N

Diagram 12-1 A

Diagram 12-2

//%/%
o

// % // ///
///// _
/ / 7,
> ///
/////%%/%/

a b c¢c d e f g h




" 2 VS IR - LV, B ) SN B e ]

i A VS B Y B e ) N e el

7
7.
a

4::“

Diagram 12-4 (analysis
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abcdefgh

Endgame 2

13.9e6 2h4 (13..%0f3 14.£h5% leads immediately
to a reduction in the size of the prison) 14.e4 g4
15.¢0e3 ®g3 16.2h5

White will make the prison even smaller, as in the
main variation, and then deliver mate.
9.che5 g7 10.2165

The white king is cooperating very actively and
takes squares away from the opponent.
10...52h6 11.50f6

Diagram 12-3
11...%%h7

If the black king tries to remain on the squares h5
and h6, the white plan does not change. The goal
remains the same — drive the opposing king into the
correct corner: 11...0h5 12.8e6 bh4 13.8f5 &hs
14.52 &h4 15.0g4

Diagram 12-4

The knight takes the dark squares away from the
king! There are now two lines:

a) 15..%g3 16.2g5 g2 17.0f4 D1 18.%e3
g2 Phase 4 — Prison for the king and the prison walls
move in closer 19.9e5 Bg3 20.9g6 g2 21.8g4
White has constructed a prison for the black
king. In the main variation we shall look in more
depth at how to win positions like chis. 21...dbf1
22.8f3 del 23.00f4 Bfl 24.8e21 gl 25.813
$h2 26.8f2 dhl 27.¢kg3 gl 28.0h31 &hi
29.803¢#.

b) 15..%2h5 16.8e6 $hd 17.5bf5 $e3 18.8d5
®h4 19.5f4 &hS 20.££7+ and the bishop takes the
light squares away from Black! We then continue as
in the main line.
12.5)g51 h8 13.8d3 g8

Diagram 12-5

Phase 3 — The “W-manoeuvre’ of the knight — driving
the king out of the wrong corner.

The first task is to chase the king out of the wrong
corner. The knight will deprive it of dark squares, the
bishop of light squares. Typically the moves of the
knight form the letter “W.
14.2f7 &f8 15.2h7 De8 16.De5
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Mate with bishop and knight

Diagram 12-6

From this position, passive defence poses no
problem for White. After 16...2f8 17.60d71 $e8
18.%2e6 ©d8 19.82d6 e8 20.8g6+ 2d8 21.4c5
the “W-manoeuvre’ is over.

Diagram 12-7

Phase 4 — Set up a prison for the king and then make
it smaller.

White now constructs a prison for the black king:
21..%c8 22.82e8 ©d8 23.8b5 The prison is a7,
a8, b8, c8 and d8. 23...%c8 24.£d7+ (A neat trick,
but a waiting move is also possible — 24.8a4 &d8
25.9b7+1 8 26.58c6 b8 27.0b6 Rc8 28.8b5
®b8 29.2d7 etc.) 24..b8 (24...50d8 25.40b7#)
25.%¢6 Making the prison smaller; the black king
has only the squares a7, a8 and b8. 25...82a7 26.%c7

Diagram 12-8

Phase 5 — Delijvering mate.

Now the black king is confined to only two
squares. Notice the ideal position of the white king!
To deliver mate it should be on ¢7 or b6: 26...¢2a8
27.80b6 (or 27.8c8 a7 28.00d7 Da8 29.8e5 Ra7
30.0c67 a8 31.8b7#) 27..%8b8 28.5)a6t a8
29.8c6#

Let’s return to diagram 12-6 and examine the other
king move.
16...2d8

Active defence. The king tries to run away and head
for the wrong corner — al.
17.%¢6 &c7 18.80d7

White continues with the “W-manoeuvre’. The
knight takes away more dark squares. White is
creating a prison for the king,

Also possible is 18.2c2 ©b6 19.4d3 &bs
20.£b3+~— and the black king cannot get through this
barrier.

18...8¢6 19.8d3!
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Endgame 2

N T N - R -

Diagram 12-9 v . Diagram 12-9k e
> - - > Phase 4 — Set up a prison for the king and then make
@ %%% % The king cannot get out. The prison is now made
“w . “w v smaller until the king is locked up in the corner.
5 //%;Q /// //%/ //// 19...2c7 20.8b5 2d8 21.2f6
2 " » Or 21.8e5 7 22.Hck.
%// %/ /// %/ 21...80¢7 22.8d51 &d8 23.f7 8 24.%e7
%% %% /‘7 7 The white king pushes its adversary into the corner.
%y _ ;g %/ %y 24...59b7 25.82d7 &b8 26.2a6
i///é % % /% av;[i}llzbir'lson has shrunk; there are only three squares
a b cdef gh 26...%0a7 27.8.8 b8 28.8e7 ©a7 29.82¢7
. Diagram 12-11
Diagram 12-10 i i v Phase 5 — Deliver mate.

The king occupies the key square and Black is
quickly mated.
29...2a8 30.8b71 a7 31.9c6#

In the exercises we shall repeat some of the elements
of this ending. In some positions you will have to
mate in 5 moves (#5).

In order to properly master this subject, I really
recommend that you play some training games with
this distribution of material.

h
Diagram 12-11 v
7 7 7 7
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Exercises
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Solutions

Ex. 12-1

Mate in 5 moves.
1.2e6! Ra7

Or 1..%a8 2.%b6 &Hbs 3.5Ha61T a8
4.8d5¢#.

(1 point)

2.%c7! a8 3.8b6! £b8 4.Da6t Ha8
5.8d5#

(another 1 point)

Ex. 12-2
Constructing a prison.
1.2d2!
(1 point)
Also good is 1.8c7 &b3 2.83d6 &b4
3.8b6+— (2 points for this variation).
L..®c3 2.8d6
(another 1 point)
2...2c2 3.8b4 bd1 4.3 Rc2 5.Dd4+t

Prison.

Ex. 12-3
The knight's “W-manoeuvre’.

1.8g6
1...2h6 2.£g8 h5 3.9e5

(another 1 poing)

(1 point)

3...2h4 4.2f5 &h5
4...@?g3 reaches the position of Ex. 12-2,

rotated through 90°.
5.0 g4 bh4 6.4 Bh5 7.8£71 ©h4 8.De3

Ex. 12-4
Mate in 5.
1.8c1! &bl
l..skal 2.2 ®a2 3.2 Pal 4.8b2t
a2 5.6\c3#

(1 point)
2.5 e2! ®a2
2..Pal 3.8c2 Ra2 4.0c3t al 5.8b2#
3.%0c2 al 4.8b2+ Ra2 5.Dc3#

(another 1 point)

Ex. 12-5

Constructing a prison.
1.%2c4
(1 point)
1...2a5
Or 1..0a3 2.90d3 a4 3.8c7 a3 4.8a5
Bad 5.8d2.
2.8c7t1 a4 3.00d3
(another 1 point)

3...%0a3 4.8a5 Da4 5.2d2 £a3

See Ex. 12-6.
Ex. 12-6
Making the prison smaller.
1.2b4+!

(1 point)
Or 1.&el ®ad 2.50b21 a3 3.¢0c3 a2
4.\ c4 &bl 5.8d2+— (also 2 points).
1..%2a2
1...5had 2.8\c5#
2.%c3 &bl 3.2b3
(another 1 point)

3..%2al 4.2 Ra2 5.8\ c11 Ral 6.8c3#

Ex. 12-7
Constructing a prison.
1.2d6
(1 poinr)

1..2c3 2.8¢7 c2 3.8b4 dl 4.3 2
5.8d4t

(another 1 point)
5...82d1 6.3 Bl

See position Ex. 12-8.

Ex. 12-8
Making the prison smaller.
1.she2
(1 point)
1..52b2

1..%2b1 2.8a3 Ra2 3.8c1 £b1 4.82d2 dal
5.8c2 ®a2 6.9e2 al 7.8b2+ &a2 8.8\ c34#
2.52d2 ©b1 3.£a3 a2 4.8c1
(another 1 point)
4..58b1 5.9e2 thal 6.2 Ra2 7.Hc3%
®al 8.2b2#

Ex. 12-9
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Solutions

Mate in 5.
Lsbf2!
(1 point)
White brings his king up into the key
position. 1.8¢3! is equally good.
1...2h2 2.2¢6! £h1 3.Hg3+
Or 3.d2.
3...0h2 4.9f11 &h1 5.2d5#

(another 1 point)

Ex. 12-10
Mate in 5.
1.82b3!
(1 point)

Or 1.2c2!.
1...82b1 2.£€3!

But not 2.90d3?? stalemate!
2...%0al 3.9 cd! b1 4.Da31! Dal 5.8d4#

(another 1 point)

(another 1 point)

4...De8

Or4..8c8 5.8e71 £d8 6.82d6 he8 7.8e6
®d8 8.2b6T Re8 9.5)f5+—.
5.2d6 &f7 6.9 e7 26 7.8263

Ex. 12-12
The end of a study by

Coordination of the pieces.
1.c8=A1
(1 point)
But not 1.¢8=%? Ad6T—+.
1...2xc8 2.2b6!
The threat is ©c7=. This double attack saves
White.
Of course not 2.8c6? Ha5t—+.

2..4d6
Ex. 12-11 2..9\d8 3.8c7=; 2.6 3.dc7=
Firstly, the king must be driven out of the 3.%c7=
wrong corner. For that the “W-manoeuvre’ is (another 1 point)
used.
1.8d4 b8 2.5¢7
(1 point)
2.8 3.82a7 &d8 4.0)d5
Scoring

Maximum number of points is 24

= 20 points and above--»Excellent

- 16 points and above--m Good

12 points

»Pass mark

If you scored less than 12 points, we recommend that you read the
chapter again and repeat the exercises which you got wrong.
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Combinations
involving files

In this chapter we shall investigate various
combinations which exploit either an open or a semi-
open file. Of course the major pieces will have an
important role to play.

The rooks are especially interested in the opening
of files, since it is only then thac they can develop
their full power.

The strategic goal of line opening consists of the
penetration into the opposing camp via the 7th or
8th rank. It is from there that our major pieces can
cause the most damage.

An open or a semi-open file leading towards a
castled position can become a decisive factor which
powerfully supports and speeds up our attack. In
many combinations other pieces and pawns also play
an important part. Only an assault harmoniously
supported by as great a number of attacking units as
possible can break though a well organized defence. It
is often necessary to act very energetically and actively
in order to exploit a favourable moment.

Let’s now take a look at some combinations which
make use of various open or semi-open files.

The g-file

USSR Ch., Minsk 1987

White uses a lovely tactical trick to bring into the
atcack not only his bishop, but also his queen.
1.2h5! W0 2.Bxg81 Dxg8 3.Wg3

The threat is the discovered attack @gGT.
3...8b5

3.8e8 4.8xe8 Wxe8 would be bad, due to
5.Dg61+-.

Also 3...f6 is met by 4.9g6t hxg6 5.¥xc7 &ixh5
6.¥xc6+—.
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Combinations involving files

4.Wh4!

Black cannot stand up to the coordinated attack
by his opponent. White prepares the deadly check
on gob.
4..50\f6

Nor are other moves any better:

a) 4...Bg7 5.8xg7 dxg7 6.Wg5t Hh8 7.0f71+—

b) 4...2¢8 5.8xe8 Wxe8 G.QgGT @g7 7.7 +—

0) 4..Wh6 5.0f71 Bxf7 6.8xf7 Wxh4 7. Exg8#
5.8¢7!

Black resigned. 5..Exf7 is answered by 6.g6t

with a decisive gain in material.

Diagram 13-2 Diagram 13-2 A

I.Rubinetti
Toluca Interzonal 1982

Here too, White can use the open g-file for a rapid
attack.
1.£h5! 2d8 2.8h6!

2.8g6? hxgb 3.fxgb 5! is not clear.

2.¥e4 Bd7 3.Wh4 (intending £g6) would also be
good: 3...0d3 4.8g6 hxg6 5.fxg6 Eff7 6.Wh71 hf8

%g/&%

—_ N W kU N2
— =

% //// % 4
7. Wh8+ be7 8.gxf7 Lxf7 and now White uses the a o =
g-file to land a tactical blow with 9.Exg71! &xg7 /{/ /2 % %‘z‘é/

10.2gl+— (P Wolff).
2..2d7 3.8xe8 Hxe8 4.¥Wh5+— Wb8

Or 4..Ef8 5.8xg7! Bxg7 6.Exg7T dxg7 7.8glt
®h8 8.We4 and Black cannot defend both g7 and g8
at the same time,
5.8xg7!

Black resigned. 5...Exg7 is followed by 6.8xg7t
Qi?xg7 7.8g17 &h8 (7...218 8. Wxh7+-) 8.Wf7+— (or
8. WhG+).

d e f g h

The h-file

The h-file is often opened if the opponent tries to
fianchetto his bishop. Situations where the players
have castled on different sides are particularly
dangerous, because in most cases the rook is still on
h1 and can take advantage of the line opening (as in
the game Alekhine — Hulscher in Chapter 7, “The
pawn wedge’). Here we shall take a look at another
two such situations.
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Tactics 6

Diagram 13-3

Diagram 13—3
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Diagram 13-4

USSR 1969
The threat is Eh5#. But as soon as Black takes the

rook, she is mated by hxg5.

1-0
positions and also offers many different tactical

The f-file is more frequently opened in symmetrical
possibilities.

White finds an interesting way to open the h-file.

1.¥xh711! xh7 2.g61 2h8 3.Bg5!

The f-file

& .../w_s/M /

/ / ///
/ w/ 8

//// NN /////

E////,m@/
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\& //

_/H/.a...///
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Diagram 13-5

Diagram 13-5

Linares 1993

B SR e RS e S R o Rty 1o R PR B R e ST R ST R
A.Karpov — V.Salov

1...hxg6 would be bad, on account of 2.Wh4+ &e8

3.8g5+—.
Nothing is achieved by 5.8g5 Wg4 6.8xe5?! due to

6..¥ixg3 7.Hxe8 Wxg2 7! 8.xg2 Hxe8.

White wants to open files and even sacrifices a
5...%b6

pawn to do so.

1...fxg6
215 gxf5 3.8xf5 Hd7 4.2df1 De5 5.85f4

1.g6!

@/ﬂ
4-

/ /// //
//////// ///

=
on

//// Ja

K~ O N <t N

If 5..8g6, then 6.8g4 &c8 7.8xgb hxgb 8.Wxg6

followed by &g5+—.
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Combinations involving files

6.2g5 Dgb

6..8¢€7 is met by 7.2f71 ©xf7 8.Exf7 and the
white rook has a very strong post on the 7th rank:
8..2f8 9.2e4 g8 10.8xh71 dexh7 11.8gl+-.
7.9\ 87 @gs

Diagram 13-6
8.Wxg6!

A pretty blow, which decides the game on the
spot. 8...hxg6 is followed by 9.Bh4 and then mate
on h8.

1-0

Diagram 13-7

:CK;;danov —
Bled 1997

1...Bxf2!

A typical combination, which demonstrates how to
crack open a castled position.

1..Bf6 2.Wf1 8h6 3.Wg2 gives White time to
defend.
2.hxf2 Wh2t 3.1 He7 4.f5

Other moves lose even more quickly:

a) 4.8e2 Whit 5.0F2 Bf71 6.5 Bxf5#

b) 4.Hecl Bf7+ 5.%0el BF2 6.Wf1 Exb2—+
4. .Bf7—+ 5.9f4 h5!

White resigned. The threat is simply ...h5-h4. For
example, 6.8acl hd 7.Wxf71 &xf7 8.gxh4 g3—+.

Combinations involving two files

Diagram 13-8

Moscow (rapid) 1995

A typical situation, in which White’s own pawn on
h7 is protecting the opposing king on h8. But White
prepares some file opening,
1.¥g3

The threart is Wg8+.
1..Wg6 2.¥h4

Black resigned, because after 2...¥f5 there follows
3.Bg81 Hxg8 4.hxg8=¥1 bxg8 5. Wh8#.
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Tactics 6
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Combinations involving files

Tilburg 1979

1.8¢8!

A double attack: the rook on a4 is actacked and
there is also the threat of 2.Wxh7+ &8 3. Wh8#.
1...Dxe8

Now Black loses the queen.
2.Eg2 6 3.EBhgl!

3.e5! Exe5 4.f4+— would also be good.

Black resigned, on account of 3...¥xg2 4.Wxg2¥
&f7 571 heg 6.WhsT d7 7.8Bg7. The invasion
of the seventh rank decides the game quikely. Black
cannot protect 7.

Novi Travnik 1969

White utilizes the strength of the two rooks.
1.¥xg6!! hxg6 2.Exg6 Dh6

2...2h7 would be bad, on account of 3.exf5 ©h6
4.8xh5 Exf5 5.Bhxh6#.

2..8g5 is followed by 3.8xg5 Ef7 4.8gxhSt and
now:

a) 4... g7 5.8Bg1+ 16 (5...Hf8 6.Eh8#) 6.8xf5#

b) 4..%g8 5.8h8t &g7 6.21h71 transposes into
the game continuation.
3.8xh5 Bf7 4.8gxh6t $g7 5.8h7+

Diagram 13-14

5...%g8

5...%f6 also clearly loses: 6.E5h67 @gS (6...5he5
7.8e6t fd 8.Bh4t g5 9.f47 Sxhd 10.2h6#H)
7 4t hxf4 8 Bxf7+—
6.2h81 g7 7.B5h7t g6 8.exf51 Bxf5 9.2xd8
Exd8 10.8d3

With a winning ending,
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Tactics 6

Bremen 1913

1.8Bxg71! xg7 2.8g1t 2h8

If 2...0£6, then 3.Whdt &f5 4.WeSt (or 4.8g5+
hf6 5.8xe5t @gG 6.8g5#) 4. Ded 5.8elt &f3
6.Wo3#,

2...2h6 allows instant mate by 3.%h4#.
3.¥xe51! dxe5 4.8xe5t £6 5.2xf61! Bxf6 6.Eg8#
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Solutions

Ex. 13-1

Swiss Team Ch. 1999

1...%e4t!
(1 point)
White resigned, on account of 2.bxh3
(2.%f1 Wf3—y) 2.1 3.5h2 (3.3
Bho#) 3..2hot 4.80g1 Whis.

Ex. 13-2

USSR Cup 1980

White uses the open g-file for a typical
combination.
1.2xg71!
1-0
1...8xg7 is followed by 2.Wg4t h8 3.Wf5
and then mate on h7.
(1 point)

Ex. 13-3

Siegen Olympiad 1970

1.2f61! hs

After 1...gxf6 comes 2.Wxg4t ®h8 3.Wh5+t
Q?g8 4.Bgl#.

(1 point)

2.Wxg4 g6 3.h5 g7 4.hxg6
1-0

4..2h8 is mec by 5.Bh71 Bxh7 6.gxh77
h8 7.Wg8#.

Fx. 13-4

L.Goltsov — V.Moiseev
Kaluga 1971

I.QgST!
(1 point)
1...hxg5
If 1...%2g6, then 2.Wxf71 &xg5 3.@g3+—.
2.8Bh3%!

Nothing is achieved by 3.Wxf7? (threatening
£h3#), as Black can defend against the mate
by 3...Bc3, leaving White with no more than
a perpertual.
2...82g6 3.Bh61!

(another 1 point)
3...8xh6

Or 3...gxh6 4.¥o8#.
4.%h8t g6 5.Whs#

New York 1908

1.8xa71!!

(1 point)
1.8xb81? Hxb8 2.Bf8? would lose to
2. Wde6r.

1...¥xa7 2.8a5!+— ¥xa6
Or 2...8b7 3.¥xb7#.
3.Bxa6#
(another 1 point)

Ex. 13-6
Based on a study by

1.¥a6!
(1 point)
1.%c62? would be very bad, because of
1...8b8—+.
If 1.2c6? then 1...Eb8 2.Weq Wcst,
1...Eb8 2.826! Wc8 3.Wxa71! xa7 4.2al#
(another 1 point)

Ex. 13-7

exander — EMarshall
Cambridge 1928

1.Bf4!

(2 points)
Nothing is achieved by 1.2g6 Ee8
(1..¥xb22 is also good) 2.9xe5 HxeS
(or 2...fxe5 3.6 £f8—+) 3.Bf4 &xf5!—+.
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Solutions

1.Wxf6 (1 consolation point) is only good
enough for a draw: 1..Wxb2! (1..&a7?
2.8g6+-) 2.Wg57 bh8 3. WfoT=
1...exf4

After 1..8e6 there comes 2.8gdt Dg5
3.8xg51 fxg5 4.t6+—.

(1 bonus point for this variation)

2.gxf4

1-0
2...0¢6 loses to 3.8gl, while 2...%%h8 runs
into 3.Wxf6t g8 4.2gl#.

Ex. 13-8

Jonner — 1.
Berlin 1928

1.2h6H!
(1 point)
1-0
l..gxh6 is followed by 2.8xh6! ¥xhé
(2. We7 3.We3ti— 2..Wd6 3.Wx{7t+)
3. Wxf7t+—.
(1 bonus point for this variation)
If 1...5bh8, then 2.Dxf71 g8 3.Wg3 W7
4.0h6t Bh8 5.87+—.

Noordwijkerhout 1980

l.ﬁngT!!
(1 point)
1.Bxf7! also wins, but the move in the game
is even more forcing,
Black resigned, as 1...fxg6 is followed by
2.Bf81 h7 3.B1f7t &he 4.2h8t &esS
5.h4#.

(another 1 point for this variation)

Ex. 13-10

Paris 1944

1.¥xh6tl
(1 point)
1...2xh6
1...gxh6 2.6t hh8 3.Hg8#
2.Bh1t g6 3.5064!
(another 1 point)
White threatens £h51.
3..%e6
If 3...80%e53, then 4.2h51 ©h6 5.8xf7#.
4.8h8!
(another 1 point)
But not 5.2h5% in view of 5...%2h7 6.2xf7t
Whet=.
Black cannot parry the threat of mate by
£h5# and so he resigned.

Ex. 13-11

Variation from the game

atny — A.Yusup
Bundesliga 1994
1..Wxg2tn
(1 poiny)
2.%xg2 h1=-¥+!
(1 point)
Of course not 2..0f5t22 3.Rh1 Eglt
4. Hxgl+—.
3.Bxh1 $f5t 4.%f1
4. ¥odt Exgdt 5.¢0f1 Bxhlt—+
4...Bxh1#

(another 1 point)

Ex. 13-12

1.%a8+ bh7 2.¥h8t!t Hxh8 3.8g7#
(1 point)
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- 20 points and above---»Excellent

16 points and above-icm Good
12 points »Pass mark

If you scored less than 12 points, we recommend that you read the
chapter again and repeat the exercises which you got wrong.
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CHAPTER 1 4

Contents

- ¥ The c6/c3 square
- ¥ 'The d6/d3 square
v 'The e6/e3 square
¥ The exchange sacrifice
¥ Regrouping

Outposts

This lesson continues the themes dealt with in “Weak
points’ (Build Up Your Chess 1, Chapter 20) and
‘Exploiting weaknesses” (Chapter 4 in this book).

We already know that a weak square in our
opponent’s position offers an ideal place to put
our pieces. If we have secure control of such a square
(preferably by means of a pawn), we can post a piece
on it. Minor pieces (especially knights) are best suited
to that task. From this ouzpost we can attack other
points in our opponent’s set-up.

The most valuable squares for outposts lie deep in
the opposing half of the board. In this lesson we shall
consider the exploitation of outposts on the 6th (or

3rd) rank.

The c6/c3 square

Dortmund 1998

1.d4!
‘This strong move leads to a position in which
White obtains an outpost on ¢6.

1...exd4 2.9xd4 Hxd5
If 2..83xd4 3.¥xd4 ©d7, then White can exploit
the weakness of the c7-pawn with 4.8a5!+—.

3.9xc6 Dxc3 4.bxc3 @gS
Or 4..¥d7 5.%d5+.
Diagram 14-2

_ ' 4 g@ 5.%d5+ Wxd5 6.exd5
7 gy e v White is clearly better. His knight has found a
%/ - %{,‘ //‘%/ v wonderful position. It controls b8 — a square which
: ‘ %% / ~ ;/ < is important in the battle for the open b-file — and
‘ ///ﬁ % % 1 ,// it is ready, after the exchange of rooks, to attack the

76 7 »/ ¥ 7 2, a_pawn‘

N

140



Outposts

Diagram 14-3

6...g6 7.2abl 8g7 8.c4 &c3 9.Hecl ££6 10.5f1!
He4 11.g3

11.8b7 Hae8 12.8xc7 Ee2+
11..8¢5 12.8c2

Since Black has no counterplay, White quietly
prepares to penetrate down the b-file .
12...2ae8 13.20b812

This is probably even better than &b7.
13...a5 14.8¢6 g7

After 14...Ba8 White can choose between 15.8b5+—
and 15.8b7+-.
15.9xa5 Ha8 16.8b5 £f6 17.8a2

The a-pawn decides the game.
17...8c3 18.9)c6 Bxc4 19.a5 Eab 20.8c2 Bexc6

Black gives up the exchange to remove the knight
from ¢6. A minor piece protected by a pawn is often
even stronger than a rook.

After 20...f6 there follows 21.8b3 Bexc6 22.dxc6
£xa5 23.8a3+—.
21.dxc6 Exa5 22.8b7 Halt 23.80g2 £a5 24.8a7

The threat is Hc2-b2-b5. After the exchange of
rooks the c7-pawn will fall and the win is not far off.
So Black resigned.

The d6/d3 square

We have already seen a classical example, the game
Botvinnik — Flohs, (Build Up Your Chess I, Chapter
20). Here is another game in which a bishop is able
to occupy this central square.

I.Bilek — V.Smyslov
Polianica Zdroj 1968

1.g3 €5 2.c4 d6 3.8g2 Dc6 4.Dc3 g6 5.3 Lg7
6.Dge2 Nge7 7.d3

A popular variation of the English Opening. If
7.0-0 0-0 8.d4, then 8..exd4 9.exd4 £g4 10.h3
Bxe2 11.8xe2 D5 12.d5 Hed4=.

7...0-0 8.2d5?!

White should not play this until the move ...2e6
has been played. Better is 8.0-0 2e6 9.2)d5!.
8..0xd5 9.cxd5 De7 10.0-0 c6 11.dxc6 bxc6
12.d42

141

—_— N W A~ U &N

Diagram 14-3

V /zf,,’?;gf/




—_ N W A N N

Diagram 14-4

x

— N W s ;N

,,,,,,,,,,,,,

_

% %7 7
‘my

0
. WAeA
L¥aT A

—_ N W kR UL N N

€@
VA,

<

Ja

7
7

.
3
_

Positional play 2

White underestimates his opponent’s strong reply.
Instead 12.Wc2?? followed by £d2 would have been
level.
12...82a6! 13.2el Wb6 14.dxe5 dxeS!

Diagram 14-4

Why does Black worsen his own pawn structure
(he now has 3 pawn islands)?

He sees that White has a weak point on d3 and
wants to install his bishop there. On the other hand,
White cannot attack the weakness on c6 effectively.
The black pieces are simply too active.
15.¥c2 Bfd8 16.2d2 £d3!F

Diagram 14-5

The bishop is very well placed here. It is controlling
some squares on the Ist rank and thus limiting the
possibilities for the white rooks.
17.%c1 &d5 18.8)c3 Db4

Threatening ...&c2.
19.2a4 ¥b5 20.£xb4 Wxb4 21.Dc3

21.8xc6? Hac8—+ would be bad.

If 21.8)c5, then 22..e4 22.a3 Wixb2 23.Wxb2
&xb2 24 8a2 (24.8ad1l £c3—+) 24...Eab87.
21...e4!

Diagram 14-6

It is very useful to be able to support the strong
bishop with a pawn. White can in practice no longer
exchange the bishop, since his opponent would then
obtain a dangerous passed pawn.
22.82d1 Bab8 23.8d2 c5 24.¥el

White has almost no moves left. 24.a3 is met by
24..Wb3 25.8xed &xc3!-+.
24...8xc3 25.bxc3 Wa5

But not 25...Wxc3? 26.2xe4! 2xed?? 27.8xd8T+—.
26.Bc1?!

After this move, the bishop’s position can be made
even more secure. 26.c4 Bb4 27.2f1F would have
been slightly better.
26...c4!—+
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Outposts
Diagram 14—7

Diagram 14-7
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Positional play 2

The two connected passed pawns will decide the
game.
13..¥xe3t 14.Ehxe3 f4 15.8e5 £3 16.2d2 Bf4
17.d6
1-0

The exchange sacrifice
Something must be done immediately against minor
pieces on the G6th/3rd rank, or else they will be
supported by other pieces. It is only in rare cases that
such pieces can be left alone and that we can work
around them. A standard solution is the sacrifice of
the exchange for a pawn.

In the next game my opponent should have
prepared his occupation of an outpost more carefully.

Diagram 14-10 A\ Diagram 14-10
%@% " V.Milov - A. Yusu pov

7
/ﬂé'/ = Z Bastia (rapid) 2002

White immediately brings his knight to €6, but
underestimates the counterplay.

1.2Dxd4?

1.2b1 d3 2.)d4+ would have been beter.
1...cxd3 2.9 e6?

Better is 2.%xd3z.
2...Bc8% 3.22b1 Exe6!

A typical solution — sacrificing the exchange for the
super-strong knight — brings Black a fortunate win
here.
4.dxe6 Bc2

The black rook gets an outpost on the 2nd rank

N W Ak U N NN

abcdefgh

only for a moment, but it leads to a surprising
counterattack.
5.%xc2

5.%b4 loses to 5...4\c4.
5...dxc2t 6.%xc2 N4 7.8c3 Wd4 8.8d1 Ladt
0-1

Regrouping

Although a minor piece is well placed on an outpost,
it sometimes blocks an open file and thus gets in the
way of the major pieces. So you should not be afraid
to move it away and then back or simply to move it
off that square.
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Outposts

Diagram 14 11

Bundesliga 2003

1.9c4!

This strong move clears the d-file and prevents
...)c7. Black cannot hold the position for long.
1..2f7 2.%d1! Wes5 3.8d81 Ef8 4.Bxb8 Exb8
5.8d7 h5 6.2d6+-

And the knight even returns.
6...5eg8 7.9xb7 Bf8

7. WxeS 8.Hd8T+-
8.9)d8 ¥xe5

8..0c7 9.80xc6+—

9.2 xc6 ¥xed 10.¥d2
Black resigned. 10...Wxc6 11.¥g57 leads to mate.
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Solutions

German Ch., Altenkirchen 2001

1...2d5!
(1 point)
Black redeploys his knight to the even better
position c3. After that Black will be able o
attack the pawn on e2. Also the knight closes
the open c-file, meaning that his opponent
doesn’t get any counterplay.

2.50d2
2. W4 Wxed—+
2..0c31 3.0a1 We3—+ 4. W4t f6 5. W c6t
We6 6.Wg2 He8 (Xe2) 7.2el We3 8.Wg5+
o7 9.0063 WiE2 10.¥g3 Hxe2 11.Wxf2
White now resigned. After 11..8xf2 the
threat is simply ...Hxa2#.

Ex. 14-2

oot

" A.Yusupov — S.Kindermann
Baden-Baden 1992

1.Wes!
(1 point)
The strongest continuation. The queen enters
the attack and supports the strong bishop
on 6. The threat is Exg6T. After 1...g5 there
follows 2.Bxg51! &xg5 3.8+t &f6 4. ¥ixeS#.
1-0

Chicago 1983

1.Dxe4!
(1 point)

The mighty outpost on d3 is destroyed by
means of a tactical operation. It is not so strong
to first play 1.871 &g7 and only then 2.8xe4
(1 consolation point) 2...fxe4 3.¥xe4 Ha3. See
the variation 3.£f71 in the next note.
1...fxed 2.¥xe4 Ba3 3.8¢2

If 3.8f71 g7 4.8f3, then 4..8f4 5.Hxf4
(5.8xd3 Wc5t 6.50h1 &f5 7.Wxf4 Hxd3+)

4. .9xf4 5.Wxf4 Hxf4 6.Bxd7+ and White
still has some technical difficulties.

However 3.8g6! is stronger: 3..Wc5t
4.%h1 D21 5.8x02 Wxf2 6.We7+—

(1 bonus point)

3.. %51 4.0h1 D2t 5.8xf2 Wxf2 6.%d51
hh8?

6.. W7 would have been more stubborn:
7 Wixf7+ oxf7 8. 8xd7T+.
8.¥xd7 Wxe2 9.¥ 8+ oh7

9...@g7 is followed by 10.B2d77 &6
11.Wh8t heS 12.We8+ b 13.Wf71 el
14.%e7+ B2 15.%hat Rfl 16.8f71+—.
10.¥£5+1

Black resigned, in view of 10...%h8 11.82d8+
tg7 12.8d7+ dog8 13.9f71 h8 14.Wh7#.

Ex. 14-4

ol

pOv

jev — A.Yusuj
Bundesliga 1998

1.2 e4!
(2 points)

This is how the knight gets to d6. 1.8)xd5??
would be bad, due to 1...&xd5—+.
1..We7

If 1...dxe4, then 2.8xc4+—.
2.00d6+ £xa4 3.Bxb6 £b3 4.2b7 B6a7
5.8xa7 Bxa7 6.2c8+— Wa3 7.Dxa7 ¥xa7
8.2al Wc5 9.Bb1 De6 10.¥c3 d4 11.exd4
Dxd4 12.¢6! 2f8

12...fxe6 is answered by 13.8xb3+—.
13.Exb3! Hxb3 14.%f6

Black resigned. After 14...Wc7 White wins
with 15.e71! Wxe7 16.¥h8#.

Amsterdam 1972

1.8 7!
(2 points)
Black brings his knight via d5 to the outpost

on ¢3. 1 consolation point for the solid move

1...84d5.
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Solutions

2.¥a1 HA5F 3.50xd4? Hxb4 4.8xb4s Lxd4
5.82c3

If 5.%bl a5! 6.2d2 ¥d6 7.2cl, then
7.. b4+,

5.%d1?! loses after 5...2x£211.
5...8xc3

5..8c5 would also be good: 6.&g7 HfdS
7.8xh6 6 8.8a2 £xa2 9.¥xa21F (Korchnoi).
6.8xc3 HBxc3 7.¥xc3 Wxa4 8.Bal Wd7
9.2a6 Ec8 10.Wa3?

Better is 10.Wal¥F.
10...Bc2!

Threatening Za2. White resigned, on
account of the variation 11.Bxa7 Wxa7

12.¥xa7 Bclt 13.211 2h3—+.

Ex. 14-6

Graz 1978

1.Efel!
(2 points)

This prepares the subsequent forcing play,
which will secure the outpost on e6 for his
bishop.

1.e62! is not so good. Black replies 1...8of8,
intending ®e7 and £d6, and the white passed
pawns will be safely blockaded and defused.

1.8xg4?! hxgd 2.20xgd Dc7 3.d6 De6F
would also be too optimistic.
1...8xe5 2.8xg4 8xb2 3.2e61 Lh8 4.Hed
Ac7 5.8b1 Lg7 6.Exb7 Dxd5 7.213 Hc3
8.8c4 De2t 9.50h2 Dd4 10.Dg5 Bes

Or 10...2db8 11.8xb8% Exb8 12.Hxc5+.
11.8d5 Hec8 12.Bc3! f3 13.Ee3! Habs
14.Hxa7 Be8 15.gxf3 D5 16.2f71 &h7
17.8xe8 Bxe8 18.8e4
1-0

Ex. 14-7

E.Lobron — A.Yusupov
Amsterdam 1994

1.2b5!
(1 point)

White brings his knight to a strong posi-
tion. But 1.8e4?? would be wrong, because of
1...cd—+.
1...cxd4 2.9 exd4!

2.90d6? allows 2...4)d5!F followed by ...&8e3.
2..%Wh4

2..8ed8 3.0d6+
3.963 Wh6 4.2d6 Be7 5.8e4+

Or 5. W21 H\d5 6.Bfel .

Warsaw (rapid) 2008

1...e4!
(1 poine)
Black prepares an outpost on d3.
2.0d4 De5
(another 1 point)
3.b4 Pcd3 4.bxa5 52!

4...Ba6, aiming for a kingside attack with
Zh6 and Wh4, would have been even more
energetic.
5.80b5 £f5 6.8xe5 Dxe5 7.Bfd1 Ha6 8.9 c3
Bh6 9.2f12

Better is 9.g3, although Black keeps
attacking chances with 9...¥e6.
9..2f311 10.gxf3 Wg51 11.0h1 Wh4
0-1

Ex. 14-9

s

S.Lputian A.Yusu DoV

USSR Ch., Minsk 1987

1..2f4!
(2 points)

The simplest solution. Although the knight
was well placed on d3, its regrouping activates
the other pieces!

1...e5? would be bad, due to 2.&f5t. And
only 1 consolation point for the prosaic
solution 1...Wxa2 2.9e2 E4d6—+.

After 1...2)f4 White resigned the game! On
2.¥f3 there is simply 2...Wxf3 3.gxf3 Bad—.
And 2.£3 is hopeless too: 2...4xg2! (also good
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Solutions

is 2..Wxa2—+) 3.bxg2 WcS5—+ artacks the
rook on a7 and at the same time threatens the
discovered attack ...8d27.

USSR Ch., Frunze 1981

1.f3!=
(2 points)

The knight is very well placed on d3. White
has to do something or else Black will support
the strong knight and start an attack on the
kingside.

An equally good alternative to the game
move would be 1.8ce2! Dd7 2.8cl! &3e5
3.0 ce2=.

1.. %7

1..Bcf8 would be simpler: 2.fxe4 Bxflt
3.8xf1 Bxflt 4.0xf1 dxe4 5.%0e2= and White
will play either &)xe4 or Dc2-el.
2.0de2

Black had only reckoned with 2.fxe4 8xf17
3.cbxfl B8t 4.0gl DR 5.8f12 Hixh3H!
6.gxh3 Wo3f+; however, instead of 5.Bf1?
White can win with 5.8e6! Hxh3t 6.gxh3
Wo3t 7. Wo2 Wxe3t 8.%h1 Wxc3 9.H)xf8+—.

For that reason Black should meet 2.fxe4
with 2..Wxc3 3.Bxf6 gxf6 4.Wxd3 Wxd3
5.8xd3 dxe4 6.2d2-=.
2...exf3?!

Better is 2...We5 3.fxe4 Bxf1t 4.%0xf1 dxe4
5.8x%e4 Db2 6.8cl D2c4 7. d4 Wxed 8.bxcd
Wxd4 9.9xd4 Dxcd 10.50e2=.
3.¥xd3e

3.8xf3 Bxf3 4.gxf3 De5=
3...fxe2 4.9\ xe2t

Ex. 14-11

LXUSUpov — IN.
Nussloch 1996

1...c4! 2.8dd1
2.8d22 feSF
2..8c5
(2 points)
Threatening ...2a4 or ...d3.
3.¥c200
3.We5? is followed by 3..Wf8! 4.8l
Dfd7—+.
3..d3F

Ex. 14-12

USSR 1981

1.2e5

The knight is aiming for c6.

1..%d6 2.8 c6
(1 point)
2..Wd7:

Better is 2...8xc6 3.Hxc6+ or even 3.dxc61?+.
3.e5! Hxd5 4.Dxe7t ©Lh8 5.8f3 Hae8
6.2cdl+- Bxe7 7.8xe7 Wxe7 8.8xd5 Hd8
9.%b3 £xd5 10.Bxd5 ExdS 11.¥xd5 &xe5
12.g3 £d6 13.¥d47 Wes 14.8d1
1-0
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17 points and above..‘..‘.......A....‘..‘.),Excellent
. 14 points and above--m Good
10 points » Pass mark

If you scored less than 10 points, we recommend that you read the
chapter again and repeat the exercises which you got wrong.
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Combinations
involving diagonals

In this chapter we shall examine combinations
which exploit an open diagonal. At the same time
we shall learn how we can open a blocked diagonal
by tactical means. Of course the main pieces to
profit from an open diagonal are the queen and the
bishops. The bishops in particular are dependent on
open diagonals to develop their full potential. But
the other pieces must also support the attacking

efforts by the bishop.

In some combinations based on diagonals we shall
see tactical motifs we already know: the discovered
attack (a subject which was treated in Build Up Your
Chess 1, Chapter 7), deflection, etc.

The long diagonal

Diagram 15-1

T

V.Vi; . sy

Simultaneous game

An open long diagonal and the weakness of the black
squares inspire White to a mating attack.
1.2f5!
Threatening Dh6# or Hxe7#.
1...¥ixh4
1...gxf5 loses on the spot to 2.8Bg4t fxg4 3. Wxg4t.
If 1..%¥g5, then 2.Wcl1! Bd1 (2..Wxcl 3.De7#;
2..¥9xf5 3.Whel+-) 3.¥xdl Wxf5 4.¥d4 f6
5.8c4t+—.
2.%hs5!
The threat is once more Dh6#.
If 2...¥xh5, then 3.23e7#; while 2...gxf5 is followed
by 3. Wxh4 6 4.8c4T+—.
1-0
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Combinations involving diagonals

Diagram 15-2

anno — B.Malic
Mumch Olympiad 1958

1.8xe5! Exc2?

This intermediate move is refuted in an instructive
way. 1...8xe5 is met by 2.8)c6 and White wins at
least the exchange, since 2...Bb7? loses to 3.8e77.
2.8xg7! Hxcl 3.8f6

Threatening Who.
3...2f8 4.¥xcl

White has two pieces for the rook and a strong
attack on the king.
4...0e8 5.Wc7

Black is losing the d6-pawn as well, so he decided
to put an end to his torture.

1-0

Heidelberg 1949

1...ﬂxg2'}'!

Black opens the long diagonal with a combination.
2.5hxg2 Bxf21!

White resigned, in view of 2.8xf2 €3t 3.8d5
Wxf21 4.Bh1 Wxelt 5.%h2 W21 6.8h1 e2—+.

15-4

enker — Gonzales
1945

White is well placed here and finds an elegant way to
finish the game.
L.Dxf71!

1.¥h4! hS 2.g4+— or 1.9xh7! xh7 2.Wh4t &g8
3.Wh6+— would also be good.
1..2xf7

1...Bxf7 is followed by 2.8xf7 &xf7 3.Whe!! ¥g8
(3...20xh6 4.71+-) 4.8el!+— and then Be8!.
2.¥he!

Black resigned, on account of 2..Eg8 (2..8xh6
3.671 Mo 4.8xf6#) 3.8xf7 W 4.2d5+ Wxh6
5.£71 Bg7 6.f8=%#.
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Tactics 7

Opening a blocked diagonal

As we have already seen, sometimes a blocked
diagonal can be opened. This very often happens
after a pawn sacrifice, but more costly sacrifices
are also possible in order, e.g. to activate a queen +
bishop battery.

Diagram 15-5

EEnglund — A.Perfiliev

Stockholm 1926

1.d5!

White breaks open Black’s defences.
1...cxd5 2.8xf5! exf5

Black voluntarily allows the opening of the long
diagonal. 2...2g6 3.Bxg5+ would have been better.
3.e6! ¥xd6 4.£b2+— Bdd7 5.exd7 ¥xf6 6.dxe8=1
1-0

Rio Hondo 1966

White prepares for the opening of the long diagonal.
1.h6 g6

1...gxh6 is also answered by 2.8e6!+—.
2.8e6 £.c8 3.d5%

3.8a2, intending ¢4 and d5, is also good.
3...8xe6 4.Wd21

4.dxe6 allows Black to obtain counterplay by
4..Bfd8.
4..Bf72!

4...$hg8 would be a bit more stubborn: 5.¥d4 We7
6.c4d Bf7 7.dxe6t Wxe6 8.Wo77 Hhe8 9.Wxh7 Hc8
10.8b11+—.
5.Md4+

5.dxe6 is also good.
5...52g8 6.c4+—

The queen and bishop battery gives White a
powerful attack.
6... 218 7.dxe6 Bfa7 8.¥h8t he7 9.Wg7 2!

There is a simpler win by 9.¥xh7+ (Kotov).
9...0xe6?

9...2e8 is a better defensive try, although White
retains a strong attack with 10.¥e5.
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Combinations involving diagonals

10.¥f6t sbd7 11.8d1t 7

11..%5c8 loses immediately to 12.Wc6T. While
if 11...%0e8, then 12.Wc6t he7 (12..%0f7 13.8d71
Bxd7 14.¥xd7+ We7 15.¥d5t+-) 13.2d4+—.
12.8e5%
1-0

Combinations on other diagonals
And here are two more beautiful and instructive
examples of combinations involving a diagonal.

Diagram 15-7
The end of a study b

Nmﬂ?fﬁ&miner
1925

1.2d6!

After this quiet move, Black is in zugzwang. He
must pin the g2-pawn and control both the el-
h4 diagonal and the d8-h4 diagonal. Even a piece
as strong as the queen is overloaded with these
numerous tasks.

1... M4+

l..gd 2.8e71+— 1..We2 2.&03#; 1..Wel 2.g37.
2.g31!

A draw would be the outcome after 2.8xf4 gxf4
3.g371 fxg3T 4.%g2 g5 5.%xg3=.
2..Wxg3t 3.8xg3#

Diagram 15-8
'The end of a study by

1922

How can White stop the a-pawn?
1.d3!

He prepares a beautiful mating atcack!
1...a2 2.c4t! 5

2...dxc3 clearly loses to 3.8xc3.
3.50b71 a1-W

King moves are simply met by 4.8xd4.
4.8e7#

In the test which follows, please try to exploit the
power of the pieces which move diagonally, the queen

and the bishop.
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Solutions

Moscow 1954

1.¥xh74 Hxh7 2.8xh71 &8
Or 2...52h8 3.9g6#.
3.Dg6#
(1 point)

Ex. 15-2

1969

1.Exf7! ¥xf7 2. ¥xh7+!
The point of the combination.

2..¥xh7 3.87#

L.2f21!
With this move Black wins a tempo for the
redeployment of the queen.

2.8xf2 W1+ 3.8g1 ¥3#
(1 point)

Ex. 15-4

Wachtel — Musiol
Poland 1953

1.Be5!
(2 points)

A surprising finish. White is threatening
2.Bxc57 bxc5 3.8c7#. The only way for Black
to stop a quick mate is with silly moves like
1...b5 or 1..Eb5, but then he loses the rook.
So he resigned.

If 1..8xe5, then 2.8xe5 bS5 3.8c7# or
2..8e2 3.8c3%.

Ex. 15-5

0os1o0nznikK — 3, Y€roreev
Serpukhov 2002

1..5xd4! 2.¥xd4
2.4 Hxf3t—+ would have been more
stubborn.
2...8xe3
0-1

(1 point)

Budapest 1956

1...Bxd6!
But not the immediate 1..Bf31? 2.gx{3
£f17, on account of 3.8g2+.
2.8xd6 Bf31! 3.gxf3 &f1#
(1 point)

Nuremberg 1955

1...8e3% 2.1
After 2.%¢3 the reply 2...Hg8% wins. Now
comes an elegant finish.
2..Wxf311 3.gxf3 &h3#
(1 point)

Ex. 15-8

Prague 1960

1.b4!

This prepares £b2.
1..%ds8

Or 1.. W56 2. Wxf6t+—.
2.¥xf6+! Rxf6

2..%g8 3.8b2 QxdS 4. We7#
3.8b2#

(2 points)
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Solutions

Ex. 15-9

“E.Guttmann_
1935

White can force mate.
1.8d6!
(1 point)
1.8b4? loses to 1...E2c7!, while 1.£c5? loses
to 1...2d7!.
1...Ef5 2.8b4!
(another 1 point)
But not 2.2a3? Bb5—+.
2...8f3 3.8c5! Bf4 4.8a3!

(another 1 point)

Ex. 15-11
R i m—

c— L.Masic
Yugoslavia 1965

White exploits the activity of his pieces.

1.8xg6!

1...fxg6
Or 1...hxg6 2. Wh8#.

2. We6#

(1 point)

Mending 1987

4..8b4 5.8xb4 £f3 6.8c3#
1.8xe5!
(1 point)
The threat is D f7#.
1..Bxf2+
1...dxe5 2.2xe5+1 Bf6 3.8xf6#
White carries out a typical mating 2.%h1h5
combination. If 2..8h2f 3.%xh2 We2y, then 4.khl
1.¥e6t!! fxe6 2.82h5T g63.§,xg6# (also good is 4.2g2) 4..Wxedt 5.231 Dd4
(1 point)  6.8xd4t+—.
3.0¢71 &h7 4.8Bg7#
(1 bonus point for this variation)
Scoring
Maximum number of points is 17
- 15 points and above--»Excellent
- 12 points and above-» Good
9 points »Pass mark

Ifyou scored less than 9 points, we recommend that you read the
chapter again and repeat the exercises which you got wrong.
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CHAPTER 16

Flementary endgames

In this chapter we shall take a look at some elementary
endgames with a queen against one or two minor
pieces. No specific theoretical knowledge is required
to play these endgames well. But it is very important
for you to develop the skill of coordinating your
pieces (here queen and king) properly. At the same
time, the stronger side must learn to play against well
coordinated pieces in the hands of the opponent, in
order to be able to disrupt that coordination.

The first two endings are compulsory. They must
be very well understood! The final three are more
optional; we study them in order to improve our
understanding of the coordination of the pieces.

Queen against bishop
This ending is very simple. The stronger side should
be able to win quickly and easily.

Diagram 16-1

Based on

White forces the opposing king to the edge of the
board and either delivers mate directly or first wins
the bishop.
1.%b5 d6 2.2d4 £c6 3.Wb6 Dd7 4.8c5 £f3
5.8 d6t hes

If 5...8¢8, then 6.8b6 followed by 7.¥c7#.
6.Mc7 g2 7.Wg7 &f3 8.8d6

And mate next move.

Queen against knight

Here you have to take care not to allow any forks!
But the stronger side wins easily if he posts his pieces
correctly.

Diagram 16-2

Based on

1.%b2 2d5 2.¢0c3 Dedt 3.2d3 D5t 4.3
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Elementary endgames

This is the ideal position for the white king —
separated from the knight by one square diagonally.
This means that the knight cannot give check at once;
it needs three moves to do so!
4...80e6 5.Wf5t Bd6 6.0e4 D5t 7.52d4 DeGt
8.c4

Once again the ideal position has been reached.
8..2c7 9.¥g6t De6 10.¥f6 Rd7 11.8d5 D7t
12.%e5

The same method as before.
12..0e8

Or 12.%c8 13.We7 &b8 14.%d6 Qb5t
15.¢¢5 (but not 15.%2¢6 a7+ 16.8b62? allowing
16..0c8T) 15..0a7 16.Wd7 (16.8b62? @c8Y)
16...80¢8 17.2b5 Ha7+ 18.%9a6 and mares.
13.9£7t d8 14.2d5 D7t 15.8c6

White mates next move.

Queen against two knights

Somewhat surprisingly, the weaker side can hold this
ending in most cases, provided he places his knights
next to the king. The knights should protect
the king, but not each other! The defence is very
difficult. Fortunately the ending only occurs rarely in
praxis.

Diagram 16-3

1.5bf3

Here is an example of how this position can be held
with good defence.
1..5ed7

It is also possible to play 1.7 2.%g4 and now
2..d6=.

On the other hand, 2..8fg5? is a mistake and
even loses the game: 3.%f5 He8 (3..5F7 4.Wb4t
&d7 5.Wadt he7 6.Wa7t+—) 4.Wd3 the7 5.Wd5
bf7 6.Md7+ o8 7.We8t dg7 8.Wg6t &fS
9.bf6+—
2.hg4 e7 3.Wd5 Rd7 4.Wa5 Re7 5.Wa7t Bf6
6.8d7 &7 7.0h5 De5 8.%d6 D7 9.¥b6

Diagram 16-4
9..0e5

9..%e7? 10.Wa71! &fc 11.WR21! he7 12.Whdt
dd7 13.82¢6 Dd6 14.%h3 &e7 15.Wh7 &d8
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Endgame 3

16.5216 is very dangerous for Black. If White plays
correctly he should win this position.
10.¥£21 che7!

10...89g7?? is bad, because of 11.Wf5 §1d3 12.¥g6t
&h8 13.82h6+—.
11.%2h6 D7+ 12.5g6

Diagram 16-5

12...2f8+!

Black should try not to let the white king approach
the knights via f6.
13.22g7 De6t 14.2g8 Nd6 15.Wh4t &d7 16.¥f6
7=

Queen against two bishops
The stronger side almost always wins, but the method
is extremely complicated and requires a large number
of moves. You have to break the coordination of the
defending side!

For practical play, the important thing to note is
that the bishops do best to remain close to the
king.

Diagram 16-6

1.YWg5+ bd7 2.80d3 Re7 3.Wg7 kes 4.50d4 £d6
5.Wg5 bd7 6.Wf6 £c7 7.0c5 £d6T 8.82b6 L7t
9.52b5 £d6 10.¥g6 Le7 11.Wd3+ £d6 12.¥h7t
8e7 13.82b6 £d5 14.¥g6 246 15.¥f51 Le6
16.Wh71 Le7 17.We4

Diagram 16-7

White is trying to disorganize the black defence
and force one bishop to distance itself from its king.
Then it will easily fall prey to a double attack.
17..8d8%

If 17..8d6" then 18.Wb7+ he8 19.Wg7 &d7
20.Wh7 2e6 21.0c6 Le7 22. W6t &7 23. W5 2e8
24.9h5t Bf8 (or 24..87 25.Wh8t &f8 26.WeSt
$e7 27.Wb8t £d8 28.Wc8+-) 25.80d7 &6 26.¥g6
8b2 27.Wd6t &f7 28.Wd5t Rfs 29.Wa8t g7
30.@g21‘+——.
18.2b5 256 19.¥c6t De7 20.Wc7+ &8 21.%h7
887 22,85 Re7 23.8c6 Re6 24.¥h3t Des5
25.2d7 £g5 26.Wg3+ bf5 27. W63+ &f4 28.c0e7
Bc4 29.%c6 g5t 30.2d6 &f4t 31.%d7 27
32.%¢7 £h5 33.Wc51 g6
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Elementary endgames

33...5%0¢4 34.52f6 £h6 35.Wf51 dhh4 36.We5 hgd
37 Wedt Bh3 38.Wh7+—
34.Wd5 8¢5 35.0e6 Lg4T 36.2e5 £h6 37.Wd6t
g5 38. 916t ©h5 39.ed L5 40.%f71 bhd

40...2h6 41.%e5 Le3 42.Wd5 dhs (42..8¢5
43.Whit &g6 44.Wedt ©h5 45.Wh7t 4h6
46.5f6+-) 43.2f6T h4 44.WeS Ra7 45 Welt dh3
46.0g5 £f3 47 Bf4+—
41.Wh7+ g3 42.¥g7 &h4

Or 42..55hd 43.Wh8t g3 44.We5T chh4
45.%h2+ &h3 46.f3+—.
43.Wc31 bg2 44.50f4 Re2 45.We3 Ra6 46.Wf31
h2 47.%h5 ®h3 48.Wgsts—

With optimal play, White has succeeded in winning
a piece in 49 moves! Of course, such technique
is not usually demanded of us. But this example
demonstrates to us the depth and the secrets of the
game of chess!

It is perhaps more useful to make a note of the only
drawing position.

2.¥d6 b7 3.4 La7! (3..48c77 4.We7 Bbo
5.Wb4t Ra7 6.8c5+—~) 4.We7T ®b8=
2...5kb7 3.Wd6 La7

3..8c7 4.¥e7 hb6= is possible here, because
White cannot give check on b4.
4.We7t &b6!

4...$bb8? is bad, on account of 5.%a5+—.
5.%ds+

5. W7 2b8!=

5.82c4 2b8 6.Wb4t de7! 7.Wa5t b7 8.%c5
£a7t=
5...88b7 6.%a5 &c5

The position is a mutual zugzwang; White to play
cannot make any progress.

Diagram 16-8
ISR B R .Lollif'._ A DA SR L S TN T R S 8
176

5 7
The white king cannot get close enough to the 6

bishops. :
1.¥e7+ g 3
But not 1...2c7?? in view of 2.80¢c5+—. 4
Z.wCGT 3
2
1
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Diagram 16-9 VAN
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Diagram 16-10 AN

2
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efgh

Endgame 3

Queen against bishop and knight

The stronger side normally wins more easily than
against two bishops. There are only a few drawing
positions.

Diagram 16-9

1.8d3 D7 2.ed De6 3.Wg5 hd7 4.Wg8 &6
5.Wc4at Rd7 6.5 de7 7.Wc6

It is very difficult to organize the defence, since the
knight is often in danger of being pinned.
7..0e8 8.Wedt Rd7 9. Wect

Of course, the attack is carried out mainly on the
light squares.
9...2d8 10.2e4 £e7 11.%h3

11.52d52 Dc7t=
11..0¢7 12.0e5 £c5 13.Wg4 Le7 14.8f5

If the black king is on the edge, there are fewer
possibilities for a defence.
14...8c5 15.5266 De8t

15...8e71 16.2f7 2d6 17.Wh30 &c5 (17...8b5
18.Md3+-) 18.%d37 8 19.Wf51+—
16.52g6 £e7 17.Wa5+ od7

17..8c7 18.56f7 £d6 (18..50d7 19.Wadt chds
20.¥d41+—) 19.9f5 &b4 (19..£h2 20.Wd3t+-)
20.¥g5t+—
18.Wa4t 2d8 19.27 Dd6+T 20.Re6+—

Here is another important fortress, which should be
known.

Diagram 16-10

" M.Karstedt

The bishop and knight have constructed a barrier
which the white king cannot break through.
1.82¢7 £h8 2.0e6

Or 2.We8t &h7 3.¢hf8 Lo71t=.
2..8g7 3.5 2h8 4.50g5 fg7 5.West &h7
6.%2h5 £h8 7.We7t £g7-
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Exercises
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1.8b3!
(2 points)

Other moves lose:

a) 1.%6b2? ¥xd1!'-+ (but not 1..Wxe4?
2.8c2=)

b) 1.Bel? W3+

c) 1.8a4? @g7!—+

d) 1.Bh47? &g7 2.8h1 Wd47—+

e) 1.2&c2? is followed by 1..¥xc2 2.Bh47
(or 2.8e71 ®h6 3.8e61 @gS 4 He5t thfb4—)
2..5kg7! 3.Bg4t hfc 4. 84T BeS—+.

However, for 1.8c2? you sill get 1
consolation point.
1...¥xe4

If 1..%xb3, then the ‘desperado’ rook
does work properly: 2.8h4i g6 3.2hGT
s 4.8h5t de6 5.8h6t Res 6.8h5T dd4
7.2h4t &c5 8.8h5t cd 9.Bhdt b5
10.2h5+ a4 11.2a5T!=

After 1...8h6 comes 2.BeGt=.
2.8c21

(1 point) ‘

2...%xc2 stalemate

Fx. 16-2
The end of a study b

1950

The same motif as in Ex. 16-1.
1.£7+! ¥xf7
1..xf7 2.8h5+=<
2.82b3! Wxb3 stalemate
(1 point)

Ex. 16-3
The end of a study by

E.Dobrescu
1967

1.2b8!

1.8b8? loses after 1...Wc6t 2.8b7 Bab—+.

Nor is 1.8Bb7? any better, on account of
1. %8t 2.2b8 (2.2b8 WeGi—+) 2. W6
3.0a7 Wa6#.

If 1.BhG? then 1..Wd8+ 2.8b8 (2.%b7
We7t 3.2b8 Wf8t—+) 2..Wd5T 3.%2a7 W7+
4.0a8 W3t 5.0a7 We3t—+.
1...¥xb6 2.2c7! Wxc7 stalemate

(1 point)

Ex. 16-4
The end of a study by

1.63! g1-¥ 2.9g4t h1 3.2021 dh2
4.9 g4t ©h3 5.002+
With perpetual check.
(1 point)

Ex. 16-5
'The end of a study by

1.c7%
(1 poing)
1...2a8!
1..2c8 2.9e7t &d7 3.c8W1=
2.c8=W¥11
(another 1 point)
2.8\e7? loses after 2..We3t 3.0c6 (3.%a6
Wa7t—1; 3.90b5 West 4.50b6 Wdot 5.8c6
We6 6.52b5 Wc8—+) 3..WeGt 4.50b5 Wd7+
5.¢6b6 Wdet 6.8c6 We6 7.0c5 We3t 8.80d6
bb7—+.
2..¥xc8 3.7t 2b8 4.Da6t Pa8 5.7+
With perpetual check.
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Ex. 16-6
The end of a study by

_E.Pogosiants

1979

1.c7!

But not 1.%¢a7? because of 1..al=¥t
2.50b6 Wglt 3.0a6 W2 4.0a5 Wc5 5.c7
b7 6.%9a4 Hb6—+.
1...a1=¥+ 2.9 a7+ @xc7 stalemate

(1 point)

Ex. 16-7
The end of a study by

o o m—

1928

Here 1.9ac6? would be bad: 1..#f6t 2.%2¢8
Wd6 3.%f7 Hb7 4.ke8 b6 5.2f7 &c7
6.%e8 WeGT 7.8 WGT 8.2e8 d6+—
But a typical idea comes to White’s rescue.
1.2bc6!
(1 point)
The black king is now blocked in the corner
and can only get out if White is put into
zugzwang. But if the white king stays near the
knights there is no danger of that.
1. ¥fet
Or 1..Wel 2.5f7!=,
2.e8!=
(another 1 point)
But not 2.%g8? in view of 2..¥f2 3.chg7
W5 4.50h6 Wgd 5.%h7 Wg5 6.5h8 Wg6
7.9De7 WfGt—+.

Ex. 16-8
The end of a study by

1.¥h8t
(1 point)
1.¥a8+ would also be good enough:
1.%g7 2.Wa7 &c3 3.Wglt &h7 4.Wh2t
@gS 5.%b8+ &h7 6.Wc7+—
1..8g8

~ Solutions

If 1...%e7, then 2.Wh4++—.

2.®g6!+—
Followed by ¥Wg7+.
(another 1 point)
Ex. 16-9
The end of a study by
R —

1.82d70
(1 point)

Zugzwang is the best weapon against a
fortress.
L..2b4

Or1..80c3 2. Wg51 ®h7 (2.8 3.¥c5++-)
3. W16+,
2.Wg5+ f8 3. Wc5t+—

(another 1 point)

Ex. 16-10
The end of a study by

elung

1.8e71N
(1 point)
1...Re8
1...Bxe7 2.9Dc6F=; 1. Wxe7 2.9g67=
2.8f6 ¥b6 3.8¢7'-

(another 1 point)
White has reached the drawing position
from Diagram 16-10.

Ex. 16-11

1948

1.2h2+ 2a8!
Black can even lose: 1...8¢82? 2.9)d6+ &9b8
(2...52d8 3.8b71+-) 3.900b71+—

(1 point for this variation)
2.7t ®a7 3.0b51 a6 4.Dc7t La7
5.0b5%=

(1 point)
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Fx. 16-12
The end of a study by

1.8a71!
1.££47? (1 consolation point) just leads to a
draw after 1.. W¢7=.
1.7
1...%a8 2.2f31 Wd5 3.&xd5#
2.8b6%+—
(2 points)

S

oring

Maximum number of points is 21

= 18 points and above-»Excellent

10 points »Pass mark

If you scored less than 10 points, we recommend that you read the
chapter again and repeat the exercises which you got wrong.
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Other combinations

Ter |/

Combinations with -

knights

The knight is a very valuable attacking piece, which
can simultaneously control various squares within a
defined radius. The knight is a close-quarter fighter.
So it has to get close to opposing pieces, because only
then can it show what it can achieve. In general the
knight needs support from other pieces; it is also very
good at cooperating with such forces.

We have already learned about a very important
knight combination in Build Up Your Chess 1,
Chapter 23, ‘Smothered mate’. Here are some more
examples.

White obstructs the 7th rank in order to seize control
of the f7-square.
1.2d7! £xd7

A better defence is 1...g6 2.E8xc7 gxh5 3.9x{7+.
2.8xf71 Rh8 3.Lc4l+—

The key move. There is no satisfactory defence
against the threat of Wg8#.
3..5\g6

3..8e6 4.¥xc7+—; 3...00e6 4.Dxeb+—
4.Mg81!

Preparing the way for the knight’s grand entrance.
4..Hxg8 5.0\f7#

1...2f11!

This typical combination is not the only way to
win the game, but it is certainly the most elegant.
1..E2d2 2.81xd2 (2.8xd5 Bxd1i—+) 2..Wc51 3.1
Axd21—+ would also be good.
2.Bxf1
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Diagram 17-3
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Combinations with knights

Or 2.8xf1 W5t 3.¢egl WSt 4.2h1 D21 5.8l

&Hh3t 6.%h1 Weolt 7.8xgl @f2# with a smothered

mate.
And White resigned, in view of 3.5bh1 H\P2F

4.§?g1 (or 4.8Bxf2 Wclt 5.8Bd1 BExdli—+) 4...20h37T
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Diagram 17-6

aowa

A A

Tactics 8

A somewhat more complicated combination was
executed in the next example.

Diagram 17-6

1.Bxe6! Wxc4

1...dxe6 is followed by 2.&xe6t Ef7 3.Wxd4 &f8
4.90d6! Bd8 5.8xf7 Wxd6 (5..8xd6 6.Wg7+ ey
7.8xg6t Rd8 8.Wfgt hd7 9.Wes#) 6.Wg7t he7
7.8c4t D8 8. W74,
2.Bxg6t ©h8

2...hxg6 3.¥ixgGt Bh8 4. Wg7#

2..%f7 3.9d6T e7 4.WgST BI6 5. WxfG#
3.2d6

White brings his knight closer to the opposing king
with gain of tempo.
3..¥ds

Diagram 17-7

4.Hg81!

The decisive blow. White blocks in the black king
and diverts the defence from the f7-square.
4...Bxg8

Or 4...Wxg8 5.Wxd4t+—.
5.Wxd4 1! Wxd4 6.0 F7#

The numerous attacking possibilities of the knight
are utilized in many studies. Here are just a few
spectacular examples.

Diagram 17-8
The end of a study by

1925

1.82a5!
Can the king still stop this passed pawn?
1...a3
1...xc4 2.hxad+—
2.%a4 a2 3.82b3! a1=W
The race against the pawn has been lost, but in the
end it is the knight which makes the running!

4.9 e6#
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Combinations with knights
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Tactics 8

Diagram 17-12 A ~ Diagram 17-12

3.8xd4t Wxd4 4.9xd4 Pxd4 5.50f4 &xd3 6.@g5
thed 7.50h6 f5 8.¢bxh7 &6 would only lead to a
/// % draw.
3..%a5

3..h6 4.8e5+—; 3..80d2 4.9b3F+—
abcdefgh 4.8xd4t!
Followed by &b37 with a thematic fork.

7 T w———
8 / /% / / /‘ 1909
7
%% % % ””” %% How can the a-pawn be stopped?
6 , %7 . / 1.866 d4 2.9e2! al =¥ 3.Pc1n
5 / /% ‘ / % 8 White does not want to win the queen yet. The
4 7 % % threat is now 2g5%.
3
2
1
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Solutions

Ex. 17-1

s

1...00e4!
(1 point)
A lovely deflection.
2.Wxed ¥xc5t 3.80h2 Wxd6T

Ex. 17-2

s

Russian Ch., Kiev 1903

1.2e71!
(1 point)
1...28xe7
1...82xe7 2.Wxe7+—
2.Bd8t
2. Wxe72? Wxc2#
2...2e8 3. 91811
1-0
(another 1 point for this variation)

1...Bxd5!
(1 point)
But not 1..8xf4? on account of 2.8xf4
HxeS 3.Bxd8 Bxh5 4.Bxf81 &xf8 5.0)xh5+—.
2.2dxd5
Or 2.Bexd5 Wbt 3.%0h1 Hxf4+—.
2.. b6t 3.2h1 Dxfs—+

(another 1 point)

Ex. 17-4

Belgrade simultaneous 1931

1.5 e61!

The best solution, but there is also a win
after 1.9xf7! &g4t 2.8c2 Ddxf7 3.We7t
@gS 4.8xh6+— (also 1 point).
1...5xe6

1..8xe6 2.We7t &g8 3.We8# 1..0e8
2.¥xd8#
2.We7t g8 3.West DB 4. e7#
(1 point)

Moscow 1975

1.¥cn
(1 point)
Threatening 2.Wb8t Hxb8 3.Ac7#.
1.8)c77! also leads to a rapid victory after
1...52b8 2.8\b5+— (also 1 point).
1...Bxa6
Or 1...82xa6 2. Wxa7#.
2.¥xb7#

Ex. 17-6

N.N. — K.Richter
1938

1...sbf1!
(1 point)
But not 1...Hg4? which allows 2.sg2=.
2.8Bxh3
Or 2.Ef8t &2t with a winning ending for
Black.
2..0g4
0-1
White cannot prevent 3...)24.
(another 1 point)

Ex. 17-7

" Aik — Derremo
1970

1..Ded!—+ 2.¥xe7
Or 2.dxed Wxb4—+.
2..0d2#
(1 point)
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JOKOJOWCZ - s Zanam:
Polish Ch., Piotrkow Trybunalski 1977

1.2g71
(1 point)

‘Threatening 2.8d41 f4 3.0 e6#.

1.Bxd6! (also 1 point) is good too: 1...cxd6
(1..9xf5 2.8d5t+) 2.%9xe7+—
1...c5 2.2.d41!

Black resigned, in view of 2...cxd4 3.cxd4t
b4 4.9 e6H#.

(1 bonus point for this variation)

Ex. 17-9

Variation from the game

Belgrade Candidates 1959

1.%d6M+—

(2 points)

White defends against Wh6# and is ready to
meet 1...¥xd6 with 2.95T+—.

Stopping the mate by 1.2e6T fxe6 2.¥b77
would leave White in trouble after 2...9f7
3.Wb5 g6t 4.2h4 Wedt 5.g4 Welt 6.82h3
Wf2—+ as Black plans &6 and ©g57.

Ex.17-10

Koch ~Stuber E—
1934

1.5)ds!
(1 point)
But not 1.9g5? Wxd5 2.He81 because of
2. Q8.
1..Bxg2ih
If 1..WxdS, then 2.Be8t Hf8 (2..Wg8
3.0f7#) 3.Bxf81 Wg8 4.2f7#.

2.511!

(another 1 point)
2.5bh1! also wins. :
But 2.¥xg2?! Bxd8+ would not be so good.

And certainly not 2@?xg2? due to 2..%xd5t
3.§§g1 NF8—+.
2..Bglt 3.xgl Wg6t 4.8g3

1-0
Ex. 17-11
Dartov—Koan
Riga 1977
1...Bxc4!
(1 point)
2.8xc4 b6

2...e51! 3.dxe5T & xe5—+ is even better, with
the threats of @xc4, ©d3# or Dgb#.
3.8c5 Dd5t 4.Bxd5 exd5 5.e4 fxed 6.fxed
dxed—+

Black wins, thanks to his outside passed
pawn.

Sombor 1973

1...gl!
(1 point)
The threat is now &g3-h1-f2#. If 1...‘?3g3,
then either 2.%h2= or 2.8xg6 &gl 3.8xh5!=.
2.8xf5
2.g4 is followed by 2..&g3 3.gxh5 gxh5
4.8g6 Dh1 5.8xh5 D24,
(another 1 point for this variation)
2..gxf5 3.g3 02! 4.g4
Or 4.gxf4 Bxf3—+.
4...fxg4t 5.fxg4 De2
0-1
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««««« Maximum number of points is 19

10 points : »Pass mark

If you scored less than 10 points, we recommend that you read the
chapter again and repeat the exercises which you got wrong.
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e 18

The principles behind

mobilization

In the lesson ‘Basic opening principles (Build
Up Your Chess 1, Chapter 3), we described rapid
development of all the pieces as one of the most
important principles of play in the opening. In
this lesson we shall revisit this central principle, in
order to treat in greater depth the mobilization of
our forces.

The art of the opening consists of rendering effective the
pieces which were initially blocked in, of freeing the
pieces by a small number of pawn moves and placing
them in favourable positions, and doing so as quickly
as possible. One must make the most of each and every
tempo, advancing move by move. The best way to
develop the pieces is according to their value: first the
pawns or at least one pawn, then the minor pieces, and
finally the major ones — Tarrasch “The Game of Chess’

The side which brings its pieces into play faster and
better usually obtains the initiative as a result, and
can attack the opponent first.

Here are some guidelines which a less experienced
chess player must follow in order to successfully
survive the complicated opening phase of the game.
You must of course understand that these rules — as
so often is the case in chess — are in no way absolute,
and that you can sometimes break them. However,
you should only do this if you acquire important
advantages, such as, for example, a major gain in
material, control of the centre or the disruption of
your opponent’s development.

The principles behind mobilization

1) If possible, in the opening never move the
same piece twice!

You should first try to bring other pieces into play!

2) Don’t waste time on unnecessary moves with
rook pawns!

(In praxis there are frequent exceptions to this
rule. Sometimes the moves h2-h3 or h7-hG are
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The principles behind mobilization

important to prevent the pinning of the knight on
f3 [f6] by a bishop move to g4 [g5]. Nevertheless,
you should weigh up such moves very carefully,
because they cost time and can weaken your own
castled position.)

3) Do not move the queen prematurely!

The queen is the strongest piece and it is very
important to have it well posted. If you bring out the
queen too early and too far, your opponent can gain
time for development by attacking the queen with his
pieces.

4) Do not start any premature or unprepared
attacks!

5) In open positions, do not play to win a pawn
if it results in you neglecting your development!

The time wasted doing this can lead to a dangerous
lead in development for your opponent, and that can
result in your coming under attack. But in closed
positions the loss of a tempo plays a less important
role.

6) Put your king in a safe position!

A king in the centre can come under attack very
quickly. In an open position, casting must be
prepared as soon as possible. This also brings the
rooks into play.

Please study the following games and take note
of how these guidelines work in praxis, or how the
neglect of these principles is punished.

Swiss Team Ch. 2004

1.d4 &6 2.3 e6 3.¢3 b6 4.82d3 Le7 5.c4 &b7
6.8¢c3
Diagram 18-1
6...82b42
Black makes an unprovoked second move with a
piece which is already developed and loses a tempo.
6...d5 would be the correct move.

7.82d2 c5 8.0-0 0-0 9.a3 £xc3 10.8xc3
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Opening 2

Diagram 18-2
10...De4?!

Black is now feeling the consequences of the mistake
on move 6: his opponent has the bishop pair. But
this fresh loss of time does not improve his position.
10...d6 would be preferable.
11.8xe4 fxe4 12.dxc5 bxc5 13.¥d6!+

The threat is not only 14.Wxc5, but also 14.¥e5!.
13...8xf3 14.gxf3

White now wants to attack down the g-file. Black
cannot exploit the weakening of the white pawn
structure on the kingside, since he must defend his
own weaknesses on d7 and c5 as well as his king.
14.. W5+t 15.50h1 W5 16.Wg3 g6 17.¢4

White exploits the exposed position of the
opposing queen to make some useful moves. Here he
gains space and fixes the black pawn on d7.
17..%hs5

Diagram 18-3
18.8ad1!

White not only brings his reserves into play (even
in the middlegame you should not forget about
mobilization!), but at the same time he hinders his
opponent’s normal development.
18...f5

Black looks for counterplay. But his knight and the
rook on a8 are not yet developed. For that reason his
attack has no real chance against four white pieces.

But unfortunately he cannot bring his knight
into play either, since 18...23c6? is simply met by
19.8xd7+.
19.2d3! fxe4 20.fxe4

Diagram 18-4
20...%e2

Black strayed from the correct path on move 6 and
is still not sticking to the rules described above. He
may win a pawn, but in doing so he comes under a
strong attack by White.
21.8el ¥xf2 22.%es

The black squares are too weak, the threat is mate.
22...50f7

‘The only move, but in the centre his king will come
under further attack.
23.Bed1!+-
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The principles behind mobilization

Threatening &xd7%. All the white pieces are now

attacking.
23...%0e8

23...%e7 is followed by 24.8xd71! Hxd7 25.Wd6+
bf7 26.¥xd7 g8 27.Wg7#.

Diagram 18-5

24. %71

This once more hinders the development of the
knight.
24.. Wh4

If 24..Wf4, then 25.Wc8t &f7 26.8Bxd7+ Hxd7
27 ¥ixd7t dog8 28.Wg7#.
25. %8+

The simplest solution.
25..%d8 26.%b7 Hc6 27.8xd7 W8 28.21d6
Wxb7 29.8xb7

There is no hope for the black position. The game
finished:
29..0d8 30.Bxh7 Bf7 31.EBxf7 &xf7 32.8a5
he8 33.Exd8t Bxd8 34.8xd8 ®xd8 35.e5 ®d7
36.5eg2 she7 37.50f3 f7 38.264 a5 39.50g5 hg7
(39...a4 40.22h60) 40.b3
1-0

USSR Ch. semi-final 1960

L.e4 5 2.9f3 Dc6 3.d4 d5?
Diagram 18-6

A very bad move. Not only does Black bring his
queen into play too soon, but he also opens up the
position, which is very advantageous for the better
developed side. Of course 3...cxd4 should be played.
4.exd5 ¥xd5 5.2 c3

Gaining a tempo.
5...¥e6t

5..%d8 6.d5+
6.8¢3! cxd4 7.Dxd4 Wd72!

‘The third move with the queen already, and yet it
still cannot find a safe position. White has obtained a
powerful lead in development.

If7...80xd4 8.Wxd4 &d7, then 9.8b5!+—. However,
7..¥e5+ would have been more stubborn.

8.2db5!+—
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Opening 2

Diagram 18-7

In this case the second move by the knight is
justified. White has more developed pieces and now
wants to punish his opponent for his poor play. He
takes a favourable opportunity to mount an attack.
8...2b8

If 8...a6, then 9.Wxd7+ &xd7 10.0-0—0t followed
by &c7.
9.¥e2!

White prepares the move Ed1, which will gain
another tempo.
9..f6

Clearing the f7-square for the king. Black is already
out of normal moves.

9...€6 is followed by 10.2d1 We7 11.8f4+—.
10.2d1 Wg4 11.63 Wh5 12.8xa7! Hxa7 13.2d61!

And Black resigned. The black king in the centre is
subject to a devastating attack. The conclusion might
have been 13...%2d7 14.8)xc8t Hxc8 15.We6t 7
16.8d7+ &c8 17.Hxe7t bd8 18.¥d7#.

In the test which follows you should try to exploit a
lead in development.
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~ Solutions

Graz 1981

1...8h21!
(1 poing)

2.5bxh2

Or 2.%f1 88—+
2..¥xf2 3.gxh5 Bfg 4.Dgl De5 5.8h6
Hxd3

White resigned. 6.82xf8 allows 6..Wf4+
7.%0h1 &f2#, while 6.8f1 is simply met by
7.. Wixf1 8.8xf1 Hxfl—+.

1. W8

1. ¥xc7 loses to 2.80xd5 Wd6 (2..%d8
3.90c6+-) 3.8\c7 Bac8 4.0dbs.
2.5\db5?

2.8xd5! would have been correct: 2...exd5
3.0f5 6 4.8e5 Wd7 and now 5.Mf3 gives
White a safe advantage, although even better
is 5.0xg7! dxg? 6.8c7 We6 7.8Hxe7! Wxe7
8.@g41‘ Hh8 9.Wo5+—.
2..0f62

After 2...82b3! Black could put up a defence.
3.8¢5 8b7 4.8c7 W6 5.03d51+— Lc5
6.Dxf6t ©h8 7.Wg4 Hads 8.9h5
1-0

1.d5!
(1 point)
1.&xf5"7 is equally good: 1..Wxf5 2.dxe5
£xe5 3.Wb1! (also 1 point) 3...¥xb1 4.Baxb1
£xc3 5.8fcl £a5 6.8xb7+
1...¥c8?

Black had to play 1...cxd5 2.&xf5 (2.£xd5
W8 3.8xb7 Wxby 4.¥xd6 f6£) 2..Wxf5
3. Wxd5+.
2.8xf5 Wxf5 3.dxc6+— Dxc6 4.¥xd6 e4
5.%d5!

Black had overlooked this move.
5...%g6 6.2h4

Black resigned, in view of 6..Wh5 7.f3 h6
8.216! ¥xd5 9.cxd5+—.

Eupen (rapid) 1996

1.&c7!
(2 points)
White also has a great advantage after 1.8xe7
Wxe7 2.015! (2.80xd5 exdS 3.5 Webt) exf5
3.9xd5 Wgs5 4.64 Wh4 (4..Wd8 5.5c6) 5.¢3
Wd8 6.8c6.
If you found 2.83f5! you also get 2 points.

Krasnodar 1966

le4d e6 2.d4 d5 3.2d2 dxed 4.Dxed £d7
5.0f3 £c6 6.2d3 D6 (06..0d7) 7.9xf6t
Wxf6? (07 ...gxf6)
Diagram 18-4
8.8g5!
(1 point)

8...8xf3 9.Wd2!+—

(another 1 point)

An idea of Dr. Tarrasch.

Of course not 9.2xf6? fxdl—+. Also,
9.%xf3 is not so strong, because of 9...¥xf3!
(but not 9...¥xg5? 10.Wxb7 Wd5 11.8e4l+-).
9...Wxd4

After 9...2xg2 10.8xf6 £xh1 11.0-0-0 &3
12.8g1 gxf6 13.¥f4+— Black is losing a piece,
and so does not retain suflicient compensation
for the queen.
10.£b5%

1-0

Ex. 18-5

“Tikhomirow — Slussarjow
Moscow 1980

1.5g4!
(1 point)
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Solutions

White gains another tempo with this tactical
trick.
1965

1...¥xe4 loses to 2.Df6T.

1. Wg7 is followed by 2.8ef6t c8
3.8hG+—.
2.8gf6t

2.9g3!+— is also good.
2...52c8 3.g4 We5 4.64+
1-0

Ex. 18-6

Aissin — Y.Mikhailovich
Moscow 1965

led 5 2.803 D6 3.80c3 50 4.d4! fxed
5.0xe5 D6 6.8c4! dS 7.8xd5 Dxd5 8.¥h5+
g6 9.9xg6 Df6? (better, but still grim for
Black was 9...hxg6 10.¥xg6t d7 11.8xd5)

Diagram 18-6
10.2£71!
(1 point)
Black resigned, on account of 10...bxf7
(10..2d7  11.¥f5+ &d6  12.2f41+)

11.59e51 e 12.¥f71 &d6 (or 12..0f5
13.g4#) 13.8)c4#.

(1 bonus point for these variations)

Ex. 18-7

nitez — M.Euwe
Puerto Rico 1948

1.Wa3n
(2 points)

But not 1.¥b4?? which allows Black to
capture the queen with check!
1...g6

1..Wxa3 loses quickly to 2.2d81 e7
3.82e8#.

If 1..£6, then 2.8d8t of7 3.2e81 Wxe8
4.9d61+—.

1...8d7 2.W¥xe7t &xe7 3.2xd7+— would
have been a bit more stubborn.
2.2d8t g7 3.Bxg8t
1-0

Ex. 18-8

1958

1.d4 &6 2.¢4 e6 3.9c3 d5 4.83 ¢5 5.cxd5
cxd4 6. Wadt &bd7 7.Wxd4?! (7.9xd4)
7..2c5 8.Wd1 exd5 9.9Hxd5?
Diagram 18-8
9...5xd5
The immediate 9..%aSt (1 consolation
point) would not be so strong, in view of
10.2c3 &ed 11.e3=.
10.¥xd5 Wa5+!
(1 point)
11.5d1
If11.8d2, then 11...2xf2F!—+.
(another 1 point for secing this idea)
11..26 12.¥e5t £e6 13.3 Dgd—+
The white king in the centre will not be able
to survive a direct attack for long.
14.¥xg7
Or 14%¢3 0-0-0f
16.9xd2 Bd8—+.
14...0-0-07 15.2d2 8b4 16.Bclt b8
17.8c2 Bhg8
1-0
White is simply losing the rook on hl after
18.¥xh7 Qxf21.

15.8d2 Bxd2t

Riga 1984

1.e4 d5 2.exd5 WxdsS 3.0c3 Wd8 (03...Wa5)
4.d4 g6 5.8c4 Dh6 6.8Dge2 D5 7.9 e4 &g7
8.c3£ Nd7?? (08...0-0)
Diagram 18-9

This example shows how important a well-
timed castling can be!
9.8xf71!

(1 point)

9.2g5 would not be so strong: 9...0-0
10.2xf7T Bxf7 11.0e6 We8 12.Hxc7 WdS
13.9xa8 b5
9...8xf7 10.Dg5t 16
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Solutions

Other king moves also lose: 10...%e8
11.9e6 or 10...28 11.9e67.
11.%b3!
(another 1 point)
Black  resigned, since he cannot
simultaneously parry the threats of mate by

Wif7#, We6# and Hed#.

Ex. 18-10

Kofman — Filatov
Kiev 1962

l.ed €6 2.d4 d5 3.0c3 &b4 4.exd5 £xc3t?!
(O4...exd5) 5.bxc3 exd5 6.83 &6 7.2a3!
h6? 8.8b5t <6 9.We2t &e6 10.8d3 g5

(10...2bd722  11.¥xeGt! fxe6 12.806#)
11.9e5+ &bd7??
Diagram 18-10
12.%xc6!
(1 poinr)

12.9g6 would not be so strong, since Black
can decline the sacrifice.

12...bxc6 13.Wxe6t fxe6 14.2g6#

(another 1 point)

orin

Ex. 18-11

Pasadena 1932

led e5 2.3 Q6 3.c3 d5 4.Wa4 Hfor
5.80xe5 £d6 6.8xc6 bxct 7.5 (07.d3)
7...&xe5 8.d4 £d6 9.Wxc6t? 247 10.Wa6 0-0
11.2¢2 Be8 12.)d2 Bb§ 13.a4 We7 14.0f1
Diagram 18-11

14...8b5!
0-1

(1 point)

Ex. 18-12

M.Euwe — C.Dufheld
Weston 1924

1.e4 5 2.3 D6 3.8c4 L5 4.¢3 DG 5.d4
exd4 G.cxd4 &b4t 7.0c3 d5 (7..4xed)
8.exdS Hxd5 9.0-0 £xc3 10.bxc3 0~0 11.Eel
&\a5??
Diagram 18-12

12.8xd5!

(1 poinr)

White wins a piece: 12...¥xd5 13.Ze5.

1-0

Maximum number of points is 19

= 17 points and above-»Excellent
. 10 points »Pass mark

If you scored less than 10 points, we recommend that you read the
chapter again and repeat the exercises which you got wrong.

189



Perpetual check

Perpetual check is a very important tactical element,
which can be especially useful in defence. Even in
positions where one side is at a material or positional
disadvantage, a perpetual check may play a key role
and save the game.

Diagram 19-1

Variation from the game

Copenhagen 1965

White is a pawn behind. But the active position
of his rook allows him to reach a typical set-up for
perpetual check.
1.2e5" ¥xc2

Black has no choice and must accept the sacrifice.
2.@xg41‘

The knight and the rook cooperate superbly to give
perpetual check and save the game.
2...52h5 3.Dxf61 h6

Of course not 3...&h4?? allowing 4.Eg4#.
4.9 g4t Bh7 5.0f6t ©h6 6.Dgdt=

Of course, in most perpetual check situations the
queen, the strongest piece, plays a decisive part. If
his king position has been opened up, the side with
a material advantage can often no longer avoid a

perpetual check.

Diagram 19-2

" D.Bronstein — I.Boleslavs
Candidates Match(13), Moscow 1950

1.¥g5+

Here the players agreed a draw, in view of the
inevitable perpetual check. Any attempt by Black
to avoid the perpetual check would have led to the
loss of the game: 1...%f7 (or 1...%h7 2.We7t g6
3.Wg5t=) 2.Wf51 he7?? (2..%0g7=) 3.Bxedt Hd8
4. Wxf8t+—
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Perpetual check

Diagram 19-3

” ‘1G.;Llslt51n§w - K Klaman —
Leningrad 1950

Despite his advantage in material, Black cannot win
here, as his king cannot escape the perpetual check.
1.Wg5+ f7 2.¥h5+

But not 2.¥d512? WeG—+.
2..5ke7 3.Wg5t he8

Or 3..%0d7 4.8d5t &c7 5.%xc5t ©b7 6.Wb5t
a8 7.¥d57=,
4.W¥h51=

4.We5t ®d8 5.Wg5T also leads to a draw.
151

It is naturally harder to give a perpetual check if the
opposing king is protected by its pawns or pieces.
Then combinations are often required in order to
open up the king position.

Diagram 19-4

USSR Ch., Leningrad 1933

Black played the over-hasty:
1...¥xd42

Correct was 1...c3 2.8xc3 and only then 2...¥xd4—+.
2.We6t &h8

Now White was able to save himself with a little
combination.
3.9g61! hxg6 4.¥h3t

With perpetual check.
Ya—1

Moscow 1946

White makes a typical sacrifice on g7, in order to
weaken his opponent’s castled position.
1.8xg7 shxg7 2.Wg5+ kh8

The bishop on e4 is pinned to the black queen!
Black must agree to the draw.
3.%f6t @gS
a1
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Tactics 9

Often the side with more material cannot avoid a
perpetual check (or rather a repetition of moves) on
account of the threat of material losses.

Diagram 19-6

Sverdlovsk 1948

1...Bxf11 2.8xfl We3t 3.80g2

The king must defend the rook on f1.
3..%d2t
Y2

Diagram 19-7

Ragozin — G.Levenfish

Moscow 1935

Black is threatening to seize the initiative. So White
forces the draw.
1.¥xh61! Hxh6 2.Bxh6t g7 3.8h7+ ©f8 4.2h8+
De7 5.@g81‘ s

5...Wxg8? 6.8xg8 is good for White.

5..%d7 6.59f6t ®e7 leads to a draw, as in the
game, but 6...8c72? would even lose to 7.Bxc8%
hxc8 8.%xcl.
5.6t
151,

A perpetual check can also be the saving grace when
you have started an attack on the king, but do not

have enough material left to successfully finish it off.

Diagram 19-8

Moscow 1914

Alekhine finds a combination which is, however,
merely enough for a draw.
1.8xh6!? gxh6 2.Exe6! fxe6 3.¥g3t h8 4.¥g6
Wes

And the game is drawn, on account of the perpetual

check after 5.%xh6t followed by Wg57.
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Perpetual check
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Tactics 9

JAN Diagram 19-12
7 77 " A.Yusupov — S.Dolmatov
8 / 2, / Candidates (12), Wijk aan Zee 1991
7
6 ,,,,,,, %7 1 363'
™ i % Another typical endgame situation. White brings
5 / // : % his rooks to the 7th rank, which practically guarantees
4 / g % him perpetual check.
77 1...5f4 2.Bee7 Bd31 3.80g2 Bxgdt 4.f1 Bd8

3 %, 0, /‘g ’ Or 4..8h4 5.5¢7! 8d11 6.9e2 Hd6 7.8bE7+ he8
2 /8{ i 8.Be7t BB (but not 8...2d8? 9.Ba7—+).

7, % ””” 7 5.8f71 &g8 6.Bg7t Hh8 7.Eh7t g8 8.Bhg7+
1 .

2 B n f8 9.Hgf7

a b ¢c d e f g h VAR VA

In the exercises, try to find a perpetual check in every
case!
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Solutions

Ex. 19-1

Las Palmas 1978

1...2xe3! 2.8xc2 Balt 3.2h2 Hf1+
(1 point)
A typical set-up.
1h-1,

. o araman
Tel Aviv Olympiad 1964

The game continued:
1.%h6! &xh6

1...22e8? loses after 2.8xg7 Dxg7 3.D¢5.
2.9xh6t thg7

2...h8 3.8xf6#
3.065t g8 4.7t g7
-1,

For this solution you get 2 points. After all,
you did find the perpetual check you were
looking for. But White could even have won!
1.8xf6!! 8x£6 2.¥h6

Black now loses in all variations:

a) 2..8xgl 3.9g5!4+—

(3 points for this important variation!)

b) 2...2e8 3.9g5 Wc7 4.9 e6 Wf7 5.8xb1+—

o 2.¥c7 3.8g5 &xd5 4.9xh7! Exgl
(4..¥xh7 5.Exg6t f7 6.8xf6T+-) 5.Wxf8t
&xh7 6.Whet g8 7.Wxg6t Lg7 8.West
&h7 9.8xgl+—

“Who doesn’t dare, doesn’t win?’

Ex. 19-3

Steinberg — Makarov
USSR 1966

1.¥xf6T! Bxf6 2.8d41 Tg5 3.8e31
(1 point)
3...bf6
After 3..5%0h4?? White can give perpetual
check by 4.82f27? iﬁ?gS 5.8e3%=.
But 4.f4! (threatening £f2#) is much more
unpleasant for Black: 4..Wb6 5.Ef3! Wxe3t

6.8xe3 Bbc8 7.8h31 £xh3 8.g3#

(1 bonus point for this variation)
4.8d41
-1

Berlin 1983

White saves the game with a combination:
1.EhGH! xh6 2.9)g8+ bh5 3.6+
(1 point)
3...2h6
3...0h4?2? 4. Bgd#
4.@g81‘
)

Moscow 1936

1.&h7t
But not 1.8e67? because of 1...5g87.
1.8 2.0f6+ D8 3.8h71
(1 point)
3...%0¢8 4.0)f61
)
Ex. 19-6

paev — L.Vistinietzki
Vilnius 1949

1...9f111
(1 point)
I...20xe3? would be too optimistic: 2.fxe3
W1t 3.9%h2 Hxe3 (3..Ef3 4.Ea8t g7
5.8b71+-) 4. Wgd+—

‘Pride goes before a fall?
2.0xf1 Dxe3t 3.0e2 Hebt!
(another 1 point)
4.1

4.%d3?? is bad, due to 4...0xb2T—+.
4..90e3t

Of course not 4...2xb2?2? 5.Wgd+—.
1h—1/
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Solutions

Ex. 19-7

USA 1991

1...@’g41‘!
(1 point)
Now White must choose the squares for his
king moves carefully, so as not to lose his rook
on d8.
2.%11
Other moves lose the rook: 2.¢he3 Wo5t;
2.50d2 Wg5+; 2.chel Whey
2. %411
But not 2...Wf41?? on account of 3.9f2+—.
3.5gl
3.%2el Wh4t
3. W1t 4.2 W4t
(another 1 poing)
5.80e2 W4t
1h-14

Moscow 1961

1.Bh51! gxh5
1...¢xh52? 2 Wixg7+—
2.¥Wdet @’gG 3.%18+
(1 point)
1h-1)

1.2c81! &b6

The ‘desperado’ rook cannot be taken:
1...%bxc82? 2.8xb7 T+
2.8c61 a7

2...%0a5? 3.8a61! Dxal 4.8xb71+—
3.8a61! b8 4.Ea81!

(1 point)

4...0c7 5.8c81! ©b6 6.Bc6t
-1

Ex. 19-10

Bundesliga 1990

1.¥hst Wh7 2.We5t Hg7 3.We8t Wgs
4.¥h5t Bh7 5.Wes5t
(1 point)
A typical perpetual check.
a1

Ex. 19-11

Based on the game

Saratov 1950

1.¥xe7! &xe7
There is no reason for Black to decline the
draw: 1..8d6? 2.Wxf7 Wd7 3.8071 fxg7
4.8xg7 Wixf7 5.8xf7+
2.8g7+ g8 3.8h6+1
15-1)
(1 point)

Ex. 19-12

Variation from the game

Moscow 1949

1.Bds8f!
(1 poing)
1...8xd8 2.¥b3+!
(another 1 point)
3.Wc4t? Bh8 4.2d4T would be bad, due to
4. 8e5t—+.
2...5eh7
If the king goes onto a black square, the
queen is lost after the discovered arttack:
2..%kg7?  3.8d4T+— 2.0f82 3.8c5t+—
2...%h8? 3.2d41+~
3.8f7+ &h8 4.8f6+ oh7
Or 4...@?g8 5.Wxd8t &f7 6.Wds5t ﬁi?g7
7.@(g2=.
5.%¢71=
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Maximum number of points is 18

oring

- 15 points and above--»Excellent
. 12 points and above-m Good

9 points »Pass mark

If you scored less than 9 points, we recommend that you read the
chapter again and repeat the exercises which you got wrong.
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CHAPTER 20
~ Contents Mate in two moves

¥ Calculating short variations
¥ Possibilities for the

We previously did some exercises with ‘mate in two
moves in Build Up Your Chess 1, Chapter 9. They

opponent ful for training in the calculation of
; . . are very useful for training in the calculation

¥ Fxercises with mate in ety ) & ) °

variations. One is often forced to take into account a

. Two moves

lot of candidate moves in order to reach the solution.
It is very important to consider all possible replies for
your opponent. This develops your skill in calculating
short variations.

Try to solve the positions from this chapter with a
short thinking time (a2 maximum of 10 minutes). If
your answer is different from that given in the book,
please check through the defensive moves to find why
your suggestion fails. In each case there is only one
correct solution for these problems.

If after 10 minutes you still have not found the
solution, take a good look at the first move. Your
task is to then find a mate for all replies by your
opponent. That way you will get used to thinking
out your opponent’s moves as well.

e Diagram 20-1

. /% /7%@5% | 1915

% %§1// ’ Please consider all possible replies for the opponent.
f ///5// / v / 7 / 1%%25?%7#

%%Z//////g{ / 7 1...exd6 2.We8#
. M 1...e6 2. Wa7#
- 1...e5 2.8b3#
% % 2 Wne7#

- N WA W N e
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Mate in two moves

Diagram 20- 2

i A Orshln B PO S R A A A BT
1936

1.8¢3! d4
1...50f4 2. ¥ 3%
1...f4 2.¥d3#
1...EeG (e7,e8) 2. We3#
1...c0d4 2. Wb4#
2.%f3#

Dlagram 20- 3
1868
1.¥a1! ®h7
1...g8 2.9e6#
2.5\ f5#

In some problems you have to set up the correct
threat.

Dlagram 20 4

1.93!
The threat is simply ¥xb7#. Black has no adequate
defence.

1...2b8
1...8d5 2. Wxf8#
1..2b8 2.Wa3#
2.¥xb7#
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Calculating variations 2

Diagram 20- 5 A s —— Diagram 20-5

mmNpPe trovic
1959

1.#d5!

With the threat of Wxg2#. Other ways of
threatening the mate on g2, such as 1.Wg3, are
thwarted by 1...d5.
1..Eh2

1...58h2 2.¥xe2#
2.¥d1#

—_ N W ke NN G

In other problems you can exploit a zugzwang,

Diagram 20-6

1966

1.5d5!

And Black is in zugzwang! A knight must move and
surrender control of one of the vital squares f6 or 4.
1..23g5

Or 1..87g5 2.8)f6#.

8
a
6
5
4
3 2.0 f4#
2

1

Diagram 20-7

8

6
7 1967
6| 1.2f4!

This does not threaten mate, but Black faces a
51 decisive quandary: he has to move!
4 1..b1=-¥
% 1 Or 1..b1=4) 2 Bc2#.

: / % ,,,,, '
2
1
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Mate in two moves

Many mating problems employ typical tactical
motifs and help train your eyes to spot the hidden
possibilities of the pieces!

1.2b7!
Here White utilizes a well-known tactical motif —
obstruction!
1...8xb7
1..Bxb7 2.Wh1#
1...Be8 2.8Bb1#
1..5ef1 2.Wh1#
1..sed1 2. Wb1#
2.¥b1#

Dlagram 20 9

1.¥h1!

The queen prepares to make a long move.
1..b1=-¥

1..b1=6) 2.¥d5#
2.Wags

Dlagram 20- 10

1.We1!
The queen can reach the a5-d8 and h4-d8 diagonals
from far away, in order to deliver the deadly check.
Other queen moves are unsuccessful, for example
1.%e5? fails to 1...c5 and 1.Wc6? to 1...¢6.
1...e6 (or 1...e5)
1...c5 or 1...c6 is met by 2.Wa5#.
2.Wh4#

In the next set of exercises, please try to consider
all relevant moves for your opponent. In all the
positions in the test, it is of course mate in two moves
that you are looking for.
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Exercises
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Solutions

Ex. 20-6

Ex. 20-1
1921
1.%:8! h3
1...2h6 2. ¥h8#
2. ¥ixh3#

(1 point)

1.%a5!
1.%a6? f1=W; 1.¢bc7? 1=
l...c1=¥
1..f1=¥ 2.8\b6#
2.8b6#
(1 point)

Ex. 20-3

H.Weenink
1920

1.c8=8! b8 2.5 c6#

(1 point)
Ex. 20-4
1968
1.¥de! 2c4
1...5he4 2. Wif4#
2.Wb4#
(1 point)
Ex. 20-5

1967

1.Wel! g4
1...22g4 allows 2.We8#; and after any knight
move other than 1...g4 White has 2.g4#.
2.Wxe5#
(1 point)

1969

1.2Dh1! Hg3

1...80d6(or €3, €7, h6) allows White a choice
between 2.2 (x)e3# or 2.E(x)h6#.

1...20h4 2.5\ f4#

1..8g7 2.Be3#

1...20d4 2.8h6#
2.9024

(1 point)

Ex. 20-7

S.Boros
1937

1.52g3!

Threatening Df2#.
1...%xd5

1..¥xb8+ 2.d6#

1..Wa3+ 2.94c34#
2.0

1966

1.8b7!

But not 1.£c6? on account of 1...0¢5.
1...d3

1..¢2 2. ¥xco#

1...2d3 2.82a6#

1...5ec5 2. Wco#
2.¥d5#

(1 point)
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~ Solutions

1.£c8! exd6 1.¥d7! Hxh2
1...e6 2.8b7# 1...%0h3 2.Bh8#
1...e5 2. ¥d2# 1...0h5 2. Wh7#
2.We4# 1.6 2.8g3#
(1 point)  2.¥h7#
(1 poinr)
i Ex. 20-12
1895 V.Lebedev
1LBf5! Ses 1
1..50d6 2. d5# 1.%2a3!
1..0g5 2.Wa4# Threatening Wa4#.
1..8d5 2.%xds5# 1...b2
1..5d6 2.Wa4# 1...8Bb5 2.Wa8#
1...8a8(or c8) 2.Wd5# 1...2b5 2.8b4#
2. 8f4# 1..Eb4 2.8xb4#
(1 point) 2.Waq#
(1 point)
Scoring

Maximum number of points is 12

- 11 points and above-

-»Excellent

9 points and above> GOOd

6 points

»Pass mark

If you scored less than 6 points, we recommend that you read the
chapter again and repeat the exercises which you got wrong.
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Combinations with
the major pieces

In this chapter we shall take another look at various
combinations in which the major pieces play a
decisive part. We have already scen some of them
in the chapters on ‘Combinations involving files
and ‘Back rank combinations’. Above all we wish to
study the cooperation between the major pieces, but
of course we shall also take a look at some typical
tactical motifs.

Diagram 21-1

Prague 1899

1...2b1%!

A sacrifice involving decoying.
2.%xbl

2.%d2 loses more quickly: 2..Bxf2f! 3.8xf2
(3.%e3 We2# or 3.%0el We2#) 3. 231 4.%8xc3 (or
4.%0e3 d4#) 4. Wbd#
2...Bb6#!

Black now opens the long diagonal for his bishop.
3.5kl

3.8xb6 is followed by 3..Wb4t 4.5hc1 &b2t
5.%2b1 £a3t 6.2al Wh2#,
3..8b2% 4.80d2 2311 5.8c1

5.¢be3 d4#; 5.%xc3 Wb4#,
5...2b1%!

A fresh sacrifice to decoy the king to bl once
more.

6.2xb1 b4t 7.0 c1 Wb2#

Diagram 21-2

R.Kimmelfeld — V.Luchinkin
USSR 1979

1.8xg7

Another typical combination, which destroys
Black’s castled position.
1...Sxg7 2.Bg1t ®h7 3.5 ©h8

Or 3..hxg5 4.¥xg5 28 5.Wf51 &h6 (5..Hg6
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Combinations with the major pieces

6.8xf7+-) 6.8¢57 @g7 7.8xf6t $bf8 8.8xg8t @XgS
9.Wg6t Bfs 10.Mxfr#, -
4.0xf7+ Bxf7 5.¥xh6t Dh7 6.8xf7 ¥ig 7.Wg6

And Black has no sensible defence against Wg87.

On the other hand 2.9e4?! Exc4! 3.9xf6t &h8!
4.9xd7? (better is 4.f4 Re6 5.fxe5 Wxe5 with
approximate equality — note that Black can meet
6.¥d3? with 6..2h4) would be wrong, in view of
4. 231! 5.gxf3 Hg8t 6.%h1 Wxh2{! (a typical
combination for mate along open lines with two

major pieces) 7.sbxh2 Bhé#.

1-0
Diagram 21-3 Diagram 21-3 v
S.Furman — E 8
USSR 1971 7

7
In this game Black set a trap with: 6

1...5e5
However White saw through the trap and simply 3
played: 4
2.8e2!t 3
2
1

Mating set-ups with the queen
Here are some mating motifs in which the queen
plays an active part.

Diagram 21-4

Budapest 1950

This example demonstrates the strength of the queen.
1.¥e81! kh7

If 1.8, then simply 2.exf6 ¥xe8 3.£xe8 gxf6
4.Bxeb+—.
2.9g51! hxg5 3.8g61! Exg6 4.Eh11 Eh6 5.8Bxh6+}
gxh6

Or 5...%xh6 6.2h1#.
6. %17

This mating position is typical and very beautiful.

e\ T ¥S T - N O B« NN B ]
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Tactics 10

1763

A similar mating position can be seen in this study.
White first brings his queen to e53.
1.We7t
1. W67 is just as good.
1...2h6 2.Wh4t g7 3.Wd4t &h6
Or 3...s5hg8 4.¥d5t chg7 5.We57.
4. W4t g7 5.We5t h6
5...@g8 is met by 6.¥xb8* ®g7 7. W84,
6.2h57! gxh5 7.¥f6#

Diagram 21-6

Another typical set-up, in which a bishop supports its
queen very well in the attack.
1.Bg4+! fxg4 2.Wg5+ &h8 3.%h6!

Black has no defence against the double threat of
4. Wxf8# and 4.¥xh7#.
1-0

Diagram 21-7

Uzbek Ch., Tashkent 1974

1.2d5!

Black resigned, in view of the following variations:
1...%xd5

Or 1..Wc8 2.8xd8+ Wxd8 3.Be8T Wxe8 4.Wxe8#,
2.Ee8t Exe8 3. Wxe8#
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Combinations with the major pieces

And now some mating motifs with an active rook.

Mating set-ups with the rook
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Diagram 21-11 v

Tactics 10

Coordination of the major pieces

Diagram 21-11

Wennerstrom — Garam
Correspondence game 1973

This example shows how well a queen and a rook can
cooperate.
1..Bg2
The threat is simply ...Eag8 followed by mate
on g3.
2.8g1
Or 2.%xg2 ¥xh4 (threatening ...Eg8%—+) 3.Hgl
(3.8g4 Bg8 4.Ef2 Bxgdt 5.%f1 e3 (.23 Wh2—+)
3..Hg8t 4.%f1 e3—+.
2..Bh21! 3.%xh2 Wxh4t 4.0g2 B8t 5.8g4
5.%f1 is answered by S...e3—+.
5..Bxg4t
White resigned. 6.%f1 Bxf41 leads to mate.

In the test you should try to exploit the power of the
major pieces. Look for active attacking moves!

212



Exercises
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Exercises
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Solutions

~ W.Steinitz — N.
Vienna 1861

1.2d81! ¥ixd8
Or l..bh7 2.Hxh6i gxh6 3.We7t g6
4.h5#.
2.We6t &h7 3.8xh6t gxh6 4.Wf7#
(1 point)

Ex. 21-2

London 1982

Black did not find the following idea over the
board. He played 1...Ed5?+— and even went
on to lose the game. The correct move is:
1...Bd2!
(1 poinr)

2.8xd2 Wixelt 3.2h2 Re51

This is more accurate than the immediate
3..%xd2.
4.g3 Wixd2t—+

Ex.21-3

Jarjan — A.Karpov
Skopje 1976

1... 41 2.60h3 Be31!

(1 point)
White resigned. He is quickly mated after
3.g3 (3.fxe3 Wg3#) 3. Hxg3tl

Ex. 21-4

Based on the game

E.Sindik — M.Cebalo
Zagreb/Skopje 1978

1.8b4!
(1 point)
But not 1.8fc1? on account of 1...Bgl!=.
1..%c7

Black also loses in all other variations:
a) 1..Wxb4 2. Wd8#
b) 1...8xedt 2.8Bxed+—
o) 1...8xb4 2. ¥xb6+—
2.Bxb7!+—

1...82h51!
(1 point)

But not 1...g6? which allows 2.¥d81 g7
3.8h61! xh6 4.98#.

After 1...h5? White has a strong defence in
2.¥o 1l

The rook sacrifice, decoying the king
forward, leads to a forced mate.
2.$hxh5 Wh3+ 3.5 h6t 4.2f4 g5t 5.%e5
Weo#

(another 1 point for this variation)

Ex. 21-6

" E.Vladimirov - G.
USSR 1977

1.Bg6!
(1 point)
1.8Bg4 was also possible, intending Egh4
followed by Exh67.

After 1.Zg6! Black resigned. If 1...¥xgG, then
2.8xp6 fxgb 3.8xh61 gxh6 4. Wxh6#. And after
1...fxg6 there follows the immediate 2.8xh6t
gxh6 3.¥xh6#.

Ex. 21-7

1947

1.Wg81! Bxg8 2.0g61! hxg6 3.Bh1#
(1 point)
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Solutions

Charleville 1952

L...h41! 2.5bg4 511 3.Bxf5 Bg2#

(1 point)

Ex. 21-9

Candidates Match(7), Kiev 1968

1.¥h6t!

(1 point)
1.8Bh1t @gS 2.Wh6?? would have been bad,
due to 2..Wd31 3.%al D2t 4.86b1 Hadt
5.%2al Wb1t 6.8xbl Hc2#.
Black resigned, in view of 1...sxh6 2.8Bh1#
or 1...@g8 2.8c8t+—.

Ex. 21-10

Smejkal — A.Adorjan
Vrnjacka Banja 1972

1.Bxh67!
(1 point)
Black resigned. Either he is mated by
1...58bxh6 2.Wh4# or he loses his queen after
1...8xh6 2.Wxc3.

Linares 1992

1...8xg3!
(1 point)
2.fxg3 Bxg3t 3.1 Wh3+t 4.el
4.5he2 B2t 5.8 Bxf21! 6.50xF2 Wh2t—+.
(1 bonus point if you found this idea!)
4..Wh1t 5.2 Bg2t 6.2£2
Or 6.%2e3 Wh3t—+.
6...Bxf21! 7.xf2 Wh2t—+

USSR 1951

1.3
(1 point)

The strongest continuation. 1...e2? would
be bad, because of 2.&xf6+—.

1 consolation point for the slightly less
accurate move 1...9g6. Black will win here
too, after 2.¥xe3 Bf2 3.8f6 &xd5t 4.Wxf2
Bxf6—+.
2.$xg2

2.@g3 Hgbt—+
2..8elt 3.5h2

Or 3.%g3 He6T 4.0h4 D31 5.h5 BFST—+.
3...Bf2¢

(another 1 point)
4.%h1

If 4.%g3, then 4...Eg2t 5.%h4 D3t 6.%h5
Bf57—+.
4..Bf11 5.2h2 931 6.5g3 Bgl#
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Scoring

Maximum number of points is 15

» 13 points and above »Excellent
l 1 points and above,..,...........) Good
8 points >Pass mark

If you scored less than 8 points, we recommend that you read the
chapter again and repeat the exercises which you got wrong.
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Coordination of
the pieces

There is one typical mistake which less experienced
players often make: they develop only two pieces and
then try to play on and attack their opponent with
these pieces. If an experienced player doesn’t actually
fall off his chair laughing, then he will find it easy ro
deal with these attacking attempts, since he simply
has more pieces available for the defence. Of course
you should not behave like that; you should also
bring your reserves into play.

It is very important to develop all the pieces quickly.
But it is also necessary to be able to coordinate these
same pieces well. The pieces have to mutually
support and complement one another. In the ideal
case they should form a single unit. They are only
really strong when they work together. Coordinated
units are much stronger than an army with regiments
which are not cooperating with each other.

Diagram 22-1

Black begins action against the white position in
the centre. In a few moves he manages to organize
massive pressure against the e3-pawn. White tries his
luck on the queenside, but he has to send some of his
forces to help the defence.
1..2g4 2.8d2 exf4 3.gxf4 Bbe8

The black pieces are now playing actively together;
both the knight on g4 and the rook on e8 are
attacking the vulnerable point in the white position
— the e3-pawn.
4.Bf3 Dc5 5.8xc5 dxc5 6.h3

White has to chase away the active knight, but in
doing so he slightly weakens his castled position.
6...0f6 7.Wa2

White prepares a5-a6. 'This attack on the queenside
is not dangerous, since White cannot properly
coordinate his forces there. Black concentrates his
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Coordination of the pieces

pieces on the kingside and the centre. They will be
attacking the e3-pawn, but at the same time they will
also be protecting the queenside.

7..Bf7! 8.Wa3 28

The bishop must protect the c5-pawn.
9.a6 bxa6 10.¥xa6 Bfe7

Diagram 22-2

Doubling the rooks is a simple form of the
coordination of the major pieces.
1122 He6!

The queen too can crank up the pressure on
e3. White is forced to end his operations on the
queenside and bring the queen back into defence.
12.%a2 We7 13.8d2

Diagram 22-3

Compare the positions of the pieces. Black is much
more harmoniously developed and is attacking on the
kingside with all his forces. On the other hand, the
white pieces are not so well coordinated, the knight
on bo is out of play and even the rook on b3 is not
really taking part in the game.
13...0h5!

Black prepares to open the position on the kingside
in order to activate his bishop and queen.
14.Da4

White tries to bring his lonely knight back home,
but he does not have time to do so.
14...Wh41 15.%g2 g5! 16.fxg5 ¥xg5t 17.8202 £h6

Diagram 22-4

Black is coordinating four pieces in his attack on
the e3-pawn; moreover the knight and the f5-pawn
are also participating in the attack on the kingside.
It is no wonder that White cannot hold his position
together.
18.d4 f4

The destruction of the pawn shield around the
white king is the quickest way to victory.
19.2xf4 What 20.d2g1 8xf4 21.exfs Belt 22.8f1
Exflt

22..88e2—+ or 22..9xf4 23.Hbf3 Wg51 24.%0h1
£8e2 would also be very strong. But having seen that
the move played in the game also won easily, Black
aimed for a simpler solution.
25.5xf1 Dg371 26.8xg3t

Or 26.%0g1 ¥xh3 27.8e3 Whit 28.%f2 Wh2t and
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Positional play 3

Black wins.
26...Wxg3 27.0xc5 Be3!

And White resigned, since the loss of his queen is
unavoidable.

In the endgame the coordination of the pieces
plays an even greater part. In his masterpiece My
System, Nimzowitsch describes the importance of
coordination in these terms:

‘Coordination is 80 per cent of all endgame
technique; all the individual topics we have treated
here such as centralization, bridge building, hiding
and gap plugging are subordinate to the main
goal, coordination. They are like the cogs which
fit together in the movement of a clock and set
the whole mechanism in motion; so what we are
talking about is a slow but steady advance of the
serried ranks of your army. “General advance!” is
the watchword!’

Diagra.m 22-5

Saint John 1988

White already has severe problems opposing the well
coordinated black army. However, the next move is a
clear mistake.
1.9 f42

1.Hd1 is an improvement, although Black is still
doing well after 1...2)e5F and then ...2)f3.
1...cxd4 2.9xd3 dxe3 3.%e2

3.8d1 is bad, in view of 3...2f3—+.
3...exf2 4.Dxf2 $xal—+ 5.8xal

Diagram 22-6

Black has an extra pawn, and in addition his
bishop can provide very good support to the passed
pawn. In such positions, winning is relatively
simple. Black simply has to play as Nimzowitsch
recommended, coordinate his pieces and then the
‘general advance’!
5..f6 6.Bc1 2f7 7.82e3 €5 8.a4 26

The king ‘plugs the gaps in the position and
supports its passed pawn perfectly.

9.a5 5 10.c5 bxc5 11.2d3 &d5 12.9xc51 &d6
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Coordination of the pieces

13.b4 g5 14.2)a6 f41

‘The pawns move forward slowly, but surely.
15.%f2 e4 16.h4 h6 17.Dc7 %e5 18.hxg5 hxgs
19.gxf4t gxf4 20.Ec5 e31 21.0e2 ted

There is no defence against this coordinated attack;
the exchange of all the pieces on d5 leads to a lost

pawn ending,
0-1

Diagram 22-7

—A.Yusupov — O.

vov — O.Cvi

Dresden 1998

The white king, rook and knight are all supporting
the passed h-pawn, and in addition they will create
mating threats against the black king.

1.$2g5 Bxa4

1..Hgl is met by 2.&f4+.
2.8f5 Hal

2...82a7 would be no better, in view of 3.h5 b5
4.h6+-.
3.Be7t B8 4.Bb71+—

The rook is very well positioned here; it is restrict-
ing the black king to the 8th rank and hindering any
further advance of the b-pawn.
4..Bf1 5.5g6 ®e8

If Black tries 5...Bxf5, then the intermediate check
6.8b81! results in a win for White after 6...2e7
7.¢0xf5.

5..Bgl7 6.6 @gS is also no improvement, on
account of 7.0h6t ©h8 8.4 7+ @gS (or 8..%bh7
9.@g5'}' and mate next move) 9.8b8+ ¢hh7 10.Eh8#.
6.h5 Dd2

The black knight arrives too late. Once again
White makes the most of the better cooperation of
his pieces.
7.h6 Ded

7..8¢glt 8.50f6 Sedt is followed by 9.%e5 g5
10.5d6T &8 (10...0d8 11.h7+-) 11.¢bf6+—.
8.2e7t od8

After 8.8 9.8f71 &e8 10.8g7+ White wins the
rook.
9.Bxe4!

This is the simplest solution. White pushes his
h-pawn through after 9...dxe4 (or 9..Egl? 10.0h5
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Positional play 3

dxed 11.h7 Bhi1t 12.9Dh4+~ and White has built
a bridge) 10.h7 Bhl 11.80h6 Bglt 12.%f5 Bf1t
13.shxe4 Hf8 14.9g8+—.

1-0

In the next test, try to coordinate your pieces
properly. Often the simplest way to achieve that is to
attack an opposing weakness with all your forces.
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Solutions

Cologne 1999

1.7
(1 point)
1...@g8 2.%c1t g5 3.8e4 Bf7 4.2d5+-
Whs 5.8xf7
Black resigned, because 5..Eal
6.8b67 g7 7.¥xalt,

allows

Swiss Team Ch. 2004

1...s2d6!
(1 point)

This is the only way to secure a draw for
Black. Other moves are followed by a knight
fork.
2.8xd3

2.5xc2?! @xc2 3.8d2 would be bad, due to
3..He3t 4.f2 Bxb3 5.8xc2 Exb4+.
2..Bg2t 3.3 Hgf2t 4.8¢3

But not 4.%e3?? Bee2t 5.¢0d4 Hedt 6.80c3
Bc4#.
4..Bg2t 5.3 Bgf2t 6.8¢3
Y1/

Ex. 22-3

Bastia (rapid) 2004

1...2d8!
(1 point)

This leads to an advantageous position for
Black

1..Bc2 would be rather bad, because of
2.8 c4'+—. And if 1...2e8?! then also 2.Dc4£.
2.Wc4

2.8 ¢4 is met by 2..Bxd4 3.9xb6 Le8 and
the weakness of the b5-pawn gives Black an
edge.
2..8e8 3.03

Or 3.Wxe2 Wxc5%.

3..8Bb2¥ 4.8el?

Better is 4.9)d4~.
4..8xb5 5.¥c3 8c6 6.0d4 Eb1l 7.Hxbl
Wxb1t 8.2h2 £d5F

8...8xg21? would not be so clear: 9.%xg2
Wedt 10.Wf3 (10.0f3 Hd3—+) 10..Exd4
11.Ec81 ©h7 1287+,
9.£3 Wg6 10.g4 Wd6T 11.2h3 Le6 12.HDxe6
Wxe6 13.2b5 b6 14.¥c7 Bd6 15.2b4 h5
16.8e4 hxgdt 17.%g3 Wd5F 18.Bxgs?
West

0-1
Ex. 22-4
A Yusupov — M.Mrdia
Rapid game 2004
1.We2!
(2 points)
White threatens xg6.

1.%55? would not be so strong, on account
of 1...0c8F.
Only 1 point for 1.Ecel which can be met

by 1...Ed8x.
1...2d8 2.Bexc5 d7?
After 2.8 c4! 3.EHc6 Wd2 (3..%xa3?

4 B1xc4d bxcd 5.WeST 6 6.8xf6+—) 4.¥xd2
Hxd2 5.8Bxa6 Hxb3= Black could hold the
position.
3.8d5! We6 4.¥xe6 fxe6 5.2d6 De5 6.2xe6
ANd3 7.8d11

Or 7.8f1 &c5 (7..0xF2 8.8Bxabt) 8.He3+.
7..8c5 8.8xd8 Exd8 9.He3+

Ex. 22-5

" M.Krasenkow — K.Sakaev
Copenhagen 2003

1.8 e5!
(1 point)
This natural move sees White start an attack
on the kingside.
1...Exa3 2.9xg6 Hg7 3.8d8t Rf7 4.De5t
be7 5.0c61 Lf7 6.8d71 M8 7.6 De8
8.2f7+
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Solutions

Black resigned. 8..%g8 is followed by
9.9e7t &h8 10.Eh7#.

Ex. 22-6

Copenhagen 2003

1...22d4!
(1 point)

2.8g3

If 2.8d3, then 2...2f5 and Eh4# is coming.
And 2.9b6 loses simply to 2...8a5t.
2...2a5t

White resigned, on account of 3.@?g4
(3.%h4 Of51-+) 4..Bg5t 5.0f4 (5.0h4
ANF#) 5.0 e2T—+.

(another 1 point for this variation)

Monte Carlo 1969

1.5bf1!
(1 point)
1.h4 would not be so strong, but
nevertheless you get 1 consolation point.
1..Bxf2+
If 1...8b2, then 2.f4! &f5 3.h3 followed by
Bf7#.

(another 1 point for this variation)
2.0xf2+— dxg5 3.%0e3 g4 3.b5 &h3
4.8c4 Db2 5.8c2
1-0

Ex. 22-8

A.Yusupov — S.Lputian
Kazan 1997

1.Bb4!
(1 point)
White wins a pawn.
1...b5
Or 1..2b8 2.8xc6+—.
2.8xc6+

Ex. 22-9

Ischia (blitz) 1997

1..8g3!
(1 point)

Black threatens ...&2el#.
2.8b1

If 2.%b4, then 2...Bb2t 3.%¢5 c3—+.
2..8e2 3.0b4 Hxe3 4.8g5 2461 5.%a5
Bxa3t 6.%b6 Bb3t 7.8xb3 cxb3—+ 8.2f3
££49.%0c5 b2 10.88xd5 b1=¥ 11.He5 £xe5
12.dxe5 Wedt 13.266 £4 14.2d6 3 15.¢6
£2 16.e7 f1-¥ 17.2d7 b5+
0-1

Ex. 22-10

.Shirov — A.Yusupov
European Team Ch., Batumi 1999

1...Ed8!
(1 point)
Black recovers the pawn.
2.8¢7
2.¢5? §xc5 3.8xc5 Bdlt—+.
(another 1 point for this variation)
2..2d4 3.g3
1h-1h

Ex. 22-11

Capelle la Grande 1996

1.Eb6!
(1 point)
But not 1.8c7? on account of 1...Bb7!=.
1...Ba5
1..Bh7 2.Ha6t Ha7 3.b6! Bxa6 4.b71 ka7
5.b8=¥#
(another 1 point for this variation)
2.8b7
1-0
Black is in zugzwang; for example 2...Ba4
loses to 3.2b87T (or 3.b6 Bc4t 4.8c7 Bxc7t
5.bxc7+-) 3...2a7 4.b61 La6 5.2a87.
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Solutions

Mannheim 1914

1..Bf2!
(1 point)

2.0d6t

If 2.Bxf27, then 2...gxf2 3.2g2 h31 4.%f1
h2—+.
2...50f4 3.Bedt ©f3

General advance!
4.xh4 8481 5.2h5 Bh2t

White resigned, in view of 6.@?g6 g2 7.8el
Bh1—+.

Scorin

Maximum number of points is 17

-»Excellent
- 12 points and above) Good
8 points »Pass mark

If you scored less than 8 points, we recommend that you read the
chapter again and repeat the exercises which you got wrong.

227




- Daﬁgerous knight moves

v Knight forks
¥ Actacking a hemmed-in king

&
a b c/d e f g h

Combinations with

knights 2

In this chapter we shall take another look at the
numerous possibilities for the knight. A knight
is a very nimble and awkward piece, which is why
less experienced players frequently overlook knight
moves. These moves (especially knight forks) can be
very dangerous and lead to material losses. Here are
some typical combinations, in which the knight plays
a decisive part.

Knight Forks
After the queen, the knight is perhaps the most
dangerous piece for executing a double atrack.

Diagram 23-1

s

In this position the black queen will eventually
become the victim of a fork.
1.f41 Wxf4

1..5bxf4 2.80e2t+—
2.0e2 ¥R

Other moves also lose:

a) 2..Wf1 3.Qg4t Rd5(or £5) 4.De3t+—

b) 2..¥e3 3.0 g4 T+~

c) 2..Wxg5 3.7+~
3.9g4t &d5

3...80f5 is followed by 4.9 d4t @XgS (or 4...f4)
5.8\ xeGT+—.
4.f61!

This sacrifice prepares the decisive double attack.
4,..exf6

If 4...86xc5 or 4...%e5, then 5.9)d7++—.
5.0 841 Bxcs

Nor are other moves any better: 5...%e5 6.8)xg67+—
or 5...%0d4 6.Dxe6T+—.
6.Dxe6t+—
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Combinations with knights 2

Diagram 23-2 - Diagram 23-2 A
— A.Yusupov 8 / % g@///
Madrld 1995 /% fffff . 7 Z
" / // % i
Here White played: 7% / /%
1.¥xf6 6| 7 ‘
Instead of this, White could have won the exchange 5 . o
with an original manoeuvre: 1.8g517 £xh2t! 4 %
(1..%e62 would be worse, due to 2.8xd6 ¥xd6 2
3.8c7+-) 2.8xh2 (2.&xh2 is met by 2.WeSty 31
2..¥xg5 and then 3.8c7! Bac8 4.8)e62 with a knight 2 8
fork. However, Black gets a pawn in return for the 1 é/z //////

exchange, which is almost sufficient compensation.
In the event, the game ended in an early draw:

1...Bxf6 Z.QgS He6 3.9xd6 Exd6 4.8ad1

1h-1

Attacking a hemmed-in king

Frequently the side with the knight can take advan-
tage of situations in which the opposing king is stuck
in the corner for various variations on the theme of
smothered mate. (This motif was also treated in Build

Up Your Chess 1, Chapter 23.)

Diagram 23-3
The end of a study by

1.2g51 ©h8!
1...@?g8 loses even more quickly after 2.£a27
8 (2...2h8 3.f7! and so on, as in the main line)
3.2f7! and mate follows.
Of course 1...2h6 allows the immediate 2. f7#.
2.8a2! &b7
Nor would 2...h4 be any better, due to 3.f7! h3
4.8 h2 5.9f71! ©h7 6.8b17+—.
3.067! Ba6! 4.8 £d3 5.8g8! a
Threatening Df7#.
5..8g6 6.2h7!
The black pawn prevents the bishop from retreating
to h5. Black either loses his bishop or he is mated.
6...8xh7
This deprives the king of the h7-square.
7.0f7%

—_ N W Pk N

cdefgh
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Tactics 11

Diagram 23-4

Diagram 23-4
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4..8g8

4. Bxf8 5. Wxd4t+—

5.9g5!

A pretty move which exploits the pinned position
of the black pieces. Black cannot parry the mating

threat of ©f7 and so resigned.

Diagram 23-5

The end of a study by

5

Diagram 23

1951
1.sbxg4? is followed by 1..8xf51 2.bxf5 dg7

3.5ke6 Bf8 4.5Bf6 stalemate.
1..Hg6t does not help matters: 2.%xg6 Lxf5t

3. HhG+—.

If 1.8266? then 1...Bg8 2.8)e7 Ed8

This is the only winning move.
1..Eg8

1.&2h6!

Wi

But not 3.5Ag6'}'? Hxg6T 4.@xg6 Bxf7T=.

Another smothered mate, as in the study by Bron.

2.8)e7 £e6

Or 2...8f8 3.@g6#.
3.fxg8
3..8xg8 4.Dg6#

w0~ W wn < NN

A knight can also threaten a king which is hemmed

in on the edge of the board.
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Combinations with knights 2

Diagram 23-

Hungarian Ch., Budapest 1977

Black exploits the endangered position of the white
king.
1...g5!

Threatening 1...8h471 2.gxh4 g4t 3.@g3 Ne2#.
2.Bfel

2.8g1 is simply met by 2...8e2—+.
2...2f4!
0-1

The threat is 3...g4#. And after 3.gxf4 there comes
3..g4t 4.5g3 DF5#,

Dlagram 23-7
5 escis e “ -Buslaev.

In the game White did not find the winning move
and played:
1.2g5?

White could have mated his opponent after
1.2 h8!Y, when 2.9g6# cannot be prevented.
1..2d3
0-1

Diagram 23-8
The end ofa study by

1935

How should White proceed against the advance
...e3-e2?
1.2c5!

The only way! If 1.9)f4? then 1...e27! 2.9xe2 & f1!
3.3 De3t 4.82d2 Hflt=.
1...e2t 2.50d2 &f1+

Black wins the rook, but...
3.50c1 Pxel

3...8e3 survives longer, but also loses: 4.5bc2
Hh2 5.8d3 Qf3 (5..9f1 6.Eal+-) 6.8bl Dd4t
7.c3+—
4.9\d3#
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Mueller
White cannot take the knight because of the double

check and mate after 2.8 xe4 9d3# (or 2...Dc2#).

2..40¢5 3.¥g3
The queen is forced to abandon the defence of c2.

3...Wxa3!

Black utilizes his knight-queen battery for a rapid

attack. 1...2a4—+ would also be good.

1...0e4!
2.82h4
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After Black has driven away the queen, he gets rid

of the second defender and threatens ...&c2#.

0-1

combinations are not always correct. But sometimes
even incorrect combinations achieve the desired aim!

Every player knows from his own experience that

Paris 1867
Instead of this spectacular sacrifice, Black should

4.%522?2? Ha8t—+

simply exchange rooks or first give a check on g5, e.g.
4..2b31 5.55b1 Wc1+2!

1.. W5t 2.5bb1 Hxa3 3.bxa3 Wxgd—+.
2.Bxal ¥g51 3.82b1 Dd2t 4.%cl

1...Balf?!
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Black did not want to give perpetual check! He

tried with all his might to entice the king on to a2.
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Solutions

USSR Ch., Moscow 1988

1.@g51‘!
{1 point)
1-0
1.8b71 or 1.8xe5 would also have won
easily, but the move in the game leads to a

forced mate: 1...fxg5 2.Wf5#.

Ex. 23-2
The end of a study by

Ex. 23-4
The end of a study by

1.%b2+
(1 point)
If 1.Wd2+ &b5 2.We2¥, then 2...6)d3!=.
1..5b3
1...8a5 is met by 2.8 c4t a6 3. Wb6#.
2.Ma3 11! xa3 3.0c2#

(another 1 point)

1.8g21!
(1 point)
1...sbxg2 2.9\41 &gl 3.%e1

Black is in zugzwang,

3..82 4.De2#
(another 1 point)
Ex. 23-3
The end of a study by

1929

1.Eh8!
(1 point)

1..2e6

1...b2 2.8a8% &b3 3.40c51+—

1...%0ad 2.9 5T+~
2.2a8%

But not 2.8¢5?? on account of 2...He1#.
2...2a6 3.Bxa6t bxa6 4.9b2! a5 5.al a4
6.Dc4t#

(another 1 point for this variation)

Ubeda 1997

L..2c2!
(1 point)
Black wins the exchange and so White
resigned. 2.Be2 is followed by 2...0b4—+.

Ex. 23-6

1968

1.2d8+!
(1 point)

Mate can even be achieved one move
quicker by 1.Ac77! Hb8 2.E8d81! (also 1
point) 2...8c8 (2...Bxd8 3.9a6t La8 4. b8+
Hxb8 5.8\ c7#) 3.0a6T &b7 4. Wb8+ thxat (or
4...0c6 5.¥b5#) 5.Wb5#.
1...8c8

If 1...8xd8, then 2.8)c71 &b8 3.0a6t Pa8
(3...%2c8 4.WIc7#) 4. Wb8T Hxb8 5.0 c7#.
2.Wxf3+
1-0
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Solutions

Ex. 23-7

V.Korchnoi —
World Championship Match (17), Baguio City 1978

1.3+

(1 point)
White resigned, as he is mated after either

2.%h1 Qf2# or 2.gxf3 Bg6t 3.50h1 D24,

Ex. 23-8

Based on

1.¥f811
(2 points)
1...Bxf8
1...5bxf8 2.8h8#
2.De7#

Ex. 23-9

1974

1.f5!
(1 point)
But not 1.¥h5? because of 1...f5—+.
1..Mg5
After 1..Wd7 comes 2.8h67T gxh6 (2...55h7
3.8xf71 he8 4.2h8T oxf7 S5.f3t+)
3. W4t &h7 4.Wg5+—.
2.W%hs!
(another 1 point)
The threat is Wh8#. Black resigned, in view
of 2..Wxh5 (or 2..f6 3.2e7#) 3.9e71 h7
4.8xh5#.

23-10

G.Chepulkaitis -—NN
2002

1.d6!
(1 point)

1...Bxg5

1..f6 is met by 2.dxe7% thxe7 (2..%xc7
3. W5t b8 4.Wd6#) 3.0d5T 8 (3..%d6
4 W4+ D5 5.WcT7#) 4.Wxf6T De8 5.We7#.
2.Dxg5!

And Dxf7# will follow.
1-0

.23-11
I.Horowitz
1946
1...¥a5!
(1 point)
2.d2

If 2.82¢2, then 2..0c21 3.%f1 &Hxal—+.
After 2.%d2 there follows 2...9e4!—+.
2..West1 3.0e2 DNd3#

(1 bonus point for this variation)

Ex. 23-12

i, r——

1.2)f3!
(1 poing)
White wins a pawn. If 1...c5, then 2.8)g5+
threatens both ©f7 and &xe6.
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Scorin

Maximum number of points is 18

9 points »Pass mark

If you scored less than 9 points, we recommend that you read the
chapter again and repeat the exercises which you got wrong.
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Y Reserve tempi
¥ Other zugzwang situations

Zugzwang

Zugzwang describes ‘the obligation in a game to make
a move, even if this move results in a worsening of ones
own position.” (Meyers Schachlexikon)

Zugzwang situations mostly occur in the endgame,
when there are only a few pieces left on the board.

We have already looked at some important
zugzwang positions in pawn endings. In the ending
‘king + pawn against king’ the stronger side often
requires a zugzwang to be able to win

Diagram 24-1

In the struggle for the key squares d6, ¢6 and f6,
White gains the opposition, because he still has the
reserve tempo e3-¢4!
1ed! 2f7 2.82d6

Flanking.
2...%e8 3.82e6 Rd8 4.2f7

4.5 wins here too, because the central pawn has
already reached the other half of the board and the
white king is in front of the pawn, e.g. 4..%e8
5.8d6 ©2d8 6.e6 2e8 7.e70.
4...0d7 5.5+~

In Build Up Your Chess 1, Chapter 10 — ‘The
opposition’, we learned about some other zugzwang
situations. It can be said that there is almost always a
zugzwang in pawn endings. The positions involving
mutual zugzwang are especially interesting. In them
reserve tempi often play a decisive role.

Diagram 24-2

In pawn endgames it is very useful to have some
pawns still on their starting squares, because then
you have the choice of moving forward one square
or two squares. In a zugzwang situation, this can
decide the game.
1.a3!

1.a4? would be wrong, due to 1...a5 and White
would already be in zugzwang.
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Zugzwang

1...a5 2.a4+—
Now Black is in zugzwang. He has to move his
king and loses the g5-pawn.

And here are a few more important zugzwang
situations.

Diagram 24-3

" Ed.Lasker— K.Moll
Berlin 1904

1.f422

White misses his chance. 1.f6! would be correct:
1...gxf6 2.4 d4 3.¢5! fxg5 4.fxg5 e5 5.gxh6 f6
6. 820+

Diagram 24-4

Black must move his king and leave the square of
the h-pawn. A typical zugzwang situation!

Let’s go back to the position after 1.f422.
1...f6!

Black prevents the white breakthrough £5-£6.
2.g5 d4

Black will continue with ...%e4.
0-1

Diagram 24-5

J— V Borlsen.. s KZOlﬂna e
Riga 1963

White has wrongly evaluated the transition to a pawn
ending,
1. Wxf4t! 2.0xf4 ad! 3.0e4 b4l 4.0xd4 bxa3
5.0c3 thg50

‘The white king cannot move and Black wins both
the g- and the d-pawns. Then White will be left
without any sensible moves.
6.d4 xgi
0-1

But in other endgames too, zugzrwang plays an
important part. In the examples which follow you
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Endgame 4

should first try to spot the zugzwang situation and
work out how to exploit it. A typical marker for such
situations is that the mobility of the opposing pieces

Diagram 24-6 A is severely restricted.
8 Diagram 24-6
7 The end of a study by
5 / 1947
4 1.8e6!
3 Z It is important to control the el-square.
L...8xh4
2 Or 1..&xh4 2 Bedt dg5 3.Bxg3+—.
1 2.Be4O+-
Diagram 24-7

The end of a study by

7 1927
6 1.5g5!10 Hhgs
5 Or 1..4d3 2.2h34#.
4 2.0\ f34#
) |
2
1
Diagram 24-8
The end of a study by
1926
1.2h610
But not 1.%h4? on account of 1...Ed4t=.
1...Bxc7

Other moves also lose:

a) 1..Wxc7 2.Wf8#

b) 1..Wb2 2. Bc8#

c) 1..Wa8 2. Wf8+ chxc7 3.¥xa8+—
2998+ +—
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Zugrwang

Diagram 24-9 Diagram 24-9 A

The end of a study by ~ ~ - —
R —_—_ %% %////% % %/%
%7 /////// & /,/

0.,

1927

1.%¥43!10

There is no threat, but Black has to move the queen
and finds himself without a sensible way to protect
the important squares ¢3 and a3.
1..Wal

Other moves also lose quickly:

a) 1...2ad 2.Wa3#

b) 1.. W2 2. W3t chad 3. Wa3#

o) 1..Wc1 2.Wa3+ 4 3.b31+—
2.%c3t Rad 3.b31+-

—_ N W A N N
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Leningra(i 1934
1.h6! gxh6 2.gxh6 ££6 3.£50
1-0
(1 point)
Ex. 24-2
1.82c6! b5 2.8¢5 b4 3.axb4é#
(1 point)
Ex. 24-3
e S
1911
1.EBh2! g5
If 1...%0h5, then 2.Rf40+—.
2.2h1!

But not 2.2h3? on account of 2...8el=.
2...%0h5 3. 240+

(1 point)

Ex. 24-4
The end of a study by

1.Fritz

1953
L&F71 g5 2.8e8!0+~

(1 point)
Ex. 24-5
T —

1.Bh6!O gxh6
Or 1...24d5 2.8xh7#.
2.97#%
(1 point)
Ex. 24-6
1.2d42! Hb7 2.Dc60+—
(1 point)

~ Solutions

Ex. 24-7

1.a4!
(1 point)

It is important to leave the b-pawn on its
starting position.

1.b4?? loses to 1...b5; whereas 1.b3?? loses
to 1...a6 2.a4 (2.b4 b50) 2...a50.
1...a6 2.b4!

Of course not 2.b3?? a50.

Also bad is 2.a5? although White can still
save the game: 2...bxa5 3.b3 a4 4.bxad a50
5.%g2 dxh4 6.50h2 g5 7.0g3 &f5 8.8bg2
Bed 9.80¢3 d4 10.dxgd e3 11.23 &b3
12.%2e2 dhxad 13.80d2 &b3 14.dc1=

2...a5
Or 2...b5 3.a50.
3.b50+~
Ex. 24-8
1.Eh11! ©d2 2.52b314+—
(1 point)
Black is in zugzwang and loses the bishop.
Ex. 24-9

The end of a study by

1931

1.847!
(1 point)
Other moves do not win, e.g. 1.8f5? a8
2.8e41 Nd5t=.
1...%2a8 2.2c61 ©2b8 3.2b70 £h4 4.8xc7#

{another 1 point for this variation)

Leningrad 1938

In the game White played the over-hasty:
1.cbf42
1.0f3! first is correct.
(1 point)

244



‘Solutions

Black loses in all lines:

a) 1...50e6 2.064

b) 1...ke7 2.4 te6 3.g30

c) 1...g6 2.hxg6T Sxg6 3.%f4 hS 4.30

(another 1 point for these variations)

1...g6!

Of course not 1...8e62? because of 2.g30.

A draw was agreed here. 2.hxg67 is followed
by 2..%xg6 3.g3 hSO 4.e6 D6 5.7 dxe7
6.xf5 h4l=,

Stockholm 1984

1.h3!
(1 point)
l.ﬁ?ngP is no good, due to 1...»f3t=.

Nor does 1.£d8? win, on account of 1...2f3
2.h3 &e5t 3.@xg5 (if 3.%0h5 &f3 4.¢4, then
4..5hg21=) D71 4.50f6 Dxd8 5.g4 L4 6.¢5
b7 7.g6 ©d6=.

‘There is an alternative win, but it is much
more complicated and so only earns 1 point:

1.h4 gxh4 2.gxhd &d5 (2..8c4 3.h5 QDe3dt

4.2¢5 f5 5.8b8 Dd4 6.h6 De6t 7.%0f6
D8 8.8d6+-) 3.5 D3 4.h5 Dd4t 5.866
De6 6.£g3 D8 7.h6 Dh7+ 8.5 DY 9.8e5
Dh7 10.8g7+—
1..9f3 2.8b60O
(another 1 point)

2...0e51 3.8xg5 B3 4.8c7

Black resigned, in view of 4...&xg3 5.h4+—.

Ex. 24-12

R.Reti — FMarshall
Baden-Baden 1925

White must reach the same position with
Black to move.
1.8g3!
(1 point)
There is the equally good 1.%f3 &f5 2.¢hg3
gd (2.6 3.8g40) 3.%h4 &f4 4.d6 g3
5.%h3 ®f3 6.d7 g2 7.2d4+ 2 8.De2+—.
1..2f7
Or 1...50f5 2.%f3 &6 3.82g40+—.
(another 1 point)
2.3 &6 3.82g40 thg6 4.d6 b4 5.d7
1-0

Scoring

Maximum number of points is 16

- 14 points and above--»Excellent

. GOOd

8 points

»Pass mark

If you scored less than 8 points, we recommend that you read the
chapter again and repeat the exercises which you got wrong.
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Solutions

F-1
Tactics /Chapter 1

F-3
Tactics /Chapter 3

"A.Sznapik — N.Gaprindashvili_

A.Filipowicz — Z.Gabrys
Polish Ch., Wroclaw 1960

1.¥xh5!
(1 point)
1.8e7? Nc6! 2.8xf8 Wxf8 3.0-0-0 Hxd4F
1...gxh5
1...exd4+ would be more stubborn, although
the simple 2.We2 is good for White.
2.8f6!
(another 1 point)
Of course not 2.9f61? ©h87.
2..2d7
Or 2..W¥e6 3.Exg7T (3.8xg7 also wins)
3...59h8 4.8d3 e4 5.8xed Wxedt 6.2d2 Wf5
7.Bg87 dxg8 8.8De7#.
3.8xg7!+— h6 4.5\ f61
4.8xe51! is also good: 4..h7 5.2d31 5
6.8g7T ®h8 7.8xd7 T+~
4..20x£6 5.8xf61 ©h7 6.2g7t ©h8 7.Bxf71
@gS 8.2e7t
1-0

F-2
Strategy /Chapter 2

Capablanca
Netherlands 1938

1.2c6!
(1 point)

This ensure that the ¢7-pawn remains
blocked and weak.

1.f3 would not be so good, due to 1...c52.
After 1.2f4 Black can even chance 1...g5.
1..8xc6 2.¥xc6 Wxc6 3.8xc6 Bf6 4.2fcl
Bxc6 5.2xc6 d6 6.a3+

Sandomierz 1976

Black exploits the weakness of the back rank.
1...¥xc11! 2.¥xcl £xb2
(1 point)
White resigned, since 3.%xb2?? allows
3...8el#, and otherwise he is losing the rook
on a3.

F-4
Tactics /Chapter 5

A.Yusupov — S.Berndt
Bundesliga 2001

1.8e4!
(2 points)

1.WeGT @g7 2.Be4!+— (also 2 points) would
be nearly as good, but the active position of the
queen on the 7th rank brings extra advantages
in the game.
1..%d2+

If 1...Bf8, then 2.We6t sh8 3. Wxcd+—.
2.2g3 B8 4.8d4

Black resigned on account of 4..%¥xc3

5.8d7 Wh8 6.We6t+-.

F-5
Strategy /Chapter 11

OIMVYSIOV JAO
Dortmund 1986

1.e5!
(1 point)

A typical idea. White opens the game and
activates his forces on the semi-open d-file.
1...dxe5 2.fxe5 €62

Black unnecessarily weakens the important
f6-square. Better was 2...Bbd8 3.2e3+.
3.9e3 Ebd8

3.5 4.Dgd+~
4.8xa8 Wxa8 5.8cd3!
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Solutions

Pinning the knight.
5.. %13 6.%f4
Black resigned, in view of 6...Wc6 7.523g4+—.

West Germany 1970

A combination on the h-file quickly leads to
mate.
1.8g5! We5 2.Wxh71! ©xh7 3.Eh4t Hh5
4.8xh51 g7 5.8e71
1-0

(1 point)

F-7
Calculating variations /Chapter 20

1936
L.&f3!
But not 1.¢7? because of 1...f6!.
1..%f5
L..f5 2.8d5#; 1...f6 2.Wd5#.
2.8g4#
(1 poinr)
F-8
Tactics /Chapter 17

The end of a study by

S—

1934

White has a forced win.
1.@g41'!
(1 point)

But not 1.8xh6? 21 2.xd1 f1=W¥1=.
1...22h1

Or 1..50h2 2.¥g3} hl 3.0xh6+—.
2.9xh6 21 3.50f1!

3.xd1? f1=W+=
3...8xg4 4.Dxg4 £h2 5.Dxf2#

(another 1 point for this variation)

F-9
Endgame /Chapter 24

L.Bronstein — A.Yusupov
Lucerne Olympiad 1982

1...8xf3

White resigned, since he will be in zugzwang
after 2.%xf3 d4!.
(1 poinr)

F-10
Positional play /Chapter 4

B A Leko
World Championship Match (14), Brissago 2004
1.2c1t!
(2 points)
1...8¢6

It is hopeless to allow the white rook to c7:
1..b8 2.8c7! Bxhd 3.8xf7 &xf7 4.8xf7
(AEBf8#) 4..5Bc8 5.8c71! ©d8 (5..5b8
6.8xg7+-) 6.Bxb7+-
2.9xf7 Bxh4 3.9d6t £d8 4.8g1!

(another 1 point for this variation)

White activates his rook.
4...Bh3t 5.%e2 Ba3 6.2xg7 Bxa4 7.f4!+—

This essentially decides the game; the threat
is now f5. The white pieces are perfectly
coordinated.
7...2a2t

If 7..8xd4, then 8.f5 exf5 9.6 He4t
10.8xe4 dxed 11.Ec7! and the threat of Exc6
means that White is winning,
8.&f3 Ba3t 9.%gs Bd3 10.65 Exd4t
11.52g5 exf5 12.5266 Eg4 13.8c7

Or 13.8h7+—.
13..Bh4 14.0f71

Black resigned, in view of 14...be8 15.8c8%
&hd7 16.8d8#.
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Solutions

F-11
Endgame /Chapter 6
The end of a study b

1935

1.5ef1!
(1 point)
But not 1.%0xf22? &\b6 2.2f1 &4 3.2
Nd2O—+.
2..00b6 3.2xf2 Hd5 4.52f1=
Fortress VIII.

F-12
Tactics /Chapter 7

1957

The game continued 1..2f8? 2.Qh4l+—.
However, Black could have won with:
1...Bxh27!
Followed by ...¥g2#.
(1 point)

F-13
Calculating variations /Chapter 9

M.Illescas Cordoba — V.Epishin

Dos Hermanas 1994

In the game, Black missed his chance and
lost after 1...2e8? 2.9c4 Hxe3 3.0xe3 dg6
4.9g2.

He could have saved the game with:
1...Bxe5! 2.8xe5

2.8xd2? Badi—+
2..5f311 3.%xh5

3.exf3?? Bxh2#
3...0xe5=

{2 points)

F-14
Tactics /Chapter 10

Riga 1953

1.h4!
(1 point)
White puts his king into a stalemate
position and threatens to surrender his queen.
Black has no defence against this threat, e.g.
1..Wg7 2. Wo871= (but not 2.Wf722 Wixf7#).
1h-14

F-15
Tactics /Chapter 10
The end of a study by

1.82d3!

But not 1.a5? when White can win with
either 1...d3 or 1...c0e2.
1..8xg3 2.a5 d5 3.a6 8b8 4.a7 £xa7
stalemate

(1 poinr)

F-16
Endgame /Chapter 12

Based on

G.levenfish

1.8d3!
(1 point)

White shuts the black king off from the
wrong corner and constructs a prison for the
king.
1...52c7 2.8b5 d8 3.2f6

Or 3.5 5 &c7 4.8 c4.
4..c7 5.5d51 d8 6.7 B8 7.7
b7 8.50d7 &b8 9.2a6 a7 10.8c8 &b8
11.0e7 $a7 12.8c7 a8 13.8b7+ a7
14.Dc6#
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Solutions

F-17
Positional play /Chapter 14

—S.Gligoric — A.Yusupov

Vrbas 1980

1...2d3!
(1 point)

A good practical solution. Black occupies the
d3-outpost and prepares to castle queenside.

However, objective analysis shows that
the principled line 1..hxg5 2.8g61 (2.fxg5
Dfed—+) 2..%e7 B.exfor (3.fxg5 Dfd7!
4.8f71 &d8F) 3...gxfGF also promises Black
an advantage. You get 2 points if you opted
for this uncompromising line.
2.8xd3

If 2.8\xe6, then 2..Wb6t 3.%0h1 Wxe6
4.ext6 0—0-0 and Black has a strong attack.

2.exf6? is bad, in view of hxg5 3.£71 Wxf7
4.8xd3 £c51 5 .Rh1 0-0-01—+.
2...0-0-0F

(another 1 point)
3.03

3.8xe6 is followed by 3..Wb6t 4.%h1
Wxe6 5.exf6 Bxd3T.

Black also gets a decisive attack after 3.ext6
hxg5 4.@g4 £c57 5.%h1 cxd3 6.Wxe6t Bb8.
3...8xd3

3..8c51 4.%0h1 Qg4+ would be slightly
more accurate.
4.We2 £c51 5.0h1 Hd5

Now 5...®g4?! is met by 6.8el!.

6.2 e4 Bf8! 7.9 el Bd4 8.Dxc5 Wxc5 9.Wg4
We71

Black is clearly more active and went on to

exploit this advantage.

F-18
Tactics /Chapter 15

1895

The solution to this well-known study is an
elegant mate in 4, starting with:

1.g8=W+1!

Then comes:
1...5xg8 2.50e6 Lh8 3.7 e5 4.8g7#
(2 points)
Delaying for a move throws away the win:

1.¢bed e5!= or 1.80e5 e6!=.

F-19
Endgame /Chapter 16
The end of a study b

1.5218!
(1 point)
2.8e4? would be weaker, on account of
2. ¥+ (but not 2...h4? 3.8!=).

Black cannot prevent the combination
which now follows.
1..%e3

If 1...h4, then 2.&e4!= threatens &f7#.

And after 1..s%h7 there follows 2.&e4
Wxe4 (of course not 2..2h6?? 3.5)f7%)
3.9 xed=.
28067+ Bh7 3.8e41! Wxed 4.Dg51=

(another 1 point)

F-20
Opening /Chapter 18

— S.Andermatt — A.Yusupov

Winterthur simultaneous 2004

1...f5!
(2 points)

Simple development with 1...¥d7 (1 point)
is not bad, but in any case Black can make no
progress without ...f5. The active knight on e4
must be forced away!
2.5c3

2.8eg5? hxgs 3.8xg5 is not correct,
because of 3...2d5—+.
2...g5 3.20b5

Threatening Dxg5.
3..¥d7 4.b4 Bc8 5.4)c3 0-0 6.2b1 Dd4F

Black is better placed in the centre and can
attack on either flank.
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Solutions

7.Dxd4 exd4 8.2d1 £d5 9.82h3 c5 10.¥b2
Dg6 11.£3 c4 12.Ecl 3 13.Dxc3 dxc3
14.8xc3 Hxc3 15.Hxc3 g4 16.8g2 gxf3
17.8xf3 &xf3 18.8xf3 Wd4+

0-1

F-21
/Chapter 19

. K
Switzerland 1984

Black forces perpetual check.
1...¥xh2t1
(1 point)
2.xh2 Bh5t 3.%h4!
(1 bonus point for sceing this defence)
3.80g1? loses to 3..Hh3+ 4.58h2 Hxf2t
5.kg1 Dh3t 6.%h2 Hg5t 7.8g3 (7.8g1
Dxf3t—+) 7..Dedt 8.50f4 Dxd2.
3...Bxh4t 4.80g1 Hh3t 5.0h2 D4t
But not 5...2g51 6.%g3+—.

G.le
1r_1h
F-22
Tactics /Chapter 21
Based on

] ‘Q:~D:;}qan1

1.8xa6}!
(1 point)

1...bxa6

Or 1..55b8 2. W4+,
2.¥%d7+ &b8 3.¥c7+ a8 4.Wc8+ a7
5.8b61! Exb6 6. ¥b8#

(another 1 point for the whole variation)

Linares 1991

1.8e3!
(2 points)

The weakness on a7 forces Black to open
up his position even further. 1.24d5 (1 point)
would not be so strong after 1...8e6+.
1...e5

The pawn cannot be taken: 1..@xe2f
2.%f1+-
2.8d51 e7

2..%g7+ would be slightly better.
2.8xd4 exd4 3.2b5 £e6

3..a6 4.8 xd4+ would be more stubborn.
Black is losing a pawn in any case.
4.8xe6 Bxe6 5.Dxa7!

White goes a pawn up, while Black’s
weakness on d4 remains.
5...H2a8 6.2b5 Ba4

See F-24.

F-24
Positional play /Chapter 22

A.Yusupov —

Linares 1991

Only 1 consolation point for 1.9c71 &f7
2.8 d5. White has a much better solution!
1.b3!
(2 points)

Now Black also loses the d4-pawn.
1..Ea2

Capturing on b4 is impossible: 1...Hxb4??
2971 Rf7 3.8d5+—
2.f1 ©d7 3.9xd4 Be8 4.¢3 4 5.gxf4 Lh4
6.2e2 c6 7.8d5 Bea8 8.2bd1 Le7
1-0
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Scoring

Maximum number of points is 38

- 33 points and above-»Excellent
. 28 points and above-m Good
21 points »Pass mark

If you scored less than 21 points, we recommend that you read
again those chapter dealing with the areas where you made a lor
of mistakes and repeat the exercises which you got wrong.
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Numbers in bold type indicate that the player
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